&85 ®EAR LiLIES) R RIGM REWKE |45 | RERS | & (m) | &HE Ke) BREBR
1 |Em30FE10A28  |BlIH Boa T it LEk 47 2 =353
2 |ER31E1A3E ERAT HiR ET Bt £HER 65 6 (=43
3 |ER3I%2A17H =5 BE ET 3 54 3 100 #3130 (-4
4 |ER314£3A28 FERT |=/8 T [ RER 87 #120 (=43
5 |Em3143A8H HARET  |EL T 3 54 3 85 10-15 (-4
6 |FmIFIA22B  |FEIIF BRra T e RER 85 14 (=43
7 |EM3IFE3IA268 |EBERM (/A T L RRER 120 #5240 =353
8 |HMIFETA298 &#HH AOAK ET [ 48 #130 1 (=43
9 |RMI4E8A22H (1Tp14: MR T it 4Ek #960 5 =353
10 |FHMIFIATE FERAT (IIE=)] T [ 48K 62 B (=43
11 |FMIF10A218  |[HBRETH REREHR i L RRER 135 65 =353
12 |SMIF10A218  |[HRET REFHR ik Bt 48K 95 30 (=43
13 |RMI£10A248 |RREMAT  |iBH ET L 4ER 80 20 =353
14 |SMIF10A27  |H@RET |[&RREFI ik Bt R EK 150 100 (=4
15 |[{FM1£10A288 |HERT |&EXEWL ki it ER 85 30 =353
16 |fMIE10A288 |[HERET |[BRETRE ik e RER 140 100 (=4
17 |FMIF10A308 |[HRET KETAR ik L ER 60 20 =353
18 |HMIFI0A31R |HRET [RXEH ik e 48K 80 10 (=43
19 (|MIEI0A3IE  |[HAERRT |[#&REH ik L ER 90 13 =353
20 |RMIFNAIR ARET | REHRE ik e FER 130 75 (=43
21 |SMIF11A1B HERT  |[RETRE g it ER 90 25 =353
22 |HMIFNAIR mREMT | L7 m B RER 110 50 (=33
23 |sMIE11A28 HERT  |[RETRE g L HER 70 20 =353
24 |\HMIF11A2H ARET | REHRE ik e FER 120 55 (=4
25 |SMIE11A28 HERT  |[RETRE g L RRER 140 60 =353
26 SMIFENANE |(HERT |[RETAR ik e 48K 60 20 (=43
21 |&MIFE11A12B |EXW L35 T it 4B 75 35 =353
28 |FHNEINAI12A (EERET  |[RETRE ik L 48 65 25 (=43
29 |SMIFENARE |(HEET |[KRETH i it RRER 100 50 =353
0 |FMIFEINA14R  (HEERET  |[RETRE ik e 48K 65 25 (=43
31 |[RFMNEINAISE  MEMAT  |FBR T L HER 67 8 =353
32 |[HMENAIIE  HERT |[RREBR ik e RER 140 70 (=4
3 |FMIFENAITE HEERT |[KEHFWU e it ER 60 15 =353
¢ |FHENAITR  |(EEREMm  |[RETRE ik e 48K 60 20 (=4
3% |[RFMNFITAI18E |[HAERT |[KRETRE e L RRER 135 65 =353
36 |[RMIFEI1A18E |HERT |RREHR ik e RER 130 70 (=4
37 |[RFMNEITAI18E  |[HERT |[RETAR ik L ER 80 25 =353
38 |FHMIFINA20R (HEERETH |[RETRE ik L 48 65 20 (=4
39 |FMIFIMA28 HEERT |[REEH+ ik it RRER 120 60 =353

40 |[SMIF11A28 #HEERT  #RETFAR ik e 48 45 6 (=4
41 |RMNE11A248  ERMAT | =46 T it RIEK 110 60 =353
42 |SMIF11A2BA |[#H#EET  |[REEH T Bt £HE 50 10 (=3
43 |[fMFE11A2718  |[#HERT  |[REEER i it RRER 110 40 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
4 |FHMEI11A2IE |(BEET  |[REEFHR i L 4Ek 80 15 =353
4 |[SMIFENA218  (|ZJIET =% ik e RER 144 52 (=4
46 |FMIE11A288 |E#HHE BEOR/ £ i Bt 4Ek 75 15 =353
47 SMIFE11A298  |/hEERT  |BF ik e 4ER 60 15 (=43
48 |HHINEI11A298 | KHET 1]z i it RIER 110 65 =353
49 |SMIFEI1A298 |[#H@EERT #RE=SK ik Bt 48 80 14 (=33
50 |RFMIF11A298 |/MpEET |- i it RIER 120 60 =353
51 |wMIF11A298 MEWEH |- ik [ RRER 120 65 (=4
52 |HMIFE11A0R |EXW iR i it RRER 110 50 =353
53 |HMIFI1ANR (HERT &KX ik e RER 140 60 (=4
54 |HMIFI1AINE HEEET KREFAR bk it RRER 120 70 =353
55 |¥MILF12A1H HERT |[REEW ik e RER 120 70 (=4
56 |RFMI1F12A1H MERT |- ki L RRER 125 100 =353
57 |¥MILF12A1H )1 H7 AW ik e 48K 85 13 (=4
58 |RMI14F12A2H BAR iR i it RRER 100 50 =353
59 |¥MI1£F12A2H LV N SRl ik [ RRER 111 27.4 (=4
60 |RFMI1F12A2H mEMAm  |BR ki it RRER 103 28 =353
61 |fMIF12A2H MEET |EAF ik Bt RER 128 135 (=4
62 |RMI1F12A2H = JI1HT =3 e it 4ER 91 12 =353
63 |wMILF12A2H 2 )I[ /7 =% mE | FH| BE 13 20 (=4
64 |RMI1F12A2H ®HH RHER i it RRER 76 40 =353
65 |WMILF12A3H E 1) BERAR mE | FH| H9E 90 17 (=4
66 |RFMI1F12A3H ANF Boa i it ER 80 7 =353
67 |wMILF12A3H ERAT =] ik Bt RER 145 110 (=4
68 |RFMI14F12A4H PR HET WHEEF i L RRER 80 40 =353
69 |wMIF12A4H MBEEMT BRI ik Bt 48 60 15 (=4
70 |RM14E12A4H MERT | AR i L E 50 25 =353
1 |"MIF12A4RH FERAT KEH ik e R EK 98 70 (=3
12 ||M14E12A5H MERFRH | KR ki L ER 90 40 =353
13 |"MI£F12A5H ®=Hh BB ik e FER 112 60 (=4
714 ||M14E12A6H MERT R i it ER 50 15 =353
75 |"MI1£F12A6H MEEMT BRI ik Bt R EK 60 25 (=4
16 ||FM14E12A7TH BAR ik i L RRER 112 40 =353
77 |"MIF12A7TH HERT |[REXEH ik Bt 4ER 70 8 (=4
18 |R/MI14E12ATH MERT | EBH e it RRER 120 90 =353
19 |"MILF12A7TH ITF4:) Bl ik e RER 125 55 (=3
80 |RMI14F12A8H ANF Boa i it RRER 150 45 =353
81 |wMI£F12A8H LV N L E ik e RER 140 45 (=4
82 |R/MI1£F12A9H ANF Boa i it RRER 120 30 =353
83 |wMILF12A9H ®=HH #EH ik e RRER 102 34 (=4
84 |RMI14F12A9H HRET BEAR ki L ER 90 15 =353
86 |WMILF12A9H ELRAT =] ik e 4ER 80 15 (=4
86 |RFMI1F12A9H MERT R g L RRER 120 70 =353
87 |WMIF12A108  |HAHEHET WEBE ik Bt RER 110 80 (=4
88 |HMIFI2A10B MEHT AW i it RER 101 28 =353
890 |wMIFI12A10R  |KEERHET & ik e RREK 80 20 (=4
90 |FMIFEI12ANIB  |IULEr B i it RRER 127 60 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
91 |SMIFI12A128 |MREWHFET  |LE i it RRER 84 18 =353
92 |wMIFEI12A13A  |EERHE =] ik e RRER 110 60 (=4
93 |FMIFI2A1 MHEEET |[RE/DH i it RRER 130 80 =353
94 |HMNFI12A138  |(AERT  |[RE/DH ik e 48K 50 (=43
95 |FMIFI12A138 (HEERT |[REEH+ i it 4Ek 65 =353
96 |{MIFI12A148  |HAHEHET REEF ik e R EK 85 35 (=43
97 |&MIFE12A148 | =B S i it RRER 83 23 =353
98 |wMIFI12A14R | Z=HH S ik [ RRER 150 109 (=4
99 |FMIFI12A158 | =B S i it RRER 106 15 =353
100 |HHMI1E12A158 |[HERT BESH ik e 4ER 90 20 (=4
101 | SHMI1E12A158  |HiRHT BEAIR i L RRER 130 100 =353
102 | SHMIFEI12A168 &I Rya ik Bt REER 150 75 (=4
103 | &HMI1E12A168 HEEET |[REEH T | AR | 4R 30 8 (3
104 | SFM1£E12A168  |[#AHEHET ERE ik e 4ER 120 70 (=4
105 |[SHMIE12A168  |FI# Boa ki L B 80 10 =353
106 |HFIEI2A168 &I Rya ik e 48K 80 (=33
107 |[SHMI1E12A168  |FI# Boa i it B 80 =353
108 | HHMIFI2A1TR | FE4RAT e ik [ RRER 80 40 (=4
109 | f1412A188 |/pEET |- bk it RRER 100 80 =353
110 | RMIF12A198 | KHHT &F ik Bt R EK 80 40 (=4
1M | SMIEI12A198 | BHT [z 0 i it RRER 132 80 =353
112 | SMIFI12A198 | RHH RAR ik [ RER 122 80 (=4
113 | SMIE12A218 | HiRAT & MW bk it RRER 110 45 =353
14 | SMIFI12A218 | FHH iR ik [ RRER 142 60 (=4
115 | SHMIE12A218 | FE4RET ik i L RRER 100 80 =353
116 | HMI1FI12A22A HERT |REEH ik Bt RER 120 60 (=3
17 |[SM1E12A228  |LdcET MR i it RRER 132 75 =353
118 | MIFI12A22R |ZHH e EEAR ik e RRER 92 30 (=4
119 | $MIE12A22B |&ZHT x4 Efs i it RER 92 25 =353
120 \Sf1F12A228 (HERT |[RER=7XK ik Bt RER 130 40 (=3
121 | $M1£12A288 #HEERT |[RE=3# i L RRER 130 80 =353
122 |5M1E12A238 |HARET | <OAIFW ik [ R EK 75 20 (=3
123 | $MI1E12A238  |BEIRET | < DHFW i L RRER 83 40 =353
124 |SMIEI12A248 |(HERT |[RREFLEH ik e 4ER 80 8 (=4
125 | $MI1¥E12A248 | &=HT BE bk L RRER 110 40 =353
126 | RM1£E12A258 | KHHT =E ik Bt RER 140 130 (=4
127 |SHMI14E12A258 | K3HET 1]z i it RER 80 30 =353
128 |SMIFE12A268 (HERT |[RREHPE ik e RER 120 90 (=3
129 |SHMI14E12A268  |{2EET L i it RRER 120 90 =353
130 |Sf1412A268 |/MEHET | LB ik e RER 110 80 (=4
131 |[SHMIEI12A2T8 | K3HHT =R i it RRER 80 40 =353
132 |{M1£12A278 | WU4bHT =M ik e REER 115 45 (=4
133 | SMI1¥E12A288 |&=HT BB i L RRER 134 50 =353
134 | 5MIE12A288 | RHH BE ik Bt REER 130 50 (=3
135 |SHMI14E12A308  |WLdLHT Ul ki it RRER 115 45 =353
136 | RMIEL12A318  |[XEET WHE2E ik e REER 90 40 (=4
137 | SM241A1H (1Tp14:y Ul i it RRER 100 40 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
138 | &HM241A2H ®HH EELIIR ik L REER 114 55 =353
139 |HHM241A3R8 FIET E5R ik Bt RER 155 95 (=43
140 | SH241R4H8 AN Boa b L REER 130 60 =353
141 | 5HM241A48 KFHHT 1]z ik e R EK 90 50 (=33
142 | 5HM241R48 KHHET FrE i it RIER 90 60 =353
143 |24 1A48 KEEHT &R ik e RER 132 80 (=4
144 | SH24E1R6H HERT  |RE T B 4Ek 70 7 =353
145 | HM24E1A68H &#HH REERETE ik e RER 100 20 (=43
146 | SH241R6H ®HH RERTR ik L RRER 100 20 =353
147 | 5HM2%1A68 ®#HH REERETE ik e RER 125 30 (=43
148 | SHM241ATH HERT  |RREH e it RRER 100 50 =353
149 |\HH251A14R8 ENF Boa ik [ R EK T 60 (=43
150 |SHM24E1R148 ®HH FRFRAR i L] RRER 106 70 =353
151 | SM24E1A15H HERT | RRERI ik e 48 70 15 (=43
152 | SH24E1R168 ®=HH RERFRE i it RRER 76 25 =353
153 | {M2£E1A17H % )I1HT JNELW ik e R EK 100 50 (=43
154 | SH24E1R198 HERT |[RETAR b it 4B 60 15 =353
155 | H24E1A19H HERT |[RETFAR mE | TH| HE 70 15 (=33
156 | SH24E1R198 HERT |[RETAR wE | FH| 9B 55 10 =353
157 | HM24E1A19H 2 )I[ /7 =% ik e RRER 1356 78 (=4
158 | SH24E1R208 HERT  |[REHFWU i L 4ER 65 15 =353
159 | 2£E1A20H ITF4:) =M ik Bt R EK 120 50 (=4
160 |[SHM24E1A218 % )I18T B i L RRER 140 80 =353
161 | RM241A21H I’y =% mE | FH| BE 140 65 (=4
162 | SHM241A218 % )I[/T =3 ik L RRER 130 50 =353
163 | RM241A21H HERT |[RREH ik [ RRER 140 80 (=3
164 | SH241A218 HERT |RERE wmE (B R 125 60 =353
166 | RM24E1A21H I HT HR ik e 4ER 120 30 (=4
166 |SHM241/R228 ®HH BB i L RER 85 25 =353
167 | SM2£E1A22RH &#Hh x4 ik e R EK 100 30 (=3
168 | HHM241/R248 HERT  |[REEHLEHF ik it 4ER 80 30 =353
169 | HHI251A24R8 —Eir e ik [ R EK 106 15 (=4
170 |SHM241A258 HERT  |[REETRII i L 4ER 110 70 =353
171 | SM24E1A25H 2 )I[ /7 =% ik e 4ER 80 20 (=4
172 | 5HM24E1R268 PR HET ERHE ik L RRER 70 40 =353
173 | SM2£1A27H FERAT (E=]) ik e RRER 100 70 (=3
174 | SHM2%1/A218 MERT | AR i it HER 40 15 =353
175 | SM2£E1A29R FET A H ik Bt R EK 100 45 (=3
176 | SHM241R308 FET E&ER ik L RRER 133 55 =353
177 | SM2£E1A30H HERT |[RREH T 3 £hER 80 20 (=3
178 | &HM242A1H KFHHET =R ik L ER 80 10 =353
179 |SHM2%2A18 BEET | RE=Es K ik e R EK 100 50 (=4
180 |&#M242A1H HERT  |[RETRE ki L 4ER 65 15 =353
181 |HM2%2A2R HERT |[REREHE ik [ RER 110 50 (=3
182 | #M242A3H HERT  |RREH ki it RRER 100 40 =353
183 |HHM242A3R HERT |[RREH ik Bt RER 110 50 (=3
184 | 5H24E2A4H HRET - i L] RRER 80 18 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
185 | HI242A4H HRET - i it REER 80 15 =353
186 | 242418 ARET | RETRE ik Bt RER 140 80 (=33
187 |&#M242A5H HRET ] i L RRER 170 120 =353
188 | M24E2A61H FIET =ik ik e RER 105 40 (=33
189 | &HM242A7H FBRT  |F5 i L RRER 158 93 =353
190 | §M242ATH FERm |=/= raE 3 RCER 90 40 =353
191 | $HM242A7H % )I[/T = i it 4Ek 70 20 =353
192 | 5M2%2A7H BRET | RRIR ik Bt RER 155 80 (=43
193 | $HM242A7H FEIRET k=) i it RRER 100 70 =353
194 | 5HM2%2A7H ¥AE BT REEF ik Bt R EK 110 30 (=43
195 | &HM242A7H MERT R e it RRER 130 40 =353
196 |HM242A7H ERAT BERART ik [ R EK 150 100 (=43
197 | $HM242AR98 KHHET FRE i it RRER 120 80 =353
198 |HM242A9R KT =E ik [ R EK 130 90 (=3
199 | SHM242AR98 KHLET &R i it RRER 133 72 =353
200 |©FN252A108 HARE  |SAE ik e R EK 90 90 (=43
201 |HFI2%2A11H %187 FR i L RRER 129 37 =353
202 | f252A118 1187 HR ik Bt RER 113 25 (=4
203 |HFI2%2A11H FERM |=/E i it RRER 160 25 =353
204 | ST252A118 —EHT —-= ik e RRER 102 20 (=4
205 |HFI2%2A128H =T HhE i L RRER 161 80 =353
206 |F242A128 &#Hh KE ik Bt 4ER 50 15 (=4
207 |HFI25%2A138 PR HET & bk L RRER 140 90 =353
208 |F242A148 KFHHT =] ik e RER 80 40 (=4
209 |HFI252A148 KHHET = i L RRER 160 120 =353
210 |FHM252A148 —Eir B ik e R EK 148 80 (=4
211 | HM252A148 — =T HhE ki L RRER 136 50 =353
212 |FHM252A148 —Eir B ik Bt R EK 113 20 (=4
213 |HM252A148 HERT  |RE i L RRER 120 80 =353
214 | 5M252A158 HERT |’ ik Bt R EK 140 60 (=43
215 |HM252A168 — =T —& e L RRER 123 45 =353
216 | %252A168 ¥AE BT WHE2E ik e 4ER 60 15 (=3
217 |HM252A168 HERT  |[RETRE i L 4ER 80 25 =353
218 | 5T252A168 HERT | RRERI ik e R EK 90 30 (=3
219 |HM252A168 HERT  |REERI e L RRER 60 30 =353
220 | 252A178 FET TE ik e R EK 100 55 (=3
221 |HM252A178H %187 R i it RRER 127 44 =353
222 | 5T252A198 FERT |75 ik Bt RRER 160 96 (=3
223 |HM252A198 (1Tp14: Ul i it RRER 130 70 =353
224 | 5T252A198 HERT |’ ik e R EK 150 70 (=3
225 |HHI25%2A218 FEIRET R i L RRER 100 70 =353
226 |2542A218 ERAT BERART ik Bt 48K 90 18 (=4
221 |HM25%2A218 BARH HRiR ki L RRER 149 75 =353
228 |T252A218 FERMm  |H/RA ik [ R EK 97 34 (=3
229 |HI252A248 BARH E&iR i it RRER 100 50 =353
230 | 252A248 ITF4:) =M ik Bt R EK 130 75 (=3
231 |Hf252A248 KHHET = ki L RRER 100 70 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
232 |HI252A248 KHLET RE ik it REER 148 65 =353
233 |HM252A24R8 HERT |[REEHE ik [ RER 140 70 (=4
234 | HHI252A248 AR |[RE=7 K ik L RRER 80 40 =353
235 |HMI252A25R ERAT BERART ik e 48K 90 17 (=3
236 |HHI252A25H % )I[/T =¥ ik L RRER 140 30 =353
237 |HM252A25R8 I8y =% ik L RER 120 25 (=3
238 |HFI252A25H ®HH Ex4 i L] RIER 90 20 =353
239 |HMI252A26R BEXH +iR ik e RRER 100 40 (=3
240 | HFI252A28H KHHET 1]z i L RIER 100 45 =353
201 | HH252A28R KFHHT 1]z ik Bt R EK 90 40 (=3
242 |\ HHI252A298 HERT  |[RETRE i it RRER 80 25 =353
243 | HMI252A29R8 HERT  |[RREH ik e RRER 100 50 (=4
244 |\ HFI2E3A1H HERT  |[REHFWU g L] HER 70 12 =353
245 |\ HHI25E3A28 HERT |[RREH ik i RER 100 50 (=4
246 | HFI253A28 % )I18T R ik it RRER 100 50 =353
247 | HF253A38 &HH J\iR ik e R EK 95 30 (=43
248 | HFI253A5H HERT  |[RETRE e it RRER 80 25 =353
249 |\ TFI253A58 ARET | RETRE ik e RER 140 70 (=33
250 |HFI243A5H BAR L35 ik L RRER 144 80 =353
251 | HI253A58 HERT |[REEH ik e R EK 80 20 (=43
252 | HFI253A6H BAR ik ik It RRER 95 40 =353
253 |HI25E3A68 KT 1 ik Bt R EK 100 50 (=4
254 | HFI25E3A98 HRET L:{oN i L] RER 100 25 =353
255 |GHI25E3A10R ITF4:) =M ik e R EK 75 18 (=33
256 |HFI2E3A11H ®HH W= ET L RRER 130 60 =353
257 |HMI2&E3A11R ITF4:) =M ik e R EK 60 15 (=43
258 |HFI2E3A11H (1Tp14: Ul i L RRER 60 15 =353
259 | LHI25E3A11R &#Hh F mE | FH| BE 60 15 (=43
260 |HFI243A128 ZEHT HhE i it RER 115 30 =353
261 | LI25E3A12R8 —EHT B ik e R EK 113 30 (=4
262 |HFI24E3A148 ZEHT —f& e it RRER 101 25 =353
263 |HI24E3A15R HERT |[RETFAR ik [ RER 130 50 (=4
264 |HFI2E3A16H HERT  |[RETRE i L 4ER 70 20 =353
265 |LI25E3A16R HERT |[RETFAR ik [ RRER 130 50 (=3
266 |HFI24E3A168H FET T&ER i it RRER 95 20 =353
267 |HH25E3A16R ITF4:) ITF]4 ik e R EK 75 12 (=4
268 |HFI24E3A18H HERT  |RREH ik it RRER 100 50 =353
269 |LFI25E3A19R HERT |[REEW ik Bt R EK 80 20 (=3
210 |HF253A198 ®HH X% ik L RRER 92 30 =353
21 | HH253A208 HERT |[RREH ik Bt RRER 110 60 (=4
272 |HM253A218 HERT  |REREHR T it RRER 100 30 =353
273 |H"M253A21R8 mREMTm  |PiE ik e R EK 83 23 (=4
274 | HM253A228 KHHET XH# ik L RRER 80 40 =353
275 | HM253A22R8 mREMT AW ik e R EK 105 76 (=4
216 |HM243A238 MERT R i L RRER 80 30 =353
277 | HM253A23R8 HERT  |TRE ik e RRER 130 60 (=3
218 |HMI253A238 HAERT  |TRE ki it 4ER 65 15 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
219 |HM243A248 KIHHT 1]z i 1 REER 90 45 =353
280 |H243A268 MEET | BE ik Bt RRER 110 50 (=3
281 |HI253A268 ®HH Bl i it RIER 128 45 =353
282 | MI243A298 KT 1 ik [ R EK 120 70 (=4
283 |HFI2%3A30H MERT R i L RIER 90 30 =353
284 |\ THI254A28 KT =E ik e R EK 110 80 (=4
285 |HFI254A38 HERT  |RREH g it RRER 110 70 =353
286 |HHI25E4A58 HERT |[RREH ik e RER 90 40 (=43
28] |HFI254A68 HERT  |REED e Bt RRER 60 20 =353
288 | HMI244A108 KT i ik Bt R EK 110 60 (=4
289 |HFI2E4A108 KHHET o i it RIER 80 40 =353
290 |TN254A148 BEET |/ ik e R EK 100 60 (=4
291 | HFI255A98 HERT  |[REERFI T L RRER 100 L [ j
292 | HI25E5A8H BERH SRl ik e R EK 127 60 (=3
293 |HFI2E5A148 KHLET &R T L RRER 90 L pEfE
294 | H255A138 KFHHT FRE ik Bt R EK 120 45 (=4
205 |HFI2E5A128H HERT  |[REHR b L RRER 8 80 =353
296 |HT245A128 AT | RE=ESK ik Bt R EK 130 55 (=4
297 |HFI25E5A148 =T e i it RRER 110 30 =353
298 |FF25E5A148 —Eir B ik e BB 141 60 (=4
299 | HFI2E5A148 =T HhE i L RRER 120 30 =353
300 |HF245A148 —EHT B ik Bt R EK 111 30 (=4
301 | HFI25E5A148 — =T HhE i L RRER 120 35 =353
302 |5f245A158 FIET E5R ik e RER 90 20 (=33
303 |RFI2E5A15H ®HH Fuo i it RRER 118 70 =353
304 |HT245A168 HERT |[REEW ik e 48K 60 15 (=33
305 |HFI2E5A15H mEMAT  |UF i L RRER 12 20 =353
306 |HF245A178 MEET  |EAF ik e RRER 120 60 (=3
307 |HFI245A208 MERT R e it RRER 70 30 =353
308 | 245208 MEFET (R ik e R EK 120 70 (=43
309 |HFI2E5A228 MERT |BR i L RRER 110 60 =353
310 |%f245A228 Z=EHr —& ik e R EK 121 35 (=4
31 | HM255A228 ZEHT ) b it RRER 103 25 =353
312 | 5f245A228 i gllks) Rya ik [ R EK 120 48 (=3
313 | RFM25E5A298 KHELET BAR T it 4ER 41 3 =353
314 | 5M245A228 I’y =% ik e RER 90 30 (=4
315 | HF255A218 mEMAT  |ER i it RRER 162 80 =353
316 | H245A218 mREHT | ik Bt RRER 126 a1 (=3
317 | HM255A238 —EHr —BFEE i it RRER 121 40 =353
318 | f245A268 MERET K ik [ RER 90 30 (=4
319 | HF245A268 BARH iR i L RRER 100 60 =353
320 |%f245A278 mRE#HT | ik Bt RER 112 28 (=4
321 | HH255A258 HERT  |[RETRE i it RER 140 60 =353
322 |5255A278 HERT  |[REED ik e RRER 80 20 (=3
323 |RM2E5A278H — =T HhE i L RRER 149 55 =353
324 |5255A298 ERAT =] ik Bt RRER 110 40 (=4
325 |HHI2E5A31H MERT (RS ki it RRER 100 85 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
326 |HFI25E5A30H MREMT  |FEERT ik it REER 115 40 =353
327 |245A308 HERT |[RREH ik e R EK 90 40 (=43
328 |HFI2E5A31H % )II87 FR i it RIER 146 75 =353
329 |HMI256A38 KEEHT HRE L7 m 3 RER 120 70 (=33
330 |HF2E5A31H FBRT |=/8 ik it RIER 130 45 =353
331 | HH256A38 —EHT ZEF&EUA ik [ R EK 96 20 (=43
332 | HFI256A3H HERT |[RES5H g it RRER 130 60 =353
333 |HM256ATH KT = ik Bt R EK 120 70 (=3
334 | HFI256A5H ZEHT hEFEAE i L RRER 124 30 =353
335 | FH2%6A5H —Eir hEFESE ik Bt R EK 125 35 (=43
336 |HFI2E6A6H % )I[/7 =18 i L RRER 100 40 =353
337 |HH256ATH 1187 fH mE | FH| BE 129 40 (=4
338 |HFI256A8H HERT |RRNE g L RRER 124 40 =353
339 | HI256A8H MEERT | ALH ik i R EK 85 35 (=4
340 | HFI256A5H mEMAT  |NE ki L RRER 161 71 =353
M | HH256A68 mREMT | LBE ik i R EK 138 75 (=43
342 | BFI2E6ATH mEMT  |LH i L RRER 174 84 =353
343 | HH256A68 ITF4:) ITF4:) ik Bt R EK 95 20 (=43
344 | SH256A8H Z = B FETH F R ik L RRER 117 40 =353
345 G246 A108 FERAT (e ik Bt R EK 60 40 (=3
346 | HFI2E6A128 ZEHT —f& i L RRER 127 40 =353
347 | FH256A128 —Eir B ik e R EK 114 30 (=4
348 | HFI2E6A148 BARH iR ik L RRER 130 80 =353
349 | H256A168 FERAT LN ik Bt RER 50 20 (=4
350 |HFI25E6A148 ANF Boa i L RIEK 8 20 =353
351 |HH256A188 &#Hh il T it R EK 100 40 (=4
352 |HFI2E6A148 ®HH JEILT i L RRER 70 15 =353
363 | 246208 KT = ik e R EK 70 40 (=4
354 | HFI256A208 MERT R e it RRER 110 60 =353
365 | TN24E6A248 FERAT (e ik e R EK 90 60 (=43
356 |HHI2E6A248 FBRNT |=/8 ik it RRER 43 3 =353
357 |fN256A268 I’y =18 ik e RER 100 40 (=4
358 |HHI2E6A27H ZEHT hEFEAE i it ER 67 =353
359 | H2%6A278 —Eir hEFESE ik [ 48K 67 (=4
360 |HFI2E6A27H ZEHT hEFEAE i L 4ER 67 =353
361 | 256 A268 mEWT | KR ik [ RRER 108 18 (=4
362 |HFI256A28H ZEHT —f& i it RRER 115 30 =353
363 |H246A288 —EHT —& ik e R EK 135 40 (=3
364 |HF2ETA1E FEIRET B ik it RRER 90 60 =353
365 |wHM24E7TA1H KHHT = raE 3 RCER 80 20 =33
366 |HFI2ETA3HE KFHHET FrE i L RER 60 6 =353
367 |H25ETA3E FET TE ik e R EK 100 45 (=4
368 |HFI2ETA3H ®=HH W= i L RER 128 50 =353
369 |LFI24ETA8H BRET |RE=EH ik [ RER 130 80 (=3
370 |HF25TA138 HERT  |[REERFI ki it RRER 88 8 [ j
37N 52570138 MERET  |/MERGREI ik Bt R EK 90 35 (=4
372 |HM25ETA148 KHHET KAHEE ki L RRER 90 30 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
313 |FHM2%ETA158 ) “EfT—& i it RRER 70 5 =353
374 | HM257A168 &#Hh EHHEE ik Bt R EK 140 30 (=3
375 |HHM2%ETA168 ) “EfT—& i L RRER 70 5 =353
376 | HM257A168 —EHT —Eir—& ik e R EK 76 5 (=4
377 |RM2ETA1TRH FET FEEHLE i it RRER 100 35 =353
378 | HM257A208 &#Hh g = T 3 £hER 30 3 (=33
379 |HF25TA208 HERT  |[REHFWU i L RRER 130 70 =353
380 |FH2ETA218 —E=ir hEFMN/ A ik e R EK 130 40 (=43
381 |FHM25ETA218 ) B FETH F R ik it RRER 76 5 =353
382 |FHM2ETA218 —E=ir hEFHEER ik e R EK 71 5 (=33
383 |FHM2EETA218 ) B FHTH F R ik L RIER 3 5 =353
384 | FH2ETA218 —Eir hEFHEER ik [ R EK 78 5 (=43
385 |HFI2ETA248 KHELET R/ T L 4ER 45 4 =353
386 |H247A248 AT | RETRE ik e RER 110 50 (=4
387 |HHI2ETA23H8 KHHET =R ik L RRER 50 10 =353
388 | H247A268 KT = ik Bt R EK 70 30 (=4
389 |HFI2ETA248 ®=HH JNRER ik it RRER 75 20 =353
390 |Hf247A228 BEET | RRIR ik Bt RRER 153 62 (=4
391 | HH25ETA218 FET TE i it RRER 100 45 =353
392 | H257A268 &#Hh MX% ik Bt R EK 112 100 (=4
393 |RFI2ETA298 KHHET = ik L RRER 100 50 =353
394 | H257A308 KHEHT K T 3 RER 106 40 (=4
395 |HFI2%8A1H KHLET REE T it 4ER 40 =353
396 |HFI24E8A1H KT = ik e 48K 60 =3
397 |HFI25TA308H ®HH Ex4 i it RRER 112 70 =353
398 |HFI248A1H MBEEREMT (BRI ik Bt R EK 110 50 (=43
399 |HFI2ETA3IA MERT | K ik it RRER 90 30 =353
400 |FF25TA308 &#Hh FIRNR ik e RRER 120 50 (=3
401 | HFI258A3H mEMAm  |BR wE | FH| BE 68 1" =353
402 |HF258A3RH —Eir —BFEE ik L 48 89 8 (=43
403 |HFI258A3H ZEHT —BFEE e L] ER 85 8 =353
404 | TFI258A1B )I18T =% ik e RRER 147 40 (=4
405 |HFI258A2H % )I18T fH i L] RRER 127 30 =353
406 |TFI258A2H 1187 fH e | FH| BE 135 32 (=3
407 |HFI258A4H mEMT  |RER ik L 4ER 65 8 =353
408 |HFI258A4B KFHHT FRE ik Bt 48K 50 10 (=3
409 |HFI258A4H ®HH =\ ik it RRER 120 55 =353
410 | SF258A6H KFHHET FRE ik Bt 48K 50 5 (=4
411 | HF258A6H KFHHET FRE i it ER 60 10 =353
412 | SH258A58 AT | RE=ESK ik [ R EK 135 85 (=3
413 | HH258A9E FBRT |F5 ik it RRER 120 45 =353
414 | TH258A6H MEET (R ik e R EK 110 50 (=4
415 |HFI258A8H KHHET = i it RER 120 90 =353
416 | TH248A9B KT = ik [ R EK 120 50 (=4
417 | HH258A9E KHHET FrE i L RER 60 12 =353
418 | HH258A9B KFHHT FRE ik e R EK 60 12 (=4
419 | HH258A9E KHHET EX3# ik it RRER 60 10 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
420 |HFI258A9H KHHET EX3# ik it REER 60 10 =353
21 |THM258ATH FIET =] ik e RER 120 60 (=3
422 |HM258A11RH ®HH BE i L RIER 19 38 =353
423 | HHI258A8H &HH #EH ik Bt 4ER 78 25 (=33
24 | HH258A8H ®HH BE i it 48k 78 25 =353
425 |HHI258A8H ®HH #EH ik e 4ER 78 25 (=43
426 |HHI258A11RH KHHET = i it 4hEk 70 15 =353
421 |SM258A118 KT = ik e 48K 60 10 (=3
428 |HFI258A10H %187 Al i L RIER 128 34 =353
429 |HM258A118 HERT |[REEW ik [ R EK 130 55 (=3
430 |HF248A12H FERM |BE i it RIER 130 45 =353
431 | 5M258A128 mE#T  |LET ik e R EK 106 21 (=43
432 |HFI258A5H FEERT  |TR i L RRER 90 40 =353
433 | HM258A138 &#Hh =@ ik e RRER 100 50 (=4
434 |HHI258A15H KHHET = i it 4ER 60 7 =353
435 | HM248A168 &#Hh iR ik e RRER 110 56 (=4
436 |HFI248A18H MERT | K ik it RRER 100 30 =353
437 |5M258A218 KT =] ik L 4ER 60 10 (=3
438 |HFI248A23H KHHET FrE i L RRER 110 60 =353
439 |HHM2%8A218 —Eir —BFES ik e RER 133 50 (=4
440 | HFI258A24H MERT RS ik it RRER 100 50 =353
41 | 5M258A238 &#Hh BE ik Bt R EK 129 60 (=4
442 | HFI258A25H FEIRET TR i L RRER 120 80 =353
443 | FH258A258 —Eir —& ik Bt BB 80 8 (=4
444 | HHI2E8A21H ®HH W= i L RRER 110 50 =353
445 |5T248A238 &#Hh AP e | FH| BE 80 25 (=43
446 | HFI258A26H KHHET o ik L 4ER 50 6 =353
447 |HH258A278 —Eir B ik e R EK 150 70 (=4
48 | HH259A18 KHHET FrE i L] RRER 60 15 =353
449 | FH2E9A1RH ®=HH FIRMR ik e RER 140 60 (=4
450 | HFI2E9A1H % )I[/T =3 ik L] RRER 8 40 =353
451 | GHI259A38 KFHHET FRE ik Bt R EK 120 80 (=4
452 |SH2%9A3H Z = hEFN/ A ik it RRER 158 60 =353
453 |HH25%9A3RH —Eir —EFEIUA ik Bt R EK 143 60 (=4
454 | HFI2E9A48 % )I[/T =18 ET L 4EK 46 2 =353
455 |HH29ATH —Eir —BFEHAF ik Bt RER 134 60 (=4
456 |HFI2E9ATH KFHHET 1]z i it RRER 120 80 =353
457 | THI259A8H KFHHET FRE ik Bt 48K 60 7 (=4
458 |HFI2E9A10H MERT R i L RRER 90 30 =353
459 |FH259A108 —Eir hEFE ik [ 48K 76 5 (=4
460 |HFI2E9A10H HERT  |[RETRE i L RRER 110 40 =353
461 | SM259A118 KFHHT EX3# ik L 48K 60 12 (=4
462 |HHI2E9A11RH KHHET = ki L 4ER 60 7 =353
463 | HM259A148 KFHHT FRE ik Bt 48K 60 12 (=3
464 |HFI2E9A148 KHHET FRE i L 4ER 60 10 =353
465 |[S249A148 K3HHT = ik e 48K 60 8 (=4
466 |HFI2E9A15H MERT (RS ik it RRER 120 80 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
467 |HFI2E9A15H FET T&ER i L RRER 120 70 =353
468 | HM249A168 KT = ik [ 48K 70 15 (=3
469 |HFI2E9A16H KFHHET = i L RIER 110 45 =353
470 | HM259A178 FIET E5R ik [ RRER 110 35 (=43
41 | HH259A178H % )I[/T =18 i it RRER 163 64 =353
472 |wH249A188 TiEH HH raE 3 RER 65 45 =353
413 |HH259A18H HERT |[RETAR i it RRER 60 10 =353
474 | SM259A238 &#Hh BE ik Bt R EK 80 12 (=3
475 |HHI259A238 ®HH BB i L RIER 80 12 =353
476 | HM259A238 —EHT —= ik Bt RRER 115 30 (=4
477 |HM259A238 =T —& ki L RRER 131 50 =353
478 | HM259A238 KFHHT FRE ik e R EK 60 15 (=3
479 |HM259A23H8 KHHET FRE e it RRER 60 15 =353
480 |H249A238 ARET | REHRE e | TH| T T B [y
481 | HFI2E9A248 HRET ] ki L RER 140 40 =353
482 |HM249A248 MEET |EAF ik e RRER 80 45 (=4
483 |HHI2E9A248 AR |[RE=s K b L RRER 130 45 =353
484 |HTM259A248 BEET | RRIR ik Bt RRER 80 25 (=33
485 |HHI2E9A24R AR |RRIR i L 4B 64 =353
486 |HT249A248 BEET | RRIR ik e 48K 66 (=4
487 |HFI259A25H KHHET 1]z i L HER 60 12 =353
488 | HT249A258 KT = ik Bt R EK 70 20 (=4
489 | HFI259A28H ®HH I wmE | FBH| mR 100 50 =353
490 |HT259A298 &#Hh BB ik Bt 48K 80 12 (=4
491 | HFI259A298 MERT AR i L RRER 70 20 =353
492 | SM259A298 FERT |75 ik e 4ER 80 9 (=43
493 |HFI259A29R FBRT  |F5 i L 4ER 80 9 =353
494 | S259A298 HERT |[RETFAR ik e RER 60 15 (=43
495 |HFI2E10A18H MERT | AR i L RRER 50 20 =353
496 |SM2510A18 KT = ik Bt R EK 70 15 (=43
497 |HFI2%10A28 HERT  |[REHFWU i it RRER 110 55 =353
498 |F24£10A58 EiRHT B/ L mE 3 4ER 80 1 =33
499 |HFI2510A5H HRET BEAIR i it 4ER 80 8 =353
500 |wFN24£10A5H KHHT = raE 3 RCER 90 25 =33
501 |HFI2510A58 HERT |[RETAR e L RRER 80 30 =353
502 |%f2410A58 HERT |[REFELE ET 3 48K 75 15 (=3
503 |HFI2E10A7H KHHET &= i L RRER 70 15 =353
504 |FI24£10A7H #=HhH g raE 3 RCER 80 15 =33
505 |HFI2410A8H FET = i L RRER 105 37 =353
506 |HF2410A98 —EHT e ik e R EK 102 25 (=4
507 |HFI25%10A98 BEARET  |EL i L RRER 85 55 =353
508 |wH2410A13H FERm |=/ = raE 3 RCER 150 10 =33
509 |RFI2FE10R13E  |HRET |[KREED ki it RRER 140 65 =353
510 |wH2£E10A14R | ZAIRET  |@aE ik Bt R EK 80 12 (=3
511 |®#M2410A148 KIHHT 7RHEH mE 3 RER 10 20 (-4
512 |HM24E10R14R | KHHT = ik e R EK 100 50 (=4
513 |RFI2E10RA148 | K3HHT = i it RRER 120 90 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
514 |HFI2£10RA148 | T TE i L REER 85 15 =353
515 |§M2&10A16R |FABEFETH H/ K ik e R EK 85 12 (=3
516 |RFI2E10R168 |(FREEW (/A ki L RIER 85 12 =353
517 |§M2&10A168 |AEEFET H/ K ik [ R EK 85 12 (=3
518 |HFI2FE10A16H | KFHHET = ki L RIER 70 20 =353
519 |HM24E10RA168 | KHHAT L ik [ REER 110 60 (=43
520 |RFI2E10R16B |(FBEBRW =/ F i L RRER 90 15 =353
521 |§F2&10A16B |(F#F8RT |=/8 ik Bt RRER 90 15 (=3
522 |HFI2E10R16B |(H#EBRERW =/ F i L RIER 90 15 =353
523 |DFI2E10R198  |E#RAT =] ik [ RER 110 60 (=4
524 |HFI2FE10R198 | KHHET FrE i L RRER 110 10 =353
525 |HFI2EE10R19R | KHHT 1]z ik Bt R EK 70 15 (=3
526 |RFI2EE10R198 | KEHHET L i L RER 140 100 =353
521 |HFI24E10R19R | KH4HT BRE ik Bt RRER 120 60 (=33
528 |HFI2E10RA198 |[EXWH HhiR i L RRER 50 30 =353
529 |HFM2ZE10A19R |EAXTH LI ik Bt RER 145 70 (=4
530 |RHFI2E10R198 |HMRET  |[&RETRE i L RRER 80 25 =353
531 |§F2&10A16R |[HERET |[RETRE ik Bt RER 65 20 (=3
532 |HFI2E10A168  |HMERET |[&ETRE bk L RRER 130 60 =353
533 |HM2£10RA16R |EXTH X ik Bt 4ER 50 10 (=4
534 |HFI2FE10A21H | KHHET FrE i L RRER 60 15 =353
535 |HFI2EE10A21R | KHHT = ik [ R EK 60 15 (=4
536 |RFI2E10A228  |HhHHET ME i it RRER 60 50 =353
537 |HM25E10A22R  |Hh3HAT #/0 raE e R EK 50 20 (=4
538 |HFI2E10A22H  |FET &R i L RER 130 60 =353
539 |HM2410A238  IUALHET =N ik e R EK B 45 (=4
540 |HFI2FE10A23E | KHHET FrE i it RRER 80 20 =353
541 |HM24E10A23R | KHAT = ik e RER 100 25 (=43
542 |HFI2FE10A23E | KHHET =R i it RRER 60 10 =353
543 |HFI2%10A268 |(HERET |[®REFW ik Bt RER 140 15 (=4
544 |\LFI2E10A268 |HMRET  |[&RETRE i L RRER 100 35 =353
545 |HFI25%10A268 |(HEET |[®REFW ik [ RER 100 40 (=4
546 |HFI2EE10A268  |Hh3HHET B i L RRER 120 70 =353
547 |HFI24E10A268  |FEiRAT e ik [ RRER 60 20 (=4
548 | HFI2E10A268 | REHT W= i L RRER 150 60 =353
549 |GTI24E10A268  |HhHAT &R ik e RRER 105 60 (=3
550 |HFI2EE10A26H | KEHHET B 5 A4 bk it RRER 104 45 =353
551 |HFI2%10A258 |RHT BEE ik e BB 98 25 (=3
552 |HFI2EE10A258  |Hh3HHET #/0 bk L RRER 130 80 =353
563 |HFI24E10A26R  |HhHAT A ik Bt RREK 80 130 (=4
554 |HFI2E10A25H |HRET  |[&RERIERE i it RRER 120 62 =353
555 |G F24E10A25A |FEEMm |ER ik e RER 88 12 (=3
556 |HFI2E10A28H |FEEH TE i it RRER 105 A (3
557 |FI24E10A26R | KHAT = ik it R EK 60 15 (=4
558 |HFI2EE10A27TH | KHHET 1]z i L RRER 100 20 =353
559 |HMI2&10827A |/MERT | EEH ik Bt RRER 110 25 (=4
560 |RFI2EE10A28H | KHHET = i L RRER 10 15 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
561 |HFI24E10A28H | K3HHT =R i it REER 90 25 =353
562 |{H2E10A298 | ZEHT hEFESE ik e REER 110 40 (=4
563 |#M24E10A298 |/pERT (BRI i it REER 110 60 =353
564 |HM2EE10A29R | KHAT = ik e RER 110 30 (=3
565 |HFI2EE10A298 | KHHET FrE ki it RIER 120 50 =353
566 |HMI24E10A30R | KHAT FRE ik e R EK 60 15 (=3
567 |HFI2EE10A28H  |Hh3HHET #/0 i L RIER 100 60 =353
568 |HMI24E10A30R  |HrHAT ME ik e R EK 60 20 (=4
569 |HFI2EE10A308  |Hh3HHET ME i L RRER 60 20 =353
570 |HFI24E10A31R  |HhHAT F#/ A@AELL ik Bt REER 100 40 (=4
571 |HFI25E10RA31H  |Hh3HT ¥/ AL bk L RRER 134 80 =353
572 |{H2E10A31A | ZEHT —BFPAELF ik [ RER 102 30 (=4
573 |#H2410A298 |/MAR™ |LTERAE e L RRER 140 75 =353
574 | HM2E11A18 KFHHT =] ik [ RER 100 20 (=4
575 |HFI2&11A28 =T e i it RRER 98 15 =353
576 |HM2511A38  FHT ME ik e RRER 115 60 (=4
5771 |H#25&11A38 3 HET ME wmE | FB| R 65 20 =353
578 |HM2511R48 ITF4:) RIR ik Bt RER 80 13 (=3
579 |HI2%11A48 /NERT i it RRER 110 70 =353
580 |H24E11A3B KT = ik Bt BB 70 15 (=4
581 |HFI2%11A38 HERT  |REPH i it RRER 85 10 =353
582 |HM2&11A28 &#Hh wl mE | FH| EE 100 40 (=4
583 |HI2E11A6H HRET L {oN i it RRER 100 15 =353
584 |HM2411A68 ERAT ‘oL ik Bt R EK 95 12 (=33
585 |HFI2E11A8H HRET 2E4ARE i L RRER 90 13 =353
586 |H2411A8H ERAT ‘oL ik Bt R EK 95 15 (=43
587 |HFI2%11A8H HRET BEEART i L RRER 90 15 =353
588 |HM2411A58 FERT | KW ik Bt RRER 120 23 (=3
589 |HFI2FE11A7TH FERm |=/= e it RRER 80 14 =353
590 G2 11ATH &#Hh AnK ik Bt R EK 91 60 (=43
501 |HFI2E11A78 KHHET o g it RRER 120 90 =353
592 |H2511A8H KFHHT FRE ik e RER 110 70 (=4
503 |RFI2E11A98 KHHET = b L RRER 130 110 =353
594 |H2511A8H FET =ik ik e RER 1356 70 (=4
505 |HFI2E11A9R HRET BEHART i L RRER 150 98 =353
596 |H2411A8H HERT |REREHE ik [ RRER 130 60 (=4
597 |&M2&E11A10R | ZEHT —BFERE b L RRER 99 15 =353
598 |H2411A8H HERT  |[REHR ik Bt RRER 120 56 (=4
599 |HFI2%11A8H ®HH BB i it RRER 100 25 =353
600 (RFM2FE1TANRA |ZEfT —BFHBF ik Bt RER 101 20 (=4
601 |FM25E11A128 | KHHET = i it RER 80 15 =353
602 |HM2E1TA12R | KHHAT FRE ik Bt RRER 130 110 (=3
603 |~HI24E11A6H BARH L35 i it RRER 110 60 =353
604 |GHI2E11A13A |(HERT |REEWD ik e RRER 120 50 (=4
605 |SHM2E11A148 |(HERT |[REEWD i L RRER 90 25 =353
606 |SF2F11A14B |(HAHERT |[REHFWL ik Bt RRER 170 105 (=4
607 |SM24E11A148 | E#RHET BEHART i it RRER 150 59 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
608 |SHMI2E11A1IE | E#RHET BEEART i L 48R 80 8 =353
609 |({M2E1TA13A |FIEH T&HIR8294HE ik e R 90 20 (=4
610 |FM2E11A138 | KBEHET REFRvEY i L REER 100 23 =353
611 |{M2E1TA13R | KEHT HIRFENMR ik Bt RER 90 20 (=4
612 |HHM2E11A138 | KBEHET TS T i it RIER 85 20 =353
613 |{M2E11A158 | KHEHT FER ik e RRER 90 50 (=4
614 |SHM25E11A168 | E#RHET SREAMAM i it RIER 120 26 =353
615 |HM24E11A16R | EIRET BERART ik Bt R EK 90 13 (=33
616 |HM2E11A148 | KHHET =R i it RRER 100 60 =353
617 |{M2E1TA168 | KHAT 1 ik Bt R EK 90 30 (=3
618 |HM24E11A168 |EXWH HhiR i it RRER 50 30 =353
619 |(fM2F11A178 |/MEHERET  |RI ik e R EK 80 20 (=4
620 |HMI2E11A168  |fhFET BRR i it RRER 80 35 =353
621 |{M2E1TA1IR (AT #/0 raE Bt RER 100 80 (=4
622 |HHMI2E11A1TE  |hFET ME i it RRER 115 40 =353
623 |{M2E1TA10R  |[Fh3HAT A ik Bt RRER 150 130 (=4
624 |§M2eE11A24B |/pHERT  |BEFI i it RRER 110 80 =353
625 |[HFI2F11A23E |(HEERT |[RETAR ik Bt RER 65 25 (=3
626 |SHM24E11A258 |(HEERT |[REEW bk it RRER 75 25 =353
627 |HM2E1TA198  |[Fh3HAT #/0 raE Bt R EK 95 30 (=4
628 |HHMI2E11A198  |thFHT #/0 b L RER 95 30 =353
629 |RM2E11A23A  |(FhHAT #/0 raE e R EK 82 20 (=4
630 |FM24E11A238  |fhFET iR i L RRER 135 80 =353
631 |FM2E11A208 |®EHH TIRIMR ik Bt RER 55 35 (=4
632 |SM25E11A248 | =BW FR/NR ki L RRER 140 100 =353
633 |[RH2F11A2718 | ZEHT —BFRHA ik e RER 110 15 (=4
634 |HHMI2E11A288 | KHHET 1]z i it RRER 80 25 =353
635 |HM24E11A278  IUALHT =N ik Bt BB 80 30 (=4
636 |fM24E11A30R |—E=HT —BLHE i it RRER m 30 =353
637 |HM2E11A30R  |[HhHAT B&iR ik e RRER 95 30 (=43
638 |HHMI2E11A268  |fhFET #/0 i L RRER 85 25 =353
639 |HM2EE11A26R |TIEH TE ik e RER 100 40 (=4
640 |SHM24E11A268  |fhFET B i L RRER 82 25 =353
641 |wM24E11A28R  |#IIH Boa ik e RRER 104 95 (=4
642 |SM25E11A288 (RS |[KEHIR i L RRER 10 75 =353
643 |HM25E12A18 ELRAT BERARL ik e RRER 150 60 (=3
644 |SMI25E12A18 FERT |=E i it RRER 95 35 =353
645 |GHM24E12A18 FERMm |=B ik Bt RRER 95 35 (=4
646 |SM24E12A28 KHHET FRE i L RRER 150 132 =353
647 |HM2412A28 MEERT | L ik Bt RRER 70 15 (=3
648 |SM24E12A18 HERT  |[REHR i L RRER 115 70 =353
649 |HM24E12A28 ITF4:) =M ik e R EK 80 30 (=4
650 |HI24E12A38 FET TE ki L RRER 160 150 =353
651 |&M24E12A38 ERAT =] ik e RRER 80 12 (=4
652 |SHI24E12A38 HRET ] i L RER 170 68 =353
653 |HM2412A38 YA BT % ik e RRER 110 50 (=4
654 |SMI25E12A78H BARH iR T it RRER 120 80 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
655 |HHI24E12A68 HERT  |REED i it REER 130 55 =353
656 |{M24E12ATH KT = ik [ R EK 70 15 (=3
657 |HHMI24E12A68 KFHHET = i it RIER 130 90 =353
658 |HM24E12A6H Z=EHr —& ik [ RRER 107 35 (=4
659 |HHMI2E11A308  |fhFET #/0 i L RIER 120 15 =353
660 |FM24E12ATH  FHT B&iR ik e RER 100 35 (=3
661 |~H24E12A8H KHHET = i it RRER 80 15 =353
662 |HM24E12A8H Z=EHr —& ik e RRER 101 25 (=3
663 |~HM24E12A3R8 ®HH BB i L RIER 160 100 =353
664 |HM24E12R48 ITF4:) =M ik [ RRER 120 50 (=43
665 |HHM24E12A7H (1Tp14:y Ul i it RIER 10 20 =353
666 |{M2E12A10R | KHHAT =E ik e RRER 120 80 (=33
667 |§M2eE12AN1NE | “EfT hEFHRE i L RER 135 50 =353
668 |{M2E12A12A  |FIEH =i ik Bt RRER 110 25 (=33
669 |SM24E12A108 |(HEEET |[KEHIR i it RRER 105 38 =353
670 |[HFI2F12A108 |(HEERT |RRIIER ik Bt 4ER 50 15 (=4
671 |FM2E12A1B  |(HEET |[KEHEH i L RRER 125 43 =353
672 |[¥FM2412A138 (HAERT |[REFHE ik Bt RER 130 70 (=4
673 |HM24E12A138  (HBERET  |[&E/DF bk L RRER 110 40 =353
674 |HM2E12A13  |FIETH T&ER ik e 48R 80 8 (=33
675 |HM25E12A138 | KHHET = i L RRER 90 15 =353
676 |wM24E12A14R | Z=BWH KA ik e RRER 122 95 (=4
677 |SM2412A98 ®HH =\ i L RRER 60 40 =353
678 |wM24E12A18 &#Hh wl ik e BB 70 40 (=4
679 |SM2412A98 ®HH =\ i it RRER 60 40 =353
680 |wHM24E12A14R  |EIRET BERART ik Bt H 160 63 (=4
681 |HHM24E12A168 |FFEH TE i L RRER 105 30 =353
682 |[wHI2F12A168 |HARET |ELEFEWL ik e RER 115 15 (=4
683 |HHMI2EE12A158 | KHHET =R i L RRER 130 80 =353
684 |LM24E12A16R  |(HaHEHAT % ik [ RRER 110 60 (=4
685 |HHMI24E12A17E  (AHHET RHEILBPREE i L RRER 120 65 =353
686 |WHM24E12A20R |(HEERT |REEW ik e RER 70 25 (=4
687 |HM2412A198 |/pAERT (B bk L RRER 90 40 =353
688 |(fFM24E12A198 |/MEHERET R ik [ R EK 90 40 (=4
689 |HHMI24E12A188 | KHHT =R i L RRER 150 130 =353
690 |(RHM24E12A19R | KHHT =E ik Bt BB 90 25 (=3
691 |FM2%12A128 | =BT F i L RRER 85 30 =353
692 |GM24E12R18R  |Hh3HHT #/0 raE [ R EK 90 30 (=3
693 |HM24E12A208  |thFET BRR i L RRER 85 30 =353
694 |GHM2FE12A218  |HhHAT B&iR ik e RER 120 80 (=4
695 |HM24E12A188 | E#RHET BEXEL ki L RRER 80 16 =353
696 |HHM2E12A21A | KHHAT =E ik Bt R EK 80 40 (=4
697 |HM24E12A228 | KFHHET = i L RRER 90 25 =353
698 |HFI2F12A228 (HAERT |[RETRE ik Bt RRER 80 25 (=3
699 |(§M24E12A24R |“EHfT HhE i L RRER 175 80 =353
700 (HHM24E12A238 | KHHAT 1]z ik it RRER 100 40 (=4
701 |HM25E12A248 | KFHET = i L RRER 80 20 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
702 |HMI24E12A258  |E#RHET BE/ L i L REER 126 50 =353
703 |HMI24E12A25R | EERET BiE/T ik Bt R EK 80 13 (=4
704 |HF24E128258 ¥AEHHET REBERELL mE 3 54 3 120 80 (-4
705 |SFI24E12H268 MERT | LER raE 3 RRER 80 15 =353
706 |SHI25E12A258 | KBEET RElk/E i L RIER 90 25 =353
707 |{M24E12A258 | KH4HT Ralt/E ik [ R EK 90 25 (=4
708 |HHMI25E12A258 | KBEET RElk/E i L RIER 90 25 =353
709 |{M24E12A298 | KH4HT &R ik e RRER 141 70 (=4
o0 |SH3E1A1H HRET BEF i it RRER 110 32 =353
M |FM2E12A298 | KHAT = ik Bt R EK 130 75 (=4
N2 |SM3%E1A48 MERFRT (R bk it RRER 120 50 =353
N3 |SM3FE1A28 Z=EHr —& ik [ R EK 110 55 (=4
N4 | SH3E1A5H HRET aRRE i L RRER 120 40 =353
5 |SM2412H288 ZEHr THE raE 3 RCER 130 100 =453
N6 |SM25E12A218  |hFET #/0 i it RER 100 55 =353
N1 |fM3FE1A2R th FHHT &R raE 3 RCER 125 100 =453
N8 |§M24E12A28R |—EHT T i L RRER 90 30 =353
9 | SH3FE1A3E ZEHr —& ik [ R EK 93 30 (=43
720 |SHI3E1A5H 3 ET #/0 i it RRER 125 65 =353
721 |SMI3E1A28 &#HH S ik e R EK 95 30 (=33
722 |SHI3E1A3H KHHET = i L] RRER 90 25 =353
723 |SMI3E1A4B HERT |[RETFAR ik [ RER 60 20 51
724 |SHI3E1A5SH HERT |[RETAR i L RRER 60 20 &%
725 |SHI3E1A6B HERT |[REEW ik e R EK 130 55 (=43
726 |SHMISEI1ATH FET TE i L] RRER 105 25 =353
721 |SHI3E1A9B HERT |[RETFARR ik Bt R EX 80 25 51
728 |SHI3E1A8H ZEHT —BTHE i it RRER 118 25 =353
729 |SHI3E1A8H ERAT wxRE ik e RER 90 18 (=4
730 |SHI3E1A4B ®HH B i it RRER 130 60 =353
131 |SM3E1ATH ®=HH BB ik e R EK 80 20 (=3
132 |SHI3E1A9E HRET HfflE e L RRER 180 83 =353
733 |HMI3E1A9B ERAT BERART ik e R EK 80 14 (=4
734 |SHMI3FE1A148 MERT R i it RRER 65 20 =353
7135 | HHM3FE1A13B8 i gllks) BT # ik e RER 140 80 (=3
736 |SMI3E1A13H ANF BT #H i it RRER 110 40 =353
137 |[HHM3FE1A138 HERT |[RETFAR ik [ RER 70 25 51
738 |HHMISEE1A148 HERT  |[REHFWU i L RRER 120 60 =353
7139 | HHM3FE1A15E MEETH  |BE ik e RRER 60 20 (=4
740 |SHI3FE1A15H FEIRET k=) i L RRER 90 40 =353
M | GM3FE1A15E MEETH  |BE ik e RER 50 15 (=4
742 |SMI3FE1A16H KFHHET =R i L RRER 110 60 =353
743 | HHM3FE1A168 YAE BT KRB ik e R EK 120 95 (=4
744 |SHI3EIATTRH MERT AR i L RER 120 60 =353
745 | GHM3E1A18H HERT |[REERM ik e RRER 120 90 (=4
746 | RFISF1A198 ) B FETH F R i it RRER 96 20 =353
747 | HHM3FE1A198 HERT |REEHE ik Bt RRER 130 60 (=3
748 |SMI3FE1A218 ZEHT —&FaH ki L RRER 115 30 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
749 |SHI3EE1A208 HRET ARl i L RRER 115 42 =353
750 |RHI3EF1A22H —Eir —BFTHRE ik Bt R EK 110 30 (=3
751 |SHMI3EE1A228 ZEHT hEFE i it RRER 107 30 =353
752 |HM3FE1A228 KHEHET &R ik [ RRER 123 40 (=4
753 |HHMI3EE1A238 HERT  |REREFR i it RIER 130 65 =353
754 | HM3FE1A258 /MBEEREMT AR ik e R EK 100 45 (=4
755 |HHI3EE1A1TH ®HH F# i L RRER 110 40 =353
756 |HM3FE1A258 YAE BT @ ik [ R EK 130 80 (=43
757 |SHMI3E1A228 BARH LA bk L RIER 133 60 g
758 |HM3FE1A288 ERAT 2ERARL ik [ R EK 100 28 (=43
759 |HI3EE1A28H HERT  |[RETRE i it RRER 130 75 =353
760 |HM3FE1A308 Z=Hr —BRET ik e R EK 110 30 (=43
761 |SMI3E1A298 ZEHT —BFEHE i L RRER 138 80 =353
762 |HM3E1A308 —EHT KEBA ik e RRER 128 50 (=4
763 |=HI34E1A30H MEEFRT (B i L RER 110 50 =353
764 | HM3FE1A278 &#Hh ol ik e R EK 100 35 (=4
765 |SHISE1A3IA PR H ET & i L RRER 70 20 =353
766 |SM3E2A18 FIET =ik ik e RRER 120 60 (=4
767 |SMI3E2A3E FEIRET A b it RRER 100 50 =353
768 | wHI3F2A3A —Eir hEFMN/T ik Bt R EK 170 80 (=43
769 |SHMI3E2A48 BERET | EHE T L 4ER 64 7 =353
7710 |SM3E2A28 BERH iR ik Bt 4ER 50 30 (=33
m |SM3%E2A38 HERT |REREFR ik RRER 105 50 =353
772 | 5H3%E2A58 /MBEEREMT (BRI ik e R EK 65 20 (=4
118 |SHM3E2A6H KFHET FrE i it RRER 110 50 =353
774 | SHI3E2A68 KFHHT 1]z ik [ R EK 70 15 (=43
1715 |SHMI3E2A58 FBRT  |F5 ik it RRER 90 21 =353
716 |HHM3FE2A5R th JHHT #/A mE 3 RER 80 125 =353
177 |SM3E2ATH 3 ET &R i L] RRER 90 40 =353
778 | SM3E2A8H h FHT iR ik Bt RRER 129 50 (=4
719 |SHM3E2A8H % )I[/T =3 i L RRER 120 50 =353
780 |SHMI3E2A8H BEXH €iR ik Bt RRER 100 70 (=4
781 |HI3E2A108 ARET  |[KREBE T L RRER 130 50 g
782 |SMI3E2ATH HERT |[REERM ik e RER 120 80 (=3
783 |HHMI3E2A8H (1Tp14:y Ul i L RER 80 25 =353
784 | THI3E2A98 ®=HH J\IR ik e RER 75 20 (=3
785 |HHI3EE2A10H ZARET | BER i L RRER 80 20 =353
786 | RHI3F2A11H —Eir —fBFRE ik [ R EK 143 60 (=3
787 |MI3E2A108 FBRT  |F5 ik L RRER 140 89 =353
788 |HHM3FE2A11B HERT |REEHE ik Bt RRER 120 55 (=4
789 |SMI3E2A11H KHLET &R ik it RRER 85 25 =353
790 |HHM3F2A138 Z=Hr ik e R EK 107 30 (=4
791 |SM3E2A11H KHLET P/ i it RRER 125 70 =353
7192 | GHM3EFE2A11B i gllks) Rra ik e R EK 80 50 (=4
793 |HMI3E2A13H HERT |[RETAR i it RRER 85 25 =353
7194 |GHM3E2A138 FERT |=/8 ik L RRER 140 83 51
795 |SHMI3E2A148 HRET BE/ L ki L RRER 110 55 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
796 |SMI3E2A11H PR HET WHEWL i it RRER 120 70 =353
197 |[HM3EFE2A148 ¥AE BT B ik e R EK 120 90 (=3
798 |SHMI3E2A148 ®HH FR/NR i L RRER 137 80 =353
7199 |HHM3FE2A148 i gllks) Rra ik Bt R EK 80 15 &1
800 |HFI3E2A14H ANE Boa ki it RRER 80 15 &
801 |H3F2A148 ITF4:) REA ik [ R EK 90 25 (=33
802 |HFISE2A14H (1Tp14: HERA i L] RIER 90 25 =353
803 | M3F2A16H 1187 HR ik Bt RRER 115 27 (=3
804 |HFI3E2A18H MEEFRT (B i L RRER 120 70 =353
805 |HI3F2A208 MEERT | ALEH ik [ R EK 85 20 (=4
806 |HFISE2A19H KHLET &R ik L RRER 125 52.5 =353
807 | 3F2A218 HERT |[RERM ik [ RRER 130 80 (=4
808 |HFI3E2A21H HERT (KRR ik it RRER 80 20 =353
809 |H3F2A218 BEXH tRES AR ik Bt R EK 80 40 (=43
810 |HFI3E2A17H 3 ET BRR i it RRER 107 45 =353
811 | HM352A218  FHT TR E ik Bt R EK 100 30 (=43
812 |HI3%E2A218 3 HET BRR i L RRER 115 60 =353
813 |Hf352A238  FHT iR ik Bt RER 133 100 (=43
814 |HFI3E2A248 HERT  |[RETRE i L RRER 90 30 =353
815 |H3EF2A208 FERERT |=/8 ik e RRER 110 20 (=4
816 |HFI3E2A248 BARET | EHE i L RRER 120 65 =353
817 |HM3%F2A248 —Eir —BFHAEAF ik Bt RRER 128 35 (=4
818 |HFI3E2A23H HERT  |[REERI i L RRER 140 100 =353
819 |HM352A268 HARET  |SAE ik e R EK 60 20 (=4
820 |HFI3E2A26R FET iR ik it RRER 115 65 =353
821 |%352A28H HERT |[REDEH ik e R EK 70 20 (=33
822 |HFI3E2A28H HERT  |[REPH e it RER 130 90 =353
823 |HM3F2A27H &#Hh x4 ik e R EK 70 20 (=4
824 |HFI3E3A1H FERT (/A ki L RRER 140 44 &%
825 |HHI3E3IA2B KFHHET FRE ik Bt R EK 100 25 (=4
826 |HFI3E2A27H (1Tp14: Ul i L RRER 150 65 =353
827 |HHI3E3IA3E HERT |[REBAE L7 m 3 RER 75 B 7]
828 |HFISE3IA3H FBRM | LHE e L RRER 80 21 =353
829 |HFI3E3IASH FERAT A ik e RER 55 13 (=3
830 |HFISE3IASH FEIRET BE ik L RRER 60 15 =353
831 |HHI3E3IA6H MEET (R ik e R EK 70 20 (=3
832 |HFISE3ASH ®HT dExBMmAR ik it RER 85 45 g
833 |RMI3E3IA8H FERAT e ik Bt RER 60 40 (=3
834 |HFISE3ASH KFHHET = i it RER 70 15 =353
835 |HHI3E3IA8H MEET (R ik Bt R EK 100 60 (=4
836 |HFISE3IA6H ANE Boa ki L] RRER 15 12 g
837 |HM3E3IATH EXH SR ik [ R EK T 60 (=3
838 |HFISE3IAIE ®HH dExBMmAR ik it RER 12 20 (g
839 |HHI3E3IAIB FERAT B2& ik Bt RER 100 70 (=3
840 |HFISE3IAIE KHHET FrE i it RER 90 30 =353
841 | HHI3E3IAIB HARE  |SEK ik Bt R EK 100 15 (=4
842 | HFISE3IAIE BARET | EEFEL ki it RRER 110 20 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
843 |HFISE3IAIE FBRT  |F5 ik L REER 112 80 &
844 | THI3E3IAIB MEET T2 ik e R EK 110 70 (=33
845 |HFISE3A10H ZEHT —BFEHE i L RRER 102 25 =353
846 |HM3FE3IA14B FERAT BT ik e RRER 50 20 (=3
847 |HFISE3A14H HERT  |REREFR i it RIER 140 85 =353
848 | HM3FE3IA15H &#Hh x4 ik e R EK 108 20 (=3
849 |HFISE3A18H ZEHT —f& i L RRER 124 30 =353
850 |H3FE3IA208 FIET TE ik e R EK 110 50 (=3
851 |HFISE3A20H KHHET = i L RIER 100 20 =353
852 |HMI34E3A228 KT = ik e R EK 110 40 (=4
853 |HFISE3A23H HRET BE/ L i L RIER 100 20 =353
854 |HM34E3A228 I’y =% ik e RER 120 70 (=43
855 |HFISE3A23H FERM |=/= ik L RRER 90 18 =353
856 |H3E3A238 FERT |=/8 ik L RER 148 85 (=4
857 |HFISE3A24H FET TE i it RRER 134 80 =353
858 |HM3E3IA208  FHT iR ik e RRER 128 75 (=4
859 |HFISE3A23H HERT |[RETARFR b L RRER 70 20 =353
860 |H3FE3IA238 HERT |[REEE ik Bt RRER 60 15 (=33
861 |HFISE3IA27H ANE BT H ki L RRER 155 15 g
862 |wH34E3IA24H FERm |=/ = raE 3 RCER 90 13 =353
863 |HFISE3IA22H ®HH F# i L RRER 80 30 =353
864 |H3E3A25H &#Hh & ik e RRER 90 40 (=4
865 |HFISE3A20H ®HH B i L RRER 150 100 =353
866 |HM3FE3IA298 FERT |75 ik Bt RRER 110 68 (=3
867 |HFISE3A28H ANF Boa i it RRER 140 68 =353
868 |w3F3A28H HERT |[RERMXEW ik [ R EK 130 80 (=3
869 |HFISE3IA29H % )I[/T =3 ik L RRER 90 10 =353
870 |HF3FE3IA30H EXRH LIRKR ik e RER 70 40 &1
871 |HFI3E4A28 KHHET =REILE e L RRER 80 15 =353
872 |HI3E4A4B HERT |[REDEH ik Bt RER 105 40 (=33
873 |RFI3E4A8H BEIRET | EHE e L] RRER 85 12 =353
874 |HT3F4A108 i gllks) BT # ik Bt RRER 100.5 20 51
875 |HI3E4A16H HERT |RRELS i L RRER 130 60 =353
876 |HH3F4A208 BERH €iR T 3 R EK 100 20 51
871 |HHI3E4A218 AR |RRIR e it RRER 8 26 =353
878 |%M3F4A238 ITF4:) =M LA m 3 R EK 109 30 (=3
879 |HFI3E4A23H FBRM | KW T L RRER 120 35 g
880 | 3F4A238 KT =E ik e R EK 120 85 (=3
881 |HFI3E4A25H HERT  |KRR/DR T it RRER 110 50 g
882 | 3F4A278 %1187 BE/NEWL ik e RER 133.5 50 (=4
883 |HHI3E4A28H KFHHET FRE i it RRER 100 35 =353
884 |LFISESA3E FET TE ik e R EK 115 30 (=4
885 |HFISESA3H KHHET = i L RER 90 35 =353
886 | 3F4A25H &#Hh Wz ik e R EK 85 30 (=3
887 |HFISE5A2H FET E&R ik it RRER 131 60 =353
888 |HHISE5A6H KT = ik e R EK 90 25 (=4
889 |HFISESASH BAR L35 i it RRER 8 8 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
890 |HFISE5A10H KHHET FRE i L REER 100 35 =353
891 |HHM3E5A108 KFHHT FRE ik [ R EK 80 25 (=3
802 |HFISESA1IR mEMT  |AW T it RRER 120 50 =353
893 |HM3E5A128 KFHHT FRE ik [ R EK 110 60 (=4
894 |HFISES5A12H KHLET R i it RRER 100 25.1 =353
895 |wHI34ESA12H KHEHT HhE raE 3 RER 95 18.7 =353
806 |HFISESA12H FERM |=/E i L RRER 140 75 =353
897 |HM3LE5A148 KFHHT FRE ik Bt R EK 80 20 (=3
808 |HFISES5A16H AR |RRIR i L RRER 3 140 =353
899 |HM3E5A148 mEMT | ik e RRER 118 28 (=43
900 |HFISE5A18H FERm |=/E i it RIER 130 55 g
901 | H3FE5A208 FET TE ik e R EK 105 23 (=43
902 |HFISE5A20H KHHET FRE e L RRER 90 35 =353
903 |H3FE5A208 —EHT B ik [ R EK 115 35 (=4
904 |HFISES5A20H FET TE i it RRER 110 20 =353
905 |H3FE5A228 MBEEREMT BRI ik e R EK 110 60 (=4
906 |HFISESA22H MERT RS b it RRER 90 40 =353
907 |HM3FE5A218 HARE  |SAE ik Bt R EK 95 40 (=33
908 |HFISESA22H =T —& i it RRER 127 50 =353
909 |H3FE5A218 AT |[RE/DER ik e RRER 60 15 (=33
910 |FFI3E5A22H KHHET =R i L RRER 80 20 =353
oM | H3FE5A228 KT 1 ik Bt R EK 110 50 (=4
912 |HFI3E5A22H KHHET FrE i it RRER 70 25 =353
913 | w355 A248 HERT |[REEW £7A m 3 R EK 115 50 1%
914 |HFISE5A23H AR |[RE=s K i L RRER 140 43 =353
915 | HT345A28H KT = ik it R EK 145 90 (=4
916 |RFI3E5A28H MERT R e it RER 90 25 =353
917 |HM34E5A318 KT =E ik Bt R EK 80 15 (=4
918 |HFISES5A29H mREMT  |LH i L RRER 13 30 =353
919 |HM3F5A31H FERMm | LHE ik [ R EK 100 30 (=4
920 |HFI3E6A2H ®=HH JEILT ki it RRER 132 40 &
921 |HFI3E6A6H i gllks) Rya ik e RER 103.9 62 (=4
922 |HFISE6A6H mREMAT  |UF i L RRER 124 65 =353
923 |HFI3E6A8H KEEHT BINETFE T ik e RER 95 22 (=3
924 | HFISE6A10H BEARET  |ET T L 4ER 36 1 =353
925 |HFI3E6A9IR HERT |[RREH ik Bt RER 80 25 (=4
926 |HFISE6A10H AR |RRIR i it RRER 153 76 =353
927 |%T3F6A108 AT | RETRE ik Bt RRER 110 50 (=4
928 |HFISE6A12H FET TE i it 4ER 57 1.5 =353
929 |H3F6A11E FERAT BT ik e RER 124 55 (=3
930 |HFISE6A13H ®HH BE i it RRER 59 45 =353
931 | HM3FE6A148 FET TEHLIE ik e R EK 130 80 (=4
932 |HFISE6A15H FEIRET B i it RRER 123 50 =353
933 |HM3FE6A1TH ERAT RERT ik e R EK 90 20 (=4
934 |HFISE6A16H HERT  |[REPH ki L RRER 105 35 g
935 |HH3F6A168 )1 /7 fH ik e R EK 110 37 (=4
936 |RHISE6A1TH ®HH BE ki it RRER 60 50 =353




5 ®ER LK) R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
937 |HFI3E6A20H KHLET B A7 A4 ik L REER 95 25 =353
938 | HM3FE6A218 HERT |[RREH ik [ RER 100 40 (=4
939 |HFI3E6A28H BARET  |EL T L 48K 50 1 =353
940 |HM3F6A25H8 ITF4:) =M ik [ R EK 100 40 (=43
941 | HFI3E6A26R (1Tp14: BERE i L RIER 65 15 =353
942 | HM3F6A268 mREMT  |HhEE ik [ R EK 116 40 (=4
943 |HFISE6A29R ZEHT e i L RRER 107 35 =353
944 | HFH3E6A298 —E=ir B ik Bt 48K 64 5 (=3
945 |HFISETA4B KHHET HE i it RRER 90 25 =353
946 |HM3FETA108 KFHHT 1]z ik Bt R EK 150 110 (=4
947 |HHI3ETA12H KHHET FrE ki L RRER 160 110 =353
948 | HM3FETA13B &#Hh X% ik e R EK 93 30 (=4
949 | HFISETA15H KHHET = e it RRER 80 20 =353
950 |H3FETAISH HERT |[RERM ik e RER 100 40 (=4
951 |RHISETA16H BARET  |EL i L RER 100 20 =353
952 |H3ETA18H KT = ik e 48K 50 7 (=43
953 |RFISETA18H KHHET FrE i it RRER 90 25 =353
954 | HM3FETA18H FET TE ik e 48K 55 4 (=33
955 |HHISETA19H FET TE i it ER 55 3.5 =353
956 |HM3FETA18H HERT |[RERM ik [ RRER 120 40 (=4
957 |RFISETA16H mEMAT  |BR ik L RRER 127 50 =353
958 |HFI3ETA238 —Eir B ik e R EK 79 10 (=4
959 |HFISETA21RH KHHET = i it RRER 70 20 =353
960 |H3FETA218 FIET TE ik e BB 110 60 (=4
961 |HFISETA25H MEMAT |RER i it RRER 131 40 =353
962 |H3ETA24B8 FERT |75 ik e RRER 90 10 &%
963 |HFISETA28H FET iR ik it RRER 110 65 =353
964 |HM3FETA298 KHHET ik e R EK 130 50 (=43
965 |HFISETA29H KHELET i L 4ER 60 1.9 =353
966 |FF3ETA30B —Eir B ik Bt 48K 80 5 (=43
967 |HFISETA30R HERT  |RREH i L RRER 90 30 =353
968 |HM3FETA3IE %1187 fH ik [ 48K 40 13 (=4
969 |HFISETA30R mREMT  |LH i it RRER 119 40 =353
970 |HFI3E8AIB ITFd:) =M ik e BB 80 21 51
97 |HFI3E8AIHE KHHET =R i it RRER 110 50 =353
972 | HI3E8A3A ARET | RETRE ik e 48K 60 10 (=4
973 |fHF3F8A3H Z = HhE i L ER 3 5 =353
974 | TFI3E8A3A KFHHET FRE ik Bt R EK 140 110 (=3
975 |HFISE8A3H PR H ET & ik it RER 105 30 i
976 |wH348A6H KEEHT raE 3 4ER 10 9.5 =33
977 |RFI3E8A6H KHLET ki it 4ER 70 9.5 =353
978 |HI3E8AIR KHRHET ik [ 48 55 4 (=4
979 |HFI3E8ASH % )I[/T = ik it RER 125 64 =353
980 |FFI3EF8A108 —Eir HhE ik e 48K 84 8 (=3
981 |HFISE8A10H ZEHT —& i it RRER 140 45 =353
982 |HT3E8A10H FET TE ik Bt R EK 110 30 (=4
983 |HFISE8AIE (1Tp14: B i it RRER 80 35 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
984 | HFISEBAIE (1Tp14:y Ul i L REER 110 50 =353
985 |HMI3FE8AIIR KHHET B R A ik e RRER 100 29 (=3
986 |HFISEBA1IR KHLET R i it RIER 75 19.5 =353
987 |HM3FE8AIIE KHHET HRE ik [ R EK 80 21 (=3
988 |HFISE8A12H P H ET & ki Bt RIER 100 30 g
989 |HM3F8A14B KFHHT =] ik Bt RER 120 50 (=3
990 |RFISEBA1TRH % )1| /7 B bk B RIER 136 47 g
991 |FM3F8A18H )1 /7 HR ik Bt RRER 136 40 (=3
992 | HFI3E8A22H KHHET FRE i it 4Ek 80 7 =353
993 | HM3F8A218 HERT  |[REXH ik e 4ER 80 10 (=4
994 | HFI3E8A22H KHLET BAR i it RIER 76 11.5 =353
995 |H3F8A22H KHEHT BAR ik e RRER 75 17.1 (=4
996 |HFISE8A22H KHELET BAR i it RRER 11 18.1 =353
997 |H3E8A22H KHEHET BAR ik Bt RRER 76 17.6 (=4
998 |HFISE8A23H KHLET INE i L RRER 70 20 =353
999 | H3F8A21H mREHT | ik Bt RRER 121 35 (=4
1000 |&#348A23H MERT |5 i it RRER 100 40 =353
1001 | F34E8A23H8 MERET | KW ik e RER 100 40 (=4
1002 | #348RA26H HERT  |RREH bk it RRER 90 25 =353
1003 |F34E8A25H KFHHET 1]z ik e RREK 90 15 (=4
1004 |HF34E8A25H KEAHT &R mE 3 RER 10 18.8 (-4
1005 |F34E8AH25H KE4HT &R raE 3 RCER 10 17.17 =353
1006 |RF3E8AH25H KEAHET &R mE 3 RER 10 18.4 (-4
1007 |wF34E8AH25H KE4HT &R raE 3 RCER 10 20.5 =353
1008 |HF34E8AH25H KEAET &R mE 3 RER 10 17.9 (-4
1009 |=F34E8A28H KHHET HRE ik [ BB 110 38 (=4
1010 |=#34E8A29H KHLET B AT A4 i it RRER 110 33 =353
1011 |HM3E8A298 KHRHET B R A ik e 4ER 50 3.7 (=43
1012 |5 H34E8RA29H KHLET B AT A4 i it HER 60 4.9 =353
1013 |HM3E8A298 KHHET B R A ik L 4ER 65 7 (=43
1014 | SH34E8A29H KHELET B AT A4 i L HER 60 5.6 =353
1015 |HM3E8A298 KHHET B R A ik L %ER 65 6.5 (=4
1016 |=HM3E8A29H KHELET B AT A4 bk it B 60 5.1 =353
1017 |=M34E8A28H mRE#T  |IEET ik [ R EK 140 60 (=4
1018 |R#34E8A30H KIHHT 7RHEH mE 3 RER 90 15 (-4
1019 |HHM3E8A31E HERT  |[REXH ik e 48K 80 (=4
1020 |&#348A31H =T —& i L HER 70 =353
1021 |=FM3F9IA4R HERT  |RE%E % 3 RREK 109 30 51
1022 |34 9R4H HERT |[REPH i L RER 150 88 i
1023 |HM3FIA4R mRE#T  |LET ik Bt R EK 113 18 (=4
1024 | 5F349A5H HERT  |REBDE ki it RRER 150 55 &
1025 |HM3E9ATH KFHHT = raE 3 RCER 120 60 =33
1026 |=F349A8H KHHET FRE i L RRER 110 50 =353
1027 |HF34E9A10H TiEH HH LA 3 RRER 15 25 =33
1028 | SH3EIA11E HERT  |[RETRE i L RRER 70 30 &
1029 |HFM3EIA108 KFHHET FRE ik it RREK 70 15 (=4
1030 |RF34F9A11H KIHHT 7RHEH mE 3 RER 90 20 (-4




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1031 |HH3EIA1HE KHHET FrE i it REER 80 15 =353
1032 |Hf34F9A12H KFHHT = T 3 48K 60 5 5%
1033 |3 9A9H KHLET R i it RRER 12 12 =353
1034 |HHM3EIA9R KHHET ::¥ 3 ik Bt R EK 70 13 (=43
1035 |HH3E9A128 HERT  |RREH i it RIER 90 30 =353
1036 |FM3FIA13H AT | REHRE ik Bt RRER 100 45 (=4
1037 |%HM3E9A138 HRHET & e it RIER 120 60 =353
1038 |FM3FIA13H KHEHT /i ik e 4ER 70 10 (=33
1039 |=H3E9A 138 KHLET P/ i L 4ER 10 10 =353
1040 |FF34F9A13H BEX E ik e RRER 100 50 (=4
1041 | =H3$9R128 mREMAT  |UF i it RIER 132 55 =353
1042 | HF34F9A13H KFHHET 1]z ik e RRER 130 65 (=4
1043 | =H3E9R 148 Iy L BT Ul i it RRER 90 20 g
1044 | HF34F9A16H KFHHT 1]z ik 3 RRER 120 50 (=4
1045 | 5HI39RA 168 KIHHT 1]z i L RRER 80 10 =353
1046 |HF3FIATTH HERT |[RERE ik e RER 110 50 (=4
1047 | SH3E9RA17H MEMT |RER i it RRER 131 65 =353
1048 |HF34F9A22H KFHHET FRE ik [ R EK 90 12 (=4
1049 |34 9RA228 KIHHT 1]z i L RRER 100 15 =353
1050 |F349A23H KFHHET FRE ik [ RRER 130 65 (=4
1051 | #349A 248 KIHHT 1]z i L ER 80 10 =353
1052 | HF34F9A25H ¥AE BT % ik e RER 110 35 (=4
1053 | #349A25H MERT |ERFE i it RER 120 60 =353
1054 | HF349A22H 2 LES P ik Bt RER 82 12 (=4
1055 | F134E9RA26H KHHET FRE i L RRER 130 60 =353
1056 |HF34F9A2TH KFHT FRE ik e RRER 140 70 (=4
1057 |&#1349A26H ANE Boa ki it RRER 150 54 g
1058 |HF34F9A2TH ELERAT ik [ RRER 109 40 (=4
1059 | F34E9RA 308 HARET ] i it RIER 75 15 =353
1060 |HF3FIA29H KFHHT FRE ik [ RIEK 80 15 (=43
1061 |#34E9A298 KHHET FrE i it RRER 90 20 =353
1062 | H34E10A4H FET TE ik e R EK 90 20 (=4
1063 |34 10A28 MEMT |RER ki it RRER 82 13 =353
1064 |HF34E10A5H ITF4:) B T 3 RREK 134 40 51
1065 | F34E10A48 KHHET FrE bk L RRER 90 20 =353
1066 |wF3LE10ATH MERET K T 3 R EK 59 10 (=3
1067 |#34E10ATH KHHET FrE i L RRER 100 15 =353
1068 |wF34E10A9H FERAT ik e RER 105 15 (=4
1069 |RF34F10R108  |F54RHET bk it RRER 100 60 =353
1070 |=FM34E10A10R  |MREHT | KT ik e RER 135 70 (=3
1071 | #34E10A6H MREMT |BH ki it RRER 89 16 =353
1072 | F34E10A9H 2L ES P ik Bt RER 95 15 (=3
1073 | H34E10A6H mREMAT  |AW i it RRER 93 18 =353
1074 |FM34E10A15A | E#RET =] ik [ R 100 20 (=3
1075 |{f34E10A158 | E#EHT a ki L RIER 60 15 =353
1076 |"FM34F10A168  |[#AMHEHET % ik e RER 100 40 (=3
1077 |4#3410R188 |/NERWT |AL i it RER 100 50 =353




5 %58 LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1078 |/#34F10A18A |—=HT HhE ki it RIER 84 20 =353
1079 |HM34E10A18R |[FBEH | KWl ik [ RRER 90 20 (=3
1080 \/F34F10A15A |EXWH E bk L RIER 60 =353
1081 |HFIBF10A168 |MREMT |KER ik Bt RRER 146 100 (=4
1082 ||F34F10A218 | KIHHT FrE bk L RIER 110 30 =353
1083 |{M3LF10A238 | KH+HT FRE ik [ RLER 90 15 (=4
1084 |4#3410A258 |/hNERWT |AE i L RIER 70 40 =353
1085 |HF34F10A25H | KR4HT BAAR ik e RER 80 14.5 (=4
1086 |[RF34F10R240 |MEMT |£5 bk it RRER 108 20 =353
1087 |HFIBFI10A17TE |MREMT |RER ik e RRER 95 17 (=4
1088 |&FI34E10A24R |[MEERT |HEEPR i it RRER 100 45 =353
1089 |F34F10A260 |Z=Hr —& ik Bt RIER 100 13 (=4
1090 |S#3410A268 |[/pEET  |BAFII i it RRER 85 20 =353
1091 |FF34F10A258 | K+HT FRE ik Bt R 110 25 (=4
1092 | RF34FE10A258 | KIHHT LEXH* ki it RIER 120 30 =353
1093 |HM34E10A27TR |MRHH |82 ik e RRER 108 25 (=43
1094 |{#34F10A270 |MEMHAT |BR ki L RRER 94 18 =353
1095 |HFI3F10A27TH |MREMTm |RER ik e RRER 125 40 (=43
1096 |RF34F10A280 | KRHT HRE ki it RIER 120 52 =353
1097 |F34E10A29R | E#RET =] ik [ R 90 15 (=4
1098 |RF34F10A298 | KR4HT HRE bk it RIER 90 15 =353
1099 | HF3EF11ATH FIET E5R ik e RER 100 30 (=4
1100 |SH3E11A1E —EHr HhE i it ER 96 10 =353
1101 | 3411 A2H ¥AE BT % ik [ RER 100 25 (=4
1102 ||F3LF10A318 | KHHT 1]z ki it RIER 110 30 =353
1103 |[M3EF11AIHR KFHT FRE ik [ RRER 120 40 (=4
1104 |3 11A28 HERT  |RREH ki it RER 110 60 =353
1105 | 3411 A5H KHLHET HhE ik Bt RRER 90 20 (=3
1106 |=#34E11A58 KHELET HRE i L RRER 90 18 =353
1107 |HM34E11ASH KHHET R ik [ RER 90 22 (=43
1108 |34 11A58 KHELET HRE i L RRER 90 18 =353
1109 |HFM34E11A5H KHRHET HhE ik [ RRER 95 22 (=4
1110 |SHM3E11A58 FET &R i L RER 140 100 =353
111|311 ASH FET TE ik Bt RRER 125 80 (=4
1112 | SHM3E11A8H HERT |REREES ki it RRER 138 68 =353
1113 | HM3F11A8H KFHHT = ik Bt REER 130 65 (=4
1114 \|M3F11A108 | KREHT L i L RIER 120 48 =353
1116 |[4f3E11A108  /MERET  |RSE T 3 48K 72 6 (=3
1116 |FM3FI1MA1ZE  HEEERT [KERE=7K bk L RRER 110 70 =353
117 |SM3FENAIE |HARET  |HiE ET 3 48K 75 5 (=4
1118 |RFM3F11A168 | KREHT P/ ki L RIER 90 19 =353
1119 | RM3F11A168 | KREHT /M ik e RER 100 23 (=4
1120 \[|F34F11A168 | KREHT P/ ki L RIER 95 21 =353
121 \[SM3FENAITA | KEEHT HhE ik [ R 142 67 (=3
1122 \[{fM3F11A13A | E&EHT a ki L RIER 130 62 =353
1123 |wM3E11A13A | KE#RHET =] ik [ RER 80 14 (=4
1124 \{M3F11A1TA | E&EHT ] ki it RIER 80 15 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1125 \[|M3F11A218 | KHEHT &R ki L RIER 170 125 =353
1126 |[FM3FI1A198 | KHHT =E ik e R 130 70 (=4
1127 \[|#M34F11R208 | Z)IHT il bk L RIER 130 90 =353
1128 |M34E11A24R | EERHET =l ik e RER 110 40 (=4
1129 \|M3F11A198 | E&EHT ] bk it RIER 80 15 =353
1130 |HM3F11A238 (HERT |&RIIR ik e RER 125 65 (=4
1131 |[{fM3F11A248 |mEMHHT  |AW i it RIER 139 80 =353
1132 |HM3F11A218  MREMm | RER ik e RRER 80 20 (=3
1133 |RFM34F11A258 | KREHT L bk L RIER 120 40 =353
1134 \SMBF11A238  |(RBEM (/A ik [ RRER 109 15 (=4
1135 | |fM34F11H268 | E#EHT #wW bk L RIER 90 15 =353
1136 |HMBF11A258 |(MHEET |&EXTRE ik e RRER 125 90 (=4
137 |SM3E11A268 |[HERT |EKEKRE i L RRER 125 15 =353
1138 | HFI3F11A28 (HERT |&RRIIR ik 3 RRER 125 65 (=4
1139 | RFM3F11A298 | KREHT FiR bk L RIER 130 13 =353
1140 \SF3LF11A27H  |(#AHHET iR ik e RER 120 55 51
1141 | SHM3E12A18 HARET ] i L RIER 130 44 =353
1142 | M34E12A1H EARAT =] ik e RER 120 34 (=43
1143 | SM3F11A28 |mMREHATm |[KER i it RRER 121 40 g
1144 | HFH3EIATH % )1| /7 NELW T 3 LS 60 8 51
1145 |34 12A58 PR HET L i L RRER 120 80 =353
1146 | M34F11A258  |LU4bHT a7 ET 3 RIEX 95 24 (=43
1147 | 5HM3%E12A48 HERT (KRR i it RER 87 25 =353
1148 | HM3412A4H HERT |[RERM ik Bt RER 100 45 (=4
1149 |34 12A58 HERT KRR bk L RRER 110 80 =353
1150 |F3412A5H HERT |[REEW ik [ RER 150 85 (=4
1151 | #M3412A58 ANF BT H i it RER 1025 15 =353
1152 | SHI3FI12A5R i gllks) BT # ik [ RRER 1035 90 (=4
1153 |34 12A68 Iy L BT Ul ki it RRER 115 45 g
1154 | HM3£12ATH 2 LES P ik e RER 136 65 (=4
1155 |34 12A98 FEIRET R i L RRER 90 45 =353
1156 |HHM34F12A9H YA BT % ik Bt RER 85 20 (=4
1157 ||#M34F12A108 | FFH iR i it RIER 80 20 =353
1158 |M34F12ATH KFHHET FRE ik Bt RRER 140 95 (=4
1159 ||F34F12A128 | KT FRE i it RIER 100 30 =353
1160 | HM3F12A138 | KH+HT FRE ik e RRER 110 40 (=4
1161 |SHM3E12A98 2 JI1HT =3 i it RRER n 15 =353
1162 |wHM34F12A12A HEERT |[REEW ik [ RRER 90 30 (=4
1163 |HM3F12A138 HEET |[REIR bk it RRER 85 30 =353
1164 | 5HM34E12A10R |(RBRET |75 ik [ RER 130 49.5 =3
1165 \{fM34F12A130 | “=HT —& i it RIER 106 30 =353
1166 | wM3F12A13A | ZE=HT —& ik e RRER 103 30 (=4
1167 ||FM3F12A158 | KT = ki it RRER 86 12 =353
1168 |HM34E12A16R | EERAET M ik e R 160 62.5 (=3
1169 |HM3F12A17TA HEEET |[RETRE i it RER 130 80 =353
1170 | 4fM3F12A188 | F&EH E5R ik e RER 90 20 (=4
NN \|M3F12A178 | KT =R ki L RIER 135 100 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1172 \|M3F12A178 | KT =R ki it RIER 100 60 =353
1173 |{M3F12A208 | KR4HT &R ET 3 R 95 32.1 (=4
1174 \[&M3F12A208 |®=BH SR ET L RIER 95 15.5 g
1175 |M34E12A20R | EERET =L ik e RLER 100 15 (=4
1176 |[|FM3F12A208 | KT FrE bk it RIER 90 25 =353
177 |{M3F12A198 |2 )IHT =H ik [ RLER 145 16 (=4
1178 |%HM3E12A208 |[MHERT |[HEEPR i L RRER 135 74 =353
1179 |HM3F12A248  (HERT |&RRIIR ik e RRER 135 72 (=4
1180 |{f34F12A258 |&®EBH BEA bk it RIER 140 68 =353
1181 |4#3412A25A |/MEET |ER ik [ RER 60 35 (=4
1182 |4#3412A258 |/NERW |AH e L RRER 80 50 =353
1183 |fM34F12A25A |HARET |EL ik e RER 130 45 (=4
1184 \{#M3F12A278 | FFH TE ki it RRER 130 90 =353
1185 |M34E12A29R |HEERT |[REEH ik e RRER 110 50 (=4
1186 |[|#M34F12A25H |[mEMHAHT |= ET 3 RRER 110 80 g
1187 |HM34F12A268 | KREHT HRE ik e BB 90 30 (=4
1188 |RF34F12A268 | KR4HT hE bk L RIER 90 21 =353
1189 | M34F12A268 | KREHT HRE ik [ RIEX 90 17 (=43
1190 \{F34F12A278 | KR4HT hEE ki L RIER 85 20 =353
1191 |\ M34F12A270 | KREHT HRE ik [ R 90 21 (=43
1192 \{f34F12R248 | E&EHT = bk L RIER 150 40.5 =353
1193 |HM4E1R48 ERAT =] ik e RER 90 13 (=4
1194 | SH451R38 KFHHET FrE i it RRER 110 35 =353
1195 |HM4E1A5R HERT |REEHE ik e RER 130 70 (=4
1196 |=F451R98 KFHHET =R i it RRER 140 90 =353
1197 |%M4E1R8R HERT  |[REED ik [ RRER 130 70 (=43
1198 |%H451R8H mREMAT  |WiT i it RRER 148 10 =353
1199 | HM45£E1R8R mREMT | ik e RRER 136 60 5%
1200 |=F4E1R118 ZEHT ) i it RRER 120 50 =353
1201 | F4F1A11H —EHT B ik e RER 110 30 (=43
1202 |F44E1R128 MEMT |RER T it RRER 80 14 &%
1203 |HF4E1A10H ELRAT =] ik e RER 95 18 (=4
1204 |F441R138 KHELET P/ i L RER 110 32.4 =353
1205 |F4E1A13H KHEHT /M ik e RRER 100 29.5 (=4
1206 |F41R138 HRET ] i L RER 135 65 =353
1207 |Hf4E1A14H HERT |[REEHE ik Bt RER 130 80 (=4
1208 |&#441R148 KHELET hEE i L RRER 85 18 =353
1209 |wF4E1A14H KHRHET HRE ik e RRER 95 21.5 (=4
1210 |%HM451R148 KHELET ::¥23 bk L RRER 100 28.5 =353
1211 |5 M4F1A14H YAE BT % ik [ RER 100 60 (=3
1212 | 54518148 — =T HhE i it RER 110 35 =353
1213 |[wM4E1A15H FERT |S/B ik e RER 158 99 (=4
1214 | 5H451R158 FBRNT |=/8 i it RRER 83 15 =353
1215 | HM4E1A15H FERERT |=/8 ik e FRER 83 15 (=4
1216 |%HM451R158 FERM |=/= i it RRER 83 15 =353
1217 |[wM4AF1A15H FERT |=/8 ik e RER 83 15 (=3
1218 | #4451 R158 FBRNT |=/8 i L RRER 83 15 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1219 | %HM451R168 MERT RS i it REER 100 50 =353
1220 |HM4E1R178 MEERET ([ T 3 R EK 130 50 5%
1221 |%HM451R168 HARET ] i L RIER 130 58 =353
1222 |M4E1R188 ELRAT =] ik [ RER 120 53 (=4
1223 |%H451R188 HERT (KRR i L RIER 103 30 =353
1224 | 5HM4E1R198 mEMT | FH ik Bt RRER 121 35 (=43
1225 | SH451R198 L BT Ul bk it RRER 110 45 i g
1226 |HM4E1R198 KFHHET FRE ik e RRER 140 85 ]
1227 |%H4E1R198 HERT  |[RETRE i L RRER 120 65 =353
1228 |HM4E1R198 AT | RETRE ik e RER 125 65 (=4
1229 | #4451 R238 HRET ] i L RIER 150 56 =353
1230 |=M4E1R228 ¥AE BT % ik e RER 65 12 (=4
1231 | 4518228 HRHET & i L RIER 75 16 =353
1232 |M4E1R228 KHEHET iR ik 3 RRER 135 80 (=4
1233 | 4518228 HERT  |RREH i L RRER 130 60 =353
1234 |T4E1R268 ITF4:) =M ik e RRER 110 45 (=4
1235 |%H451R218 HERT |[RETAR i it RRER 80 28 =353
1236 |HM4E1R278 KHHET HRE ik e R EK 90 25 (=4
1237 |%HM451R218 KHLET R i it RRER 93 21 =353
1238 |=M4E1RA218 KHRHET HRE ik e RREK 87 23 (=4
1239 |41 R278 MmN |RiT T L RRER 11 14 g
1240 |HHM4E1R278 ITF4:) =M ik [ RER 115 45 (=4
1241 |41 R218 HARET BERT bk it ER 90 10 =353
1242 | 5F4E1R288 ITFd:) B T 3 RIEK 112 70 51
1243 | 4418308 FET T&ER i it RRER 110 64 =353
1244 | T4E1R288 FERERT |=/8 ik e RER 110 35 (=4
1245 | 5H44E1R308 HERT  |REFHR ki it RER 125 50 =353
1246 |=M4E2A18 KHEHT /M ik e RRER 100 42 (=3
1247 |%f452R18 HRET ] i it RRER 148 57 =353
1248 | M452A2R i gllks) Boa ik e RRER 110 40 (=4
1249 | %H452R1H KHHET = i it RRER 90 20 =353
1250 | 442A2R KHEHT /M ik Bt RER 97 23 (=4
1251 |&#442R2H KHLET P/ i L RRER 95 19 =353
1252 | f452A2R KHEHT /i ik [ RRER 95 21 (=3
1253 | f442R3H HRET ] i L RRER 100 23 =353
1254 | F452R3R FEIRAT B ik e RER 110 75 (=3
1255 | f442R2H HERT  |REEOR i L RER 120 65 =353
1256 |F45E2RA5R FEARAT BERE T 3 R EK 120 35 51
1257 | f442R5H KHLET P/ i L RRER 95 26 =353
1258 | M442A3R HERT |[RREH ik [ RER 130 60 (=4
1259 | f442R48 HERT |[RETAR ki L RER 65 15 =353
1260 |=M45E2R48 HERT  |RE%E T 3 R EK 135 90 (=4
1261 | f442R6H KHHET FRE i it RRER 110 30 =353
1262 |%M4E2RA7RH KHEHT /M ik [ RER 80 18 (=3
1263 | f442R7H KHLET P/ i L RRER 75 15 =353
1264 |%FM4E2A7H FET TE ik Bt RRER 100 40 (=3
1265 |&f442R7H HRET ] i L RRER 160 70 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1266 |©F442R6H ZEHT ) i it REER 118 30 =353
1267 | M45E2R7RH HERT |[RETAR ik Bt RER 110 45 (=4
1268 | H442R6H AN Bora i L REER 145 70 =353
1269 | M45E2R9R KHHET HRE ik e RER 110 46.5 (=4
1270 | #442R108 FBRN (/A i L RIER 120 50 =353
1271 |%M452R128 HARE |HL ik e RRER 150 70 (=43
1272 | %5H442R148 FEIRET KEH i L RRER 80 45 =353
1273 |5 M44E2R158 FIET TE ik [ RRER 120 37 (=4
1274 |&5H442R158 MERT R i it RRER 80 30 =353
1275 |5 M44E2R158 KHHET HRE ik [ RREK 95 26 (=4
1276 |%HM4452R168 HERT  |REREFR i L RRER 140 80 =353
1277 |5M4E2R198 FIET =ik ik [ RRER 85 18 (=3
1278 | #M442R208 KHLET FiR i it RRER 90 31.2 =353
1279 |5 M44E2R208 KHEHET iR ik 3 RRER 90 31.5 (=4
1280 | #442R208 KHLET FiR i it RRER 95 32.2 =353
1281 |M4E2R198 FERET (WA ik Bt RER 120 50 (=4
1282 | #442R208 KHHET =R i L RRER 120 80 =353
1283 | M44E2R228 AT | REHRE ik e RER 125 70 (=4
1284 | 5F442R218 HERT  |[RETRE bk it RRER 130 65 =353
1285 |M4E2RA218 AT | REHRE ik Bt RRER 1356 70 (=4
1286 | H442R228 HERT |RERE i L RER 135 70 =353
1287 | M44E2R228 MBEEREMT (AR ik e R EK 90 50 (=4
1288 | #442R 238 FET &R T L RRER 110 45 =353
1289 | M44E2R228 HERT |[RREH ik Bt RER 130 80 (=4
1290 | #442R238 HAERT |[REPR FIRKE i L RRER 131 45 =353
1291 | M4E2R238 FERERT |=/8 ik e RER 150 89 (=4
1292 | #442R258 HERT |[REEFFREF i L RRER 115 55 =353
1293 | M4E2R238 2 LES P ik e RER 120 40 ]
1294 | F442R 238 FET iR i L RRER 90 30 =353
1295 | M44E2R238 FET TE ik e RER 100 25 (=43
1296 | HM442R218 BERET  |$RAR T L RER 100 40 =353
1297 | M44E2R 288 FET TE ik [ RRER 142 80 (=4
1298 | H443RA1H HERT |RREH i L RRER 100 50 =353
1299 |=M45E3A2R MERT B LA m 3 R EK 87 25 (=3
1300 |%#443A2H FEIRET B i it RRER 90 50 =353
1301 |=F443A3R KHEHT LW\ ik e RRER 98 28.5 (=4
1302 | f443R6H ANF Bora i it RRER 120 67 =353
1303 |=M4E3A4R ITF4:) =M ik e RER 120 60 (=4
1304 | F443R8H MERT Iz T it RER 90 19 =353
1305 |=FM44E3A8H KT BE ik Bt RRER 150 85 (=3
1306 |F443R9H mEMT  |LH T L RRER 120 60 g
1307 | FM44E3A9R FET TE ik Bt RRER 140 80 (=4
1308 | F443R108 MERT | K i L RRER 80 40 =353
1309 |=M4E3R108 ITF4:) =M ik Bt RRER 100 40 (=4
1310 |=#443R9H (1Tp14:y Ul i it RRER 110 45 =353
1311 | %M4E3R128 MEET | AEH ik e R EK 50 20 &1
1312 | 5HM4453R128 KHLET R i it RRER 130 68 =353




2 SR L S RBF SRKE 151 | RERS | KR | EK) | RERR
1313 [#R443A12E | KMET  |mE WE | B | R % 19 B
1314 | M44E3A13H PN HhE raE 3 RER 90 21.6 =353
1315 |#F4E3A12E  |BBED KW wE | B | 9B 68 B
1316 [®F4E3A12E  |BBES | KW wmE | & | oR 68 Bt
1317 [%F4E3A128  |FBESD KWl wE | B | 9B 56 B
1318 | M4E3A14H MEERT | AE raE 3 RCER 100 50 =33
1319 [#F4E3AIIE  |FBED |75 wE | B | 9B 40 5~6 B
1320 [%F4E3A12E | BBEE |75 BE | | RX 100 58 Bt
1321 [#R443A168 | FBH & wE | & | R 125 15 Bt
1322 | M44E3A16H ANF Bra ik e RRER 153 15 (=4
1323 [#FME3AITE [HMAH | REEH WE | % | R % 20 B
1324 |M4E3A18H FEIREAT A T 3 R EK 90 13 (=3
1325 |@RM443A208 | KHET  |HHE wE | B | BB 100 25 Bt
1326 [#F4&3A21H  |THEH | TAR BE | | RX 80 20 Bt
1327 [$RM43A190 |HMET |2 @A/ L WE | B | R 112 35 B
1328 | M44E3A23H KHEHET R raE 3 RRER 115 58.4 =353
1320 [#RM43A2VE | K#ET AR wE | & | RR 150 % B
1330 [#RU43A2IE [AIE |®ye BE | % | BR 82 7 Bt
1331 |RF44E3A24H TiEH TE i it RER 100 20 =353
1332 [@RI4E3A24E0 | KMHT | wmE | & | mR 85 23 B
1333 |SFAEIA24E  [EEEAm oot (AHE WE | M| R 70 15 e
1334 | M44E3A2TH HERT  |[RETRE raE e RER 90 20.4 =353
1335 |#RMFIA20E  [EMAH  |REIMRER WE | % | R 85 25 B
1336 |[HM4E3A29H FIET TE ik [ RIER 150 80 (=3
1337 [#R443A0E | BARE &R wE | & | R % 20 Bt
1338 | M44E3A30H EiRHT ] ik [ RER 100 18 (=4
1330 [#F4EE3A30E MR |REEH WE | & | R 80 40 B
1340 [@R4E4A3E  |[EEAH  |REFAR wE | & | mm 130 80 Bt
1341 |%H454R3H HERT (KRR T 3 RIER 90 12.8 =353
1342 | M4F4RA18 KFHHT FRE ik e RRER 130 90 (=4
1343 | f4454R28 KIHHT (1] mE it RER 100 35 (-4
1344 [@R4F4A6E  |NERM | ALH | M | BK 80 11 Bt
1345 |$RMF4RBE  [HEMATH  |@EBR WE | B | R 120 36 B
1346 | M4F4A11H LN % ik Bt RER 150 80 (=4
1347 |RF44F4A11H KIHHT (1] mE L RER 90 25 (-4
1348 |HTN44F4A16H LN L) % raE Bt RER 80 15 =33
1349 |R#44E4A17H KIHHT 7RHEH mE L RER 90 20 Bt
1350 |wfN44F4A18H KHEHET HhE raE 3 RER 90 20 =313
1351 [®FMEAAITE [HMAT | REEH i AR 80 15 B
1352 |Hf44F4A17H FIET TE T 3 BB 100 30 5%
1353 |#F4E4ANE  [HMAT | RESH WE | B | BB 80 30 Bt
1354 [SRUF4AI9E  |[HERH  |RESH wmE | & | mR 10 15 Bt
1355 |®FMEAAI0E  [HMEATH | REEH wE | B | R 80 20 Bt
1356 |#RUEF4A2IE  |BBAm  |ER BE | | RX 140 85 Bt
1357 [$74E4A2BE  |NERT RS e | & | AR % 18 Bt
1358 |wTN44F4A24H EiRHET = raE [ REER 90 18 =453
1359 |RF44E4A25H KIHHT 7RHEH mE it RER 90 25 (-4




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1360 | F444R258 ®HH BB ET it REER 13 45 =353
1361 |M4E4R258 HERT |[REXE5H ik e RER 110 55 (=4
1362 | H44E4R218 HERT | RREH i L RIER 80 15 =353
1363 | M4E4R308 HERT |[REXE5H ik Bt RER 85 25 (=3
1364 |=F4455A2H FERM |=/= ki it RIER 115 40 =353
1365 |HM4E5A2R mREMT |BH LA m 3 R EK 135 70 (=3
1366 |=F4E5A7H MERT | ALEH ki it RRER 100 70 =353
1367 |M4ESA11B HARE |HE ik e RREK 110 30 51
1368 |HH4E5A118 HERT |RERE i L RRER 125 60 =353
1369 |HHM4E5R128 AREET | RE/H ik e R EK 130 80 (=4
1370 |%H4455R128 HERT |[RETAR i it RRER 120 60 =353
1371 |=M4E5R138 —EHT hE ik [ R EK 122 50 (=4
1372 | %H4455R138 KHLET &R i L RRER 95 29 =353
1373 |HM4E5R168 FIET T&ER ik e RRER 145 80 (=4
1374 | 5H4455R208 MERT R T it 4ER 15 8.6 g
1375 | M4E5R208 FIET TE ik e RREX 125 35 51
1376 | HM4455R208 KHELET FiR i it RRER 98 32 =353
1377 |=M4E5R208 KHEHET FiR ik e RRER 100 26 (=43
1378 | HM4455R238 ANF Bra i it RER 125 75 =353
1379 |=M4E5R238 FIET T&ER ik e RRER 110 25 (=43
1380 | F44E5R248 MERT Iz T L RER 100 35 g
1381 |=HM4E5R258 MERT  |TI2HE L7 m 3 R EK 80 12.6 51
1382 | H445R28H HERT  |[RETRE i it RER 130 65 =353
1383 |HM44E5R288 HERT |[REXE5H ik e RER 75 25 (=4
1384 | F44E5R298 HERT  |[RETRE bk it RRER 70 25 =353
1385 | HI45E5A27R —E=ir B ik e 48 62 5 (=43
1386 |HH44E5R298 AR |RE=H ki it RER 100 30 =353
1387 |HM4E5R298 HERT |[RREH ik [ RRER 150 80 (=4
1388 | H44E5R308 HERT |RES5H i L RRER 70 30 =353
1389 | HI45E5A29R —E=ir B ik e RIEK 112 40 (=43
1390 |&#4456R3H HERT  |[KREHR bk it RRER 130 70 =353
1391 |=M456RA3R HERT |[RREH ik e RER 100 30 (=4
1392 | H4456R3H HERT |RESH i it RRER 80 20 =353
1393 |HM4E6R41 HARE  |HL ik [ R EK 110 20 (=3
1394 | H4456R7H MERT R ki it RRER 100 40 i
1395 |HM456A9R HARE  |SAE ik e R EK 115 55 (=3
1396 |SH456R118 KBEHET HRE ET L 4ER 42 2.6 i
1397 |HHM4E6R118 HERT |[RETFAR ik Bt RER 110 40 (=4
1398 | H4456R138 HRET HiE bk L RRER 100 35 =353
1399 |HHM4E6R178 KT =E ik e R EK 90 30 (=4
1400 | F44E6R178 HARET ] i L RIER 110 30 i
1401 |HHM4E6R218 HERT |[REEW ik Bt R EK 125 58 (=4
1402 | F446R238 FEIRET /¥ T it RRER 106 40 =353
1403 |46 258 KBEHET HhE L7 m 3 RREX 104 25 51
1404 | F44E6 R 268 MARFRT |[ER i L RRER 160 80 =353
1405 | 446278 HERT |[RREH ik Bt RER 80 25 (=3
1406 |F457R4H KHLET &R T it RRER 117 50 i




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1407 | F4457R6H HERT  |RREH i L RIER 160 120 =353
1408 |HM4ETRA108 EARAT =] ik e RER 100 20 7]
1409 |\ GH45ETA1IR i) e i L 48R 65 =353
1410 |HM4ETR128 KHEHET BAR ik Bt 48 o8 2§
1411 | SHM45TR128 KHLET BAR i L ek 55 4.5 =353
1412 |5M4ETR13B8 ¥AE BT % ik e RLER 35 2 (=33
1413 | SHM45TR138 KHLET FiR i L RRER 104 36 =353
1414 | M4ETA13H K EAHT &R raE 3 RCER 85 15.5 713
1415 | SH445TR158 KHLET R i it RIER 97 15 =353
1416 |HM4ETRA158 EARHAT =] ik e RER 154 45 5%
1417 | SHM45TR18E HERT  |RREH i it RRER 90 25 =353
1418 |HHM4ETA1TB KFHHET =] ik [ RRER 100 45 (=4
1419 | SHM45TR188 HRHET & i it RIER 140 70 =353
1420 |FM4ETR188 ¥AE BT % ik e RLER 100 80 (=4
1421 | H457R208 KHHET = i it HER 60 =353
1422 |\ SHI4AETA19R —E=ir hE ik e 48K 70 (=3
1423 | H45TR208 HERT  |[REHFWU i it RRER 90 25 =353
1424 | F4ETRA238 FIET TE ik e R EK 120 65 ]
1425 | H445TR238 HERT  |[RETRE bk it RRER 70 20 =353
1426 |=HM4ETRA258 FIET E5R ik [ RRER 130 35 51
1427 | HM45TRA258 FET TE i it RRER 130 40 =353
1428 |HHMAETA1TB FERET (WA ik e R EK 98 10 (=4
1429 | SH45TR1TE FBRN (/A i L RER 90 10 =353
1430 |HHM4ETRA268 FIET TE ik e R EK 110 25 (=4
1431 | SHM45TR218 KBEET HRE ET it RRER 88 17 g
1432 | HMAETA218 FIET TE ik e RREK 145 75 51
1433 |45 TR218 HARET ] bk it RER 105 20 g
1434 | HM4ETRA3B FERET (WA ik e R EK 105 35 (=4
1435 |RF44E7A31H KBEET RE mE 3 RER 90 16. 6 Bt
1436 |HM4E8A1R TiEH TE raE 3 4ER 76 5 =353
1437 | HM4458R4H HERT |RES5H#H bk it RRER 120 62 =353
1438 |HM4E8A5H KHHET B R A ik e RER 115 47 (=4
1439 | HM448R5H KHLET B AT A4 i it ER 60 7.8 =353
1440 | HT4E8ATH HERT  |RE/NE raE 3 RCER 90 25~30 =33
1441 |SH448RTH HERT |[RETAR i L RRER 110 45 =353
1442 | 5TM4E8RA8RH FET T&ER ik Bt RRER 117 98 (=4
1443 | 5H448R108 KHHET FrE i L RRER 100 25 =353
1444 | 5F4E8R108 FET TE ik Bt RREK 135 40 51
1445 |{F44E8A10H TiEH T2 mE 3 RER 80 12 (-4
1446 |SM4E8R128 ITF4:) ITF]4 ik Bt 4 60 8 (=4
1447 | 5H448R 158 AR | RRIR i L RRER 135 60 =353
1448 | 48R 158 FET TE ik [ 48K 70 &1
1449 | SH448R 158 MERT MY T L HER 42 &
1450 |M44E8R168 HERT |[RREH ik e FRER 120 50 (=4
1451 | F448R178H AR |[RE=7 K i it RRER 115 35 =353
1452 |4 T44E8A18H PN HhE raE 3 RRER 95 32 =33
1453 | F448R18H KHLET BAR i L] RRER 76 24 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1454 | F44E8R18H KHLET BAR i it REER 10 22 =353
1455 |HfN44E8H20H FET TE ik [ R EK 80 10 5%
1456 | F448RA218 KHHET = i it 48R 50 5 =353
1457 |HM4E8A19H BEX €iR ik Bt 48R 20 10 (=4
1458 | H448RA218 BAR LN i it 48k 30 10 =353
1459 | 44E8H22H ¥AE BT % ik e RLER 120 60 (=4
1460 | F448R228 KFHHET =R i L RRER 60 10 =353
1461 | M4E8H22H MEEREMT (ARRI ik e RRER 110 45 (=4
1462 | H448R198 FERM |=/ = i L RRER 120 60 =353
1463 |HM44F8AH28H KHEHT FIR ik e RRER 75 12.6 =43
1464 | F44E8R28H KHLET FiR i L RRER 70 11.8 =353
1465 |HT44F8H29H BEX €iR ik [ RRER 80 10 (=3
1466 | F44E8R298 MERT (RS ki it RRER 110 40 =353
1467 |HM44E8AH30H ¥AE BT % ik [ %ER 50 5 (=33
1468 | H448R31H KHLET FiR i it RRER 3 12 =353
1469 |HT44E8A3IH KHEHET FIR ik Bt RRER 68 1 (=4
1470 |%F459R1H KHLET L i L RRER 10 1.2 =353
1471 |5M45E9A18 KHEHT /M ik e RER 70 10.2 (=4
1472 | %HM459R1H KHLET L i it RRER 65 9.5 =353
1473 |%M4E9A1R KHEHT /M ik e RER 70 12.5 (=4
1474 | 5H459R5H AR |RE=H i it RRER 110 50 =353
1475 |HM4E9RA4R AT  |[RE=EH ik [ RER 90 40 (=43
1476 |SFM459R5H (1Tp14:y il T it 4ER 55 7.1 =353
1477 |%M4E9A5R FERT |75 ik Bt 4ER 80 6 (=43
1478 | HM459R5H FBRT  |F5 i L RRER 110 35 =353
1479 |HM4E9A5R ¥AE BT % ik e RER 120 60 (=4
1480 | F449R6H AR |[RE=7 K HE L RRER 90 12.8 =353
1481 |HM45E9A6R BEET | RE=ESK ik [ RRER 138 60 (=4
1482 | H459A7TH KHLET RE T L RRER 110 20.7 =353
1483 |HM4E9ATH ¥AE BT % ik e 4ER 60 5 (=33
1484 | H4459RTH AR |[RE=7 K i L RRER 90 15.3 =353
1485 |HM45E9A8RH —EHT —& T 3 R EK 87 13 (=3
1486 |=F449R8H KHHET FRE i L RRER 110 40 =353
1487 |HM4F9A11H —EHT e ik e RRER 160 88 (=4
1488 | SH459R11H FBRT (/A ki it RRER 80 8 =353
1489 | HH4F9A11H HERT |[RREH ik e RER 100 40 (=4
1490 |F4459R8H HERT (KRR i L RER 13 14 =353
1491 | HT44F9A13H i gllks) Br# ik [ RRER 125 38 (=4
1492 | H4459R148 MERT R i L RRER 60 10 =353
1493 | HM4F9A15H KFHHT FRE ik Bt RER 120 45 (=3
1494 | H4459R 168 — =T —& i it RER 140 50 =353
1495 | TN449A16H FET E5R ik e RRER 140 80 (=4
1496 |SF459R17H AR |[RE=7 K i L RRER 100 12 =353
1497 | HT4F9A19H )1 /7 fHE ik [ R EK 99 25 (=4
1498 | H459R198 AR |[RE=7 K i L RRER 100 15 =353
1499 | T449A20H HERT |[REREES ik Bt RER 125 71 (=4
1500 |&F449R218 NEEFRT (B i it RRER 90 40 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1501 |&#4459R218 FERM |BE i it REER 120 51 =353
1502 | f44F9A21H PN /M T 3 R EK 100 35 (=33
1503 | F449R268 MERT |PER i it RIER 110 50 =353
1504 |HTN44F9A26H FIET A H ik e RRER 85 15 (=4
1505 | #449R238 FBRT  |F5 i it RRER 80 10 =353
1506 |FT4F9A24H FERT |75 ik e 48R 70 8 (=43
1507 | #4459R278 HERT  |[RETRE i L RIER 10 18 =353
1508 |HF44F9A2TH ¥AE BT % ik [ 4ER 50 7 (=33
1509 | F449R278 MERT | K b L RRER 120 60 =353
1510 |Hf44F9A28H BEX €iR ik e RRER 80 15 (=4
1511 | SHM44510A18 HERT  |[RETRE i L RRER 60 15 =353
1512 |¥f44E10A2H AT | REHRE ik Bt RER 70 20 (=3
1513 | H449R308 ANF Bra ki L RRER 120 70 =353
1514 | f449A30H ITF4:) =N ik e RRER 107 45 (=4
1515 | 5H4459R168 FERM |=/= i it RRER 90 10 =353
1516 |HFM4F9A16H FERERT |=/8 ik e RER 140 48 (=4
1517 |H4459R168 FERM |=/= i it RRER 90 10 =353
1518 |HFN44E10A3H EX €iR ik [ RRER 80 15 (=4
1519 | H4410A48 HERT (KRR bk L RRER 93 26 =353
1520 | F44E10A2H i gllks) Bra ik e RRER 90 28 (=4
1521 | H4410A68 HERT  |[REHR i it RER 120 30 =353
1522 | T44E10A4H KT =E ik e RRER 80 15 (=4
1523 | H4410A8H KHHET =R i L RRER 100 25 =353
1524 | T4LE10A9H HERT |[RREH ik Bt RER 110 40 (=4
1525 |HFM4F10A108 HEEET |[REEH i L RRER 130 60 =353
1526 |HF44E10A8H i gllks) Bra ik [ RRER 126 70 (=43
1527 | H4410A98 FBRT (/A ki it RER 140 65 =353
1528 |F44E10A9H FERET (WA ik e RRER 87 20 (=4
1529 \|F44E10R118 | KT FRE i it RIER 90 15 =353
1530 | RF4FI10A11E | KHHT FRE ik e 48 60 5 (=4
1531 |RF44E10R118  |FRHHHET b ET it RIER 120 10 i g
1532 |HM44E10A13R  |(HHERT |[REFWUL ik e RRER 85 28 (=4
1533 |RF44E10R148  |(HAHHET & i it RIER 70 18 =353
1534 | T4LF10A158  |(#AHEHET % ik Bt RIER 60 15 (=4
1535 |HFM4F10A188 (HEEET |[RETRE bk it RRER 60 18 =353
1536 |wHM44E10A18R |(HHERT |[REFWUL ik e REER 130 70 (=4
1537 |&HM4E10A188 HEET |KERE=sK i it RER 100 16.6 =353
1538 |SF4F10A188 (HERT |[RE=sXK ik [ RRER 100 15.5 (=4
1539 |&fM4F10A188 |(FREW [/ KR bk it RRER 120 60 =353
1540 \HFN44E10R188  |#AHHT #F ik [ RLER 85 40 (=3
1541 |Sf4E10A198 [/MEET  |BK T it RRER 122 60 =353
1542 \HF4F10R198 | ZE=HT —& T 3 BB 76 14 (=4
1543 \RF44E10R198 |FNIF Boa ki it RIER 13 40 =353
1544 |F44E10A198 B Boa ik e RER 118 50 (=4
1545 |SF4€10A218 [/MEET  |RE T L RRER 140 100 =353
1546 | HF4F10A218 | KHHT 1]z ik [ RIER 120 40 (=3
1547 \|F44F10A218 | KT =R ki L RIER 110 25 =353




5 %58 LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1548 \{f44F10A248 |EXWH ARl ki L REER 100 20 =353
1549 | HM44E10A24R |(HERT |BREFAR ik Bt RER 130 70 (=4
1550 |&F4410A248 |MEEET |[KREHFWU i L 54 3 150 100 =353
1551 |[HHI4F10A248 (HERT |[RE=7XK ik e 48R 96 16. 1 (=4
1552 \{f44E10R248  |(HAHEHET & bk L RIER 80 25 =353
1553 |f44E10A248  |(#AHEHET % ik [ REER 80 15 (=4
1554 | RF44E10A248 | KREHT BAR bk L 48R 75 8.8 g
1555 |HFN44E10A248 | KREHT HhE T 3 R 124 65 (=3
1556 |RF44FE10A258 | KT = ki it RIER 90 20 =353
1557 |f44E10A258 | )IlHT HR ik e RIER 132 48 =43
1558 |&f4F10A238 |(FBEW |/ R i it RER 110 30 =353
1559 | SF44F10A238  |(RBEM (/A ik e RRER 109 30 (=4
1560 |S#44£10A278 [/pEERT |BEE ki L RER 90 30 =353
1561 |HFN44FE10A278 |2 )IlHT =H ik Bt R 80 20 (=4
1562 |RF44E10H28H | KHHT = ki it RIER 90 15 g
1563 |FF1410RA318 |/MEREH (B ik Bt RRER 110 70 (=43
1564 |&FM4E10A298 |(FEEW |[F/ R i it REER 118 45 =353
1565 |FM44E10A29R |(RBRET =/ B ik e RRER 128 60 (=43
1566 |RF44E10R318  |[HAHHET & i L RIER 80 20 =353
1567 |wM4F11A1H BEX SRl ik [ RRER 75 25~30 (=4
1568 | F44E11A58 KHHET =R i it RER 110 25 =353
1569 | 44F11A3H ¥AE BT % ik [ RER 95 25 (=4
1570 | H4411A58 PR HET & i L RIER 70 16 =353
1571 | 4411 A6H HERT  |[REED ik e RER 60 20 (=4
1572 | %H4511A48 % )I(H7 AH i L RER 153 86 =353
1573 | 4411 A6H FERERT |=/8 e | FH| BE 120 26 (=3
1574 | SH4E11A98 FERT |ER T L RRER 80 11.5 g
1575 |f44E11A9H —EHT —& T 3 RREK 80 15.5 5%
1576 |RF4F11R108 | KREHT L bk it RER 110 44.5 =353
1577 |Sf4F11A108  (HERT |[&RIER ik [ RER 104 142 (=4
1578 |®f4F11R108  |EXWH iR i L RIER 80 35 =353
1579 | MAFNANA | KREHT B R A ik e RER 85 29 (=4
1580 | |F4FE11A11A | KREHT B AT A4 i L RIER 90 33 =353
1581 \4f4F11A148  |BEXH €iR ik [ RRER 100 80 (=4
1582 \{F44E11R138 |[HAHET & bk it RIER 76 16 =353
1583 | M4F11A13A  |(#AHEHET % ik e RIER 90 27 (=4
1584 \{F44F11R138 |(HAHET & bk it RIER 85 24 =353
1585 | HHM4E11A13R |(RBRET |75 ik e RER 120 20 (=3
1586 |RFN44FE11H148  |HRHHHET #/A8 ET 3 RIER 88 20 g
1587 |[RH4F11A198 |(MHEET  |&ETRE ik e RER 60 20 (=4
1588 | HFM4F11AI198 HEET |KREFARR i it RER 120 55 =353
1589 |SF4E11H208 [/MEFET |ALH raE e REER 80 20 (=4
1590 |[{#4F11R198  |/hERT 8K ki L RER 150 120 =353
1591 |4f4F11A218  |(FERERT  |& ik e RER 120 60 (=4
1592 \{F44E11R198 | ZJIHT =i i it RIER 130 58 =353
1593 | 4411 A258  |(#AHEHET % ik [ RER 50 15 (=4
1594 \{f44F11H258  |(HAHEET & ki it RIER 45 14 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1595 \{f44F11H228 |(F8RM  |[F5 ki L RRER 108 16 =353
1596 |wHM4E11A24R  |(RBRET |75 ik [ RRER 130 100 (=4
1597 \{f44F118238 BN+ Boa ki L RIER 70 40 =353
1598 |4 M4F11A258 |BEXKH SR ik e RLER 123 55 (=4
1599 | HM4F11A158  |(FREEW |/ R i L RIER 103 25 =353
1600 |Hf44F11H268  |LUJLHT e ik e BB 70 15 (=4
1601 |[{#44E11A280 |/hpERT |AR wmE | FBH| mR 85 25 =353
1602 (4f44E11A288 [/hEET |RII ik [ R EK 80 20 (=3
1603 |RF44E11H288  |HRHHET #/0 ET L RIER 90 22 g
1604 | HFM4F11A298 | KREHT FIR ik [ RIER 80 20 (=43
1605 | #44E12A58 KHHET = i it RRER 120 80 =353
1606 |wF44F12A2H FERT |75 ik e RRER 90 40 (=3
1607 | #4412A58 ANF Boa ki it RRER 130 50 =353
1608 |HF44FE12A6H EX L F ik Bt RRER 115 35 (=4
1609 |F44E12A68 BARH L35 i L RRER 115 40 =353
1610 |Hf44F12A6H ITF4:) mR ik e RRER 90 30 (=4
1611 |%HM44E12A58 KHHET = i L RRER 140 90 =353
1612 | f44E12A8H ¥AE BT % ik e RER 60 20 (=4
1613 |%HM44E12A78 FBRT  |F5 i it RRER 100 35 =353
1614 |5HM4E12A10R  |(HERT [BREFAR ik e RRER 100 30 (=4
1615 ||F4F12A118 | KT FrE bk L 4ER 60 7 =353
1616 |wHM44E12A12A | MREWFT |[BH T 3 R EK 80 12 (=4
1617 |Rf44F12R148 | KT = bk L RIER 110 45 =353
1618 |wHM44E12A16R |(HERT |REFWUL ik Bt RRER 150 100 (=4
1619 ||#4F12R178 |(F8RT  |F2 bk it RER 80 23 =353
1620 | SF44F12A258 |(MHEET  |&ETRE ik [ RRER 80 25 (=3
1621 |&M4F12A258 |(HEEET |[EREHFWU i L RRER 85 25 =353
1622 | 4F12A258 |2 )IHT EELL ik e RER 120 50 (=4
1623 |Rf44F12R248 | KT FRE i L 4ER 60 5 =353
1624 | ©M4F12A260 |Z=HT e T 3 RIEK 113 60 51
1625 \{f44E12H288 | KIHHT = i it RIER 100 35 =353
1626 |=FM55E1R48 KT = ik e R EK 70 10 &1
1627 |55 1R48 mEMT  |PiE T L 4ER 1 1.5 g
1628 |55 1A2R BEXH kT mE | FH| EE 123 60 (=4
1629 |&fM4F12A308 |(FREEW |/ R bk it RRER 90 15 =353
1630 |SH4F12A278 |(BEBEM  |(H/A ik Bt REER 140 80 (=4
1631 |SHM5E1ATH HERT  |[RETRE i L RER 100 35 =353
1632 |=M51A8RH BEXH wEH ik [ RER 100 60 (=3
1633 |55 1R8H KIHHT 1]z i L RRER 110 45 =353
1634 | MSE1A11H BEX €iR ik e RER 80 20 (=4
1635 |5 1R158 PR HET & ki L RIER 87 26 =353
1636 |=M5SE1ATH FERT |BK ik Bt RRER 145 75 (=4
1637 | %5 1ATH FBRT |BR i L RRER 135 64 =353
1638 |wMSEF1A1TH KT =E ik [ RRER 140 90 (=4
1639 |SHM5E1R148 = JI1HT = i L RER 100 40 =353
1640 | HHS1A1TH HERT  |RRIR ik Bt RER 100 30 (=4
1641 |55 1R188 KHHET KHHET i it B 60 7 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1642 | SH5E1R198 HERT  |[RETRE b it REER 100 40 =353
1643 |HMSE1A218 BEX L ik e RER 100 25 (=33
1644 | F541R228 KHHET FrE i it REER 120 65 =353
1645 |HHMSE1R228 KFHHT FRE ik Bt R EK 70 12 (=4
1646 |55 1R228 KHHET =R i it RIER 100 40 =353
1647 |5 1R228 AT | REHRE ik e RRER 100 35 (=4
1648 |5 1R228 HERT  |[RETRE i it RIER 140 70 =353
1649 |HHM5E1R248 KHEHT /i ik Bt RRER 120 60 (=4
1650 |54 1R248 HERT |[RETAR i L RRER 90 30 =353
1651 |HM5E1A258 KHEHT /M ik e 48R 60 8.5 (=4
1652 |5 1R268 KHHET FrE i it RRER 70 15 =353
1653 | M54E1A288 i gllks) B a ik e RRER 130 50 (=4
1654 |54 1R288 HRHET ERBHE ki it RRER 100 35 =353
1655 |MSE1RA298 ¥AE BT WHE2E ik Bt RRER 160 90 (=4
1656 | #1541 R308 KHHET FrE i L RRER 70 10 =353
1657 |M54E1A288 HERT  |REHR ik Bt RER 117 58 (=4
1658 | #1541 R308 HERT (KRR i L RRER 138 82 =353
1659 |HMSE1A318 BEXRH iR ik [ RRER 120 45 (=43
1660 |=#5%2A1H HERT  |[RETRE i it RRER 85 28 =353
1661 |=HM55F2A1R YAE BT % ik e RRER 80 20 (=4
1662 | #5%2R4H PR HHT & bk it RER 100 20 =353
1663 |=M55F2A6R FET E5R ik [ RRER 150 80 (=4
1664 | HHI55F2A68 ) ETRAE i it RRER 135 70 =353
1665 |wM55F2A8R MERT | LHT ik e RRER 130 80 (=3
1666 | F552RA8H —EHr —& i it RRER 135 80 =353
1667 |=M552ATH HERT  |[REHR ik e RRER 139 97 (=43
1668 | #552R9H PR HET ERHE i it RRER 110 35 =353
1669 |=FM55F2A9R AT | RETRE ik e RRER 100 35 (=4
1670 |=#5%2R138 HERT |[RETAR i L RRER 150 80 =353
1671 |=HM5E2RA118 KFHHT FRE ik e RIEK 70 12 (=43
1672 | %#5%2R118 ANF Boa b L RER 110 44.5 =353
1673 |=HM5E2A118 i gllks) Bra ik e RRER 100 40 (=4
1674 | SH5%2R148 HERT (KRR ki it RRER 124 70 =353
1675 |=M5%2RA158 AT | RETRE ik e RER 60 15 (=4
1676 |%#M5%2R138 FBRT (/A ki it RRER 100 18 =353
1677 |=M5%2R168 FET TE ik e REER 110 60 (=4
1678 | HM5%2R168 KIHHT 1]z i it RRER 130 80 =353
1679 |=M552R168 KT =E ik [ RRER 110 40 (=4
1680 |#5%2R178 HERT  |[RETRE i it RRER 150 120 =353
1681 |=HM552R178 ®=#Hh x4 T 3 RREK 114 50 51
1682 | #542R18H KHELET B AT A4 i L RRER 95 21 =353
1683 |wM5E2R198 YAE BT B ik Bt REER 100 30 (=4
1684 | F552R198 HERT  |REREFR i it RRER 120 70 =353
1685 |M552A208 )1 /7 HR ik e RRER 85 11.5 (=3
1686 |&#5%2A218 KHHET FrE i L RER 90 15 =353
1687 |=M52RA228 EX €iR ik e RRER 60 20 (=4
1688 | #5%2R228 HERT |[RETAR i L RRER 130 70 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1689 | #542R238 KHHET FrE i L REER 100 20 =353
1690 |M542RA238 YA BT i ik Bt R EK 110 25 (=4
1691 |55 2RA258 KHLET L i L REER 100 21.5 =353
1692 |M5%2A238 FERT  |BK ik Bt REER 105 20 (=4
1693 |=HM552R26H BAR LA i L RIER 95 18 =353
1694 |M5E2RA268 ¥AE BT % ik [ RLER 120 70 (=4
1695 | #M5%2R278 FERm |=/= i L RIER 115 40 =353
1696 |HM5E3IA3A HERT  |[REHR ik Bt RER 130 71 (=3
1697 |=HM543A5H HERT  |[REHFWU ki it RRER 70 20 =353
1698 |HMSE3A6H KEHT B/ raE 3 RCER 80 20 =353
1699 |RF54E3A12H FERT |=/E mE 3 52 3 90 18 (-4
1700 |HM543A12H FERm |=/E raE 3 RCER 90 17 =353
1701 |/#54E3A12H FERT |=/E mE 3 RCER 90 18 (-4
1702 |=M54E3A128 FERET (/A ik e R EK 110 30 (=4
1703 |&=#543R128 FBRT (/A i it RRER 110 32 =353
1704 |F54E3A128 FERT |75 ik e RRER 100 10 (=4
1705 | #543RA 148 FBRT  |F5 bk L RRER 13 10 =353
1706 |FM54E3A158 HERT |[REEHE ik Bt RER 140 65 (=4
1707 | #543RA168 BARH ik i it RER 105 35 =353
1708 | M54E3A208 KHEHT /M T 3 R EK 90 25 (=4
1709 | #543A208 KHLET P/ T it RER 95 30 =353
1710 |=M54E3A208 i gllks) Rora ik e R EK 122 75 (=4
1711 |5 HM543A238 BARET  |EL bk L RRER 110 30 =353
1712 | M54E3A 248 ELERAT =] ik e RER 100 25 (=4
1713 | HM543A278 HERT  |[RETRE bk it RRER 130 95 =353
1714 | 5M543A278 HERT |[RETFAR ik e RER 125 65 (=4
1715 |5 HM543A298 BARH L i L RRER 123 35 =353
1716 |=M543A298 i gllks) Rra ik e R EK 128 80 (=43
1717 |%#M5%4R18 HERT  |REREFR i it RRER 120 60 =353
1718 |=HM5E4A 118 AT | REHRE ik e RER 1356 70 (=4
1719 |5 HM554R168 HERT  |REREFR i it RER 130 70 =353
1720 |54 R188 AT | RETRE ik e 4ER 65 25 (=4
1721 | #M5%4R228 HERT |[RETAR ki it RRER 110 35 =353
1722 | %HM54R198 FERT |75 ik Bt RER 110 17 (=3
1723 | #M5%4R228 BEARET  |EL i L RRER 120 65 =353
1724 | 5544238 FERT |75 ik e RRER 90 15 (=3
1725 | #M5%4R238 FBRT  |F5 i it RRER 135 75 =353
1726 |HM54F4A29H LN L) & raE 3 RCER 60 25 =33
1727 | HM5%5R138 HERT  |RREH i it RRER 130 30 =353
1728 |HM54E5A15H MERT B raE 3 RCER 150 130 =33
1729 | H545R168 — =T —& i L B 51 5 =353
1730 |=HM54E5R188 KFHHT FRE ik e RREK 40 90 (=4
1731 | SH555R198 HERT  |RREH i it RRER 120 60 =353
1732 | M54E5R 208 AT | RETRE ik Bt FRER 100 35 (=4
1733 |H545R208 KHLET R i L RER 131 25 =353
1734 | %HM5E5RA218 BEET | RRIR ik Bt RER 120 55 (=4
1735 | H5%5RA228 HERT  |[RETRE i L RRER 70 25 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1736 |=HM545R248 HERT  |[REHFWU b L REER 100 40 =353
1737 | M54E5R 268 HERT |[RREH ik e RER 120 40 (=4
1738 | H545R268 ZEHT ) i L 48R 53 3 =353
1739 | M556RA4R KT 1 ik Bt R EK 120 45 (=4
1740 | F5%6A2H %187 I\NE i it RRER 136 60 =353
1741 |5 M5%6A2R BEET | RRIR ik Bt RER 120 58 (=4
1742 | 5H556R108 AR |RRIR i L RIER 125 60 =353
1743 |56 R 148 ¥AE BT % ik [ RLER 98 45 (=4
1744 | 5HI556R 148 — =T e i L 4ER 54 =353
1745 |56 R138 KFHHT FRE ik [ 48K 50 (=4
1746 |SH556R178 KHHET o i it RIER 130 80 =353
1747 | TM546A16H HARET  |BHL mE B 4ER 10 3.5 =353
1748 | SH556R178H MERT (RS ki it RRER 100 30 =353
1749 |56 R 188 AT | RETRE ik Bt RER 80 30 (=4
1750 | F5%6R158 HERT  |RRRH* i it RRER 100 40 =353
1751 |56 R198 FET E5R ET 3 48K 42 6 (=4
1752 | H5%6RA258 ANF BRora bk it RRER 110 22 =353
1753 |56 A258 KFHHET FRE ik e R EK 130 60 (=43
1754 | H5%6R268 KHHET FrE i L HER 60 5 =353
1755 | M54E6 A 268 MEET |EAF ik e RRER 110 45 (=43
1756 | #5%7R3H BARET  |EL i it 4ER 30 4 =353
1757 |55 7A2R HERT |[REXEH ik [ 4ER 90 40 (=43
1758 | #5%7RA2H HERT |[RESH i it 4ER 80 30 =353
1759 |5 TASAH KT 1 ik e R EK 90 25 (=3
1760 |=#5%7ATH KFHHET o i L RRER 80 20 =353
1761 |=M5%7A8A KFHET FRE ik [ R EK 50 7 (=43
1762 | F5%TR108 HERT |[RESH ki L 4ER 40 10 =353
1763 |=HM5ETA108 HERT |[REXEH ik e 4ER 40 10 (=4
1764 | SH5ETR138 KHHET o i it 4ER 60 7 =353
1765 |=HM5ETRA148 KFHHT 1]z LA m 3 RIEK 49 20 (=43
1766 |RF54ETA15H KIHHT 7RHEH mE 3 RER 60 10 (-4
1767 |=HM5ETRA168 KHRHET B R A ik e RRER 132 32 (=4
1768 |55 T7R18H FET TE i L HER 70 5 =353
1769 |=HM5ETRA208 KFHHET FRE ik Bt R EK 60 10 (=4
1770 |SH5%TR198 KHELET RE bk L RRER 88 12 =353
1771 | %HM5ETA218 HERT  |FARAR ik e RER 140 80 (=4
1772 | H5%7R208 HRET ] wmE (A R 120 40 =353
1773 |=M5%$TRA228 KFHHT 1]z ik [ BB 60 10 (=4
1774 |55 TRA238 FBRT  |F5 i it RRER 110 50 =353
1775 | HHI55TA23R KFHHT L ik e 48K 60 (=3
1776 |55 TRA268 FET TE i it B 70 =353
1777 |%M5ETRA248 FERET (/A ik Bt 48K 56 (=3
1778 | HM5%TR248 FBRN (/A i it 4ER 55 =353
1779 |=HM5ETA218 AT | RE/DR ik Bt FRER 125 75 (=4
1780 | #5%7R28H BAR L35 i it B 80 10 =353
1781 |=HM54ETRA30B KT L ik e 48K 50 5 (=3
1782 |R#54ETA30H KIHHT 7RHEH mE 3 RER 60 10 (-4




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1783 |H5%TRA298 ARET  |[RE=7 K b it 4Ek 80 8 =353
1784 |HSETA3B AT | REHRE ik e RER 110 55 (=4
1785 |=H548A1H HERT  |REPH b L RRER 120 49.5 =353
1786 |=HMSETA3E KFHHT 1]z ik Bt 48K 60 7 (=33
1787 | HM54%8A1H FET TE i L 4Ek 70 6 =353
1788 |HMS4E8A1R TiEH TE raE 3 4ER 90 8 =313
1789 | #548A1H FBRT  |F5 i L RIER 105 40 =353
1790 |FM54E8A1R 2118 I raE 3 $ER 40 15 =33
1791 |=HM548A1H HERT  |RRRH ki it 48k 40 10 =353
1792 | M548A3R KHEHET BAR ik e RER 75 17 (=43
1793 |R#M548A6H ¥AEHHET & mE 3 54 3 50 10 (-4
1794 | F558A6R KT = ik e R EK 70 10 (=4
1795 | #548RA3H %187 R i it RER 128 52 =353
1796 |HMSEBATH TiEH TE raE 3 RRER 85 12 =453
1797 | H54%8R108 FET = i it RRER 120 38 =353
1798 |HF548A10H KFHHET H raE 3 %8R 60 1 =353
1799 |&H548R 148 HERT  |KRR/DR i L 4ER 60 15 =353
1800 | HISEF8A16R KFHHET i ik Bt 48K 60 (=4
1801 | #548RA208 HERT  |KRR/DR bk it 4ER 90 =353
1802 |=HM54E8RA 188 ¥AE BT % ik e RER 120 70 (=4
1803 | F548RA19H KHLET B AT A4 i L RER 135 54 =353
1804 |F5E8A198 KHEHT BRE ik Bt 48R 80 8 (=33
1805 | #548R18H KHLET P/ bk L RRER 128 35 =353
1806 |=HM5E8A198 KHEHT FiR ik Bt %ER 75 7 (=33
1807 | F548RA 198 KHLET RE i L B 78 8 =353
1808 | M55E8A208 KT L ik e 48K 60 6 (=4
1809 | #548RA20H KHELET BAR i it 4B 88 8 =353
1810 |=HM5E8A218 YAE BT % ik e RER 100 40 (=4
1811 | #548RA208 KHELET BAR i L HER 90 =353
1812 |M54E8RA208 KHEHET BAR ik [ 48K 90 2§
1813 | H548RA 248 KHELET B AT A4 b it RER 127 34 =353
1814 |5FM54E8A 268 YA BT % ik Bt RER 140 70 (=4
1815 |R#54E8A23H —EHr HhE mE 3 RER 817 12.5 (-4
1816 |=M55E8A238 Z=EHr —& ik Bt R EK 107 30 (=4
1817 |R#54E8A26H —EHr HhE mE 3 RER 15 10 (-4
1818 | HISSF8A2TRH —E=ir e ik e 48K 68 (=4
1819 | #548RA26H ZEHT e i it HER 69 =353
1820 |=HM54E8A27H % )I1HT hERFINE ik [ RRER 132 42 (=4
1821 | #548RA28H HERT  |RRRH i it RRER 70 20 =353
1822 |M54E8A 28R AT | RRRH* mE | FH| BE 70 28 (=4
1823 | H548A25H HERT  |RE/DH i it RRER 60 30 =353
1824 | F54E8A308 KT = ik Bt RREK 90 20 (=4
1825 |H548RA31H KHLET B AT A4 i L] RRER 115 43 =353
1826 | HM5E8A30R HERT |REDEH ik Bt FRER 140 39 (=4
1827 |®#54E9A2R MERET |ER mE 3 RER 100 40 (-4
1828 |HHM5E9A1R BEET  |[REESK ik [ R EK 110 35 1%
1829 | #559R4H KFHET FRE i L RRER 100 30 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1830 |&=#559A5H KHHET FrE i L REER 80 15 =353
1831 |HHM5E9IASH KHEHT FIR ik e RRER 95 20 (=33
1832 |54 9A5H KHLET FiR i it RRER 96 20 =353
1833 |HM549A8AH KHEHT FIR ik e RER 130 34 (=4
1834 | H559R 128 HERT (KRR i L RIER 130 66 =353
1835 |HMS49A13H HERT |[REEHE ik Bt RRER 90 35 (=33
1836 |HHM5E9RA 148 HERT  |[RETRE i L RIER 100 40 =353
1837 |HMS549A15H HERT |[REEHE ik Bt RRER 125 65 (=4
1838 |H559RA16H HERT  |RRRH i it RRER 10 40 =353
1839 |HMS4F9A15H MEET  |RAF ik e RRER 130 60 (=43
1840 |F559RA 198 BAR wEH i it RRER 76 10 =353
1841 |HF54F9A19H BEXH e ik e RRER 76 10 (=3
1842 | 5F559R18H KHHET FRE i it RRER 100 20 =353
1843 |HT54F9A18H KFHHT FRE ik e RRER 100 25 (=4
1844 | FI559R 198 — =T e i it RRER 90 10 =353
1845 |HFN54F9A20H FET TE ik Bt R EK 90 16 (=4
1846 |HF559A218 KHHET = i L RRER 110 25 =353
1847 |HF549A21H KHHET HRE ik e R EK 98 25 (=4
1848 | H559A25H KIHHT 1]z i it RRER 120 45 =353
1849 | HTN54F9A24H i gllks) Br# ik e RRER 120 48 (=43
1850 | F549RA26H —EHr e i L RRER 107 21 =353
1851 |HFN54F9A25H I’y =% ik e RRER 95 45 (=4
1852 | F549A28H BARH L35 bk L RRER 12 28 =353
1853 |HF54F9A28H MEERET AR ik e RIER 120 40 (=4
1854 |5 F549R28H KHHET =R i it RRER 90 25 =353
1855 | HFNS4F9A29H KFHT FRE ik e RRER 100 25 (=4
1856 |F549RA29H KHHET =R i L RRER 110 30 =353
1857 |HFN54F9A30H KT =E ik e RRER 130 85 (=4
1858 | F549RA 298 HERT  |RRRH i it RRER 120 40 =353
1859 | HFN54F9A30H AT | REHRE ik e RER 120 65 (=4
1860 | #5410A28 PR HHT & i L RIER 60 20 =353
1861 |wHM54E10A2H KT =E ik [ R EK 90 15 (=4
1862 | #5410A3H FERM |=/ = ki it RRER 100 24 =353
1863 |wH54E10A3H FERERT |=/8 ik e RER 100 15 (=3
1864 |F5410A3H FERM |=/E ki it RRER 100 15 =353
1865 |wH54E10A3H FERERT |=/8 ik e RER 100 15 (=4
1866 | F5410A48 KBEHET &R i it RRER 85 10 =353
1867 |wH54E10A5H YAE BT % ik Bt RER 80 30 (=4
1868 | F5410A5H HERT  |[RETRE i it RRER 120 65 =353
1869 |wH54E10A5H AT | RETRE ik e RER 120 65 (=3
1870 |&#5410ATH HERT  |[RETRE i L 4ER 60 7 =353
1871 |HT54E10A6H MEFRET AR ik e R EK 95 38 (=3
1872 ||#54E10R108 |—=Hr e ki it RRER 100 20 =353
1873 |T54E10A8H MBEEREMT (BRI ik Bt R EK 70 20 (=4
1874 |SF5E10A118  [/hAERT  |#1)II ki it RRER 120 40 =353
1875 |RHISFI0A1NIE  |(HHEET  |[&X/NF ik e RRER 100 50 (=4
1876 |{f5410A148 |“=HT e ki L RIER 97 25 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1877 ||#M5E10A13R  |/hERT  |F1II ki it RRER 120 38 =353
1878 |HMSE10A13A |(HEERT |REEW ik Bt RER 130 85 (=4
1879 |&HM5E10A13E HEEET |[RE=7K ET L REER 123 100 =353
1880 |WFNSLF10A168 | KHHT 1 ik [ RLER 80 20 (=3
1881 |{#54E10A168 |—=Hr HhE bk it RIER 118 70 =353
1882 | HHISFI0A15E |(REBEM (/A ik Bt RER 102 74 (=4
1883 |RF54E10R168 |FAlRET |EF i it RIER 60 20 =353
1884 \SHISFI0A16E |(REBEM (/A ik [ RRER 90 12 (=3
1885 |HFMSFI0A17TE  |(FREW |/ R i L RIER 140 85 =353
1886 |HHMISF10A218  |(MHEET |EETRE ik [ RRER 90 35 (=4
1887 |&#M5F10A228 (MHEET |[RETRE i L RRER 100 40 =353
1888 |4#54E10A22A |/hEERET  |RJI ik e RER 80 25 (=4
1889 |/#54F10A218 |FARET |EF ki it RER 100 20 =353
1890 |HFNSEF10A25H | KFHT FRE ik Bt R 130 90 (=4
1891 |55 10A288 |(#HAEET |[RERH* i it RRER 100 40 =353
1892 |4FN54F10A28A |HAREET |ETF ik e RRER 60 20 (=4
1893 |&HM5F10A298 |HEEET |[REIIR i L RRER 80 24 =353
1894 |HFNSEE10A308 | KFHT = ik e RIER 100 30 (=4
1895 |/ #N54E10R298  |FFNIF BT H b L RIER 112 55 =353
1896 |wHSF11A1H HERT  |RRIR ik Bt RRER 130 60 (=4
1897 |&HM5SE11A1E HERT  |[REHFWU i it 4ER 60 9 =353
1898 |HSEF11A1H ZEHr —& ik Bt RRER 110 35 (=4
1899 | HHSE11A1E KHHET FRE i it RRER 130 85 =353
1900 |HF54E11AS5H HERT  |[RERH ik e RER 125 80 (=4
1901 |&#5411A58 HERT  |RRRH bk L RRER 80 25 =353
1902 | 5411 A2H AT | REHRE ik e RER 85 28 (=4
1903 |5 11A28 HERT  |[RETRE ki it RER 130 65 =353
1904 | 5411 A2H AT | REHRE ik e RRER 85 25 (=4
1905 |&F5%11A28 KHHET o i it RIER 110 40 =353
1906 |wHM5411A2H KFHHT FRE ik [ RER 70 20 (=43
1907 |&=#5%11A48 KHHET = i it RRER 80 20 =353
1908 | 5411 ASH KFHHET FRE ik [ RRER 80 30 (=4
1909 |5 11A28 KHHET FrE i it RRER 80 25 =353
1910 |HM5411A5H —EHT -= ik e RRER 101 20 (=4
1911 | S5 11A68 ZEHT HhE ET it RRER 102 40 =353
1912 |51 A4H HERT |[REDEH ik e RER 130 30 (=4
1913 |SHM5%11A8H HRET ] i L RIER 100 25 =353
1914 |HM5411A8H KT = ik [ RRER 120 70 (=4
1915 ||F5E11A108 | KT = bk L RIER 120 80 =353
1916 | RMSEFENANA | KHHT 1]z ik e RLER 110 60 (=4
1917 |HMSFE1MAI1I0B  HEEET |[RETRE i L RER 65 28 =353
1918 | SFISF11A12B  (HERT |&RRIIR ik Bt REER 100 25 (=4
1919 |[|#M5FE11A12B |/hERT |/ ki L RRER 120 40 =353
1920 |wHM5E11A14R  |BIIH Boa T 3 BB 140 70 (=4
1921 |HMSFENMARE MHEEET |[REIR i it RER 85 20 =353
1922 \SFISFI11A13E  (HERT |&RIIR ik Bt RRER 78 16 (=4
1923 |{fM5F11A148 | FFH TE ki it RIER 110 20 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1924 \|M54E11R148 | KREHT hE ki it RIER 121 25 =353
1925 \HMSEF11A148 | KREHT HhE ik e R 110 20 (=4
1926 |HFMSF1MAISAE HEEET |[REIR i L 48R 76 15 =353
1927 \4M5&F11A15A |BEXH L ik [ RER 60 15 (=4
1928 ||#M5E11A16B |/ERT (AR bk it RIER 75 20 g
1929 \{MSEFENAITA | KREHT HhE ik [ RLER 1M 50 (=4
1930 ||FSFEN1A1TA | KHHET =R i L RIER 130 95 =353
1931 \{MSF1MA21A | 2=l B ik [ R 158 90 (=3
1932 |[®#M5FE11A218  [/ERT (R bk it RRER 110 10 =353
1933 | HM5E11A22A  |[HERT |BEHR ik [ RRER 120 50 (=4
1934 |HHMSF11A2E MHEEET |[RETRE i L RRER 65 28 =353
1935 |HFSF11A218 |(HEET  |&EXTRE ik [ RRER 65 28 (=3
1936 |HHMSFIMA21E  HEET |KREFARR i L RRER 65 28 =353
1937 |HMSF11A23A | KREHT B R A ik [ RLER 130 40 (=4
1938 |{FM5F11A23A |FAlRET |EL ki it RRER 110 20 =353
1939 | HHM5E11A24R |(HERT |BREFAR ik Bt RRER 155 97 (=4
1940 |HF5E11A268 |(HERT KREFHR i L RRER 108 48 =353
1941 \§MSF11A2I1A | F&EH T&ER ik Bt RER 140 85 (=43
1942 | SH5F11A288 |HEEET |[KREHFWU i it RRER 112 67 =353
1943 | SHSF11A298  |(MHERET  |&ETRE ik e RRER 91 32 (=4
1944 | 5F5%12A28 BARET  |ET i it RRER 60 11 =353
1945 | F54E12A1H FERAT A T 3 RIEK 101 35 51
1946 | SF5%12A38 PR H ET & ki L RIER 80 15 i g
1947 |HH54E12A6H KT =E ik Bt RRER 120 70 (=4
1948 | H5%12A68 PR HET & ki L RIER 140 105 =353
1949 | HH54E12ATH KT = ik [ RRER 140 80 (=4
1950 | #5412A98 KIHHT 1]z i it RRER 160 95 =353
1951 |wfN54E12A8H FERHAT /iR T 3 RREK 84 30 5%
1952 |F5F12A128 MHEEET |[RE/DR i it RRER 125 67 (3
1953 |HM5E12A1TR |[HERT BEFHRE ik e RER 123 58 (=43
1954 \&f54F12R238  |HNIF Boa bk L RIER 100 60 =353
1955 | wFN54F12A248  |(#AHEHET WHE2E ik e RER 70 25 (=4
1956 |({F54FE12R248  |(HAHHET ERBHE i it RIER 140 85 =353
1957 |#054E12A25R  |[HHERT |[®&EHR ik Bt RRER 90 34 (=4
1958 |&#M5F12A268 |(HEET |[RE=7K bk it RRER 90 16.5 =353
1959 |4f5412A22A |/NEHRET |AIE ik e RER 130 90 (=3
1960 \RF54F12H268 | KREHT L i L RIER 105 16 =353
1961 |wHM54E12A28R |MRHT |BH ik e RER 120 70 (=3
1962 |RF54F12R308 | KT = bk it RIER 100 40 =353
1963 |RMSEF12A31HA | KHHT = ik [ RLER 160 110 (=3
1964 |[|#M5F12A31A |[MEMT |BH i it RRER 90 25 =353
1965 |4f5412A298 |/hERET  |AE ik e RER 110 30 (=4
1966 |({#M5E12A298 [/hERT (R ki L RRER 130 60 =353
1967 | M6%E1A2R HERT  |[REHR ik Bt RER 135 84 (=4
1968 |=#651RA3H HERT  |[RETRE ki it RRER 95 21 =353
1969 |HM65E1A48 BEET | RETRE ik e RRER 115 45 (=4
1970 |64 1R48 FET TE i L RRER 160 105 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
1971 |64 1R48 KHHET FrE i L REER 130 100 =353
1972 | M65E1R48 KFHHET FRE ik e RRER 100 70 (=33
1973 |64 1R48 FERT |ERK i L REER 156 80 =353
1974 \SHISF12A318  |(BEBEM (/A ik e RRER 128 30 (=4
1975 |%HM65E1RATH MERT R ki L RIER 95 40 =353
1976 |=M6E1A8H AT | REHRE ik Bt RER 60 20 (=4
1977 |65 1R8H HERT  |[RETRE ki L RRER 60 20 =353
1978 |=M6E1A8H HERT |REEHE ik Bt RRER 125 60 (=3
1979 | SHM6E1A11E HERT  |[RETRE i L RRER 115 55 =353
1980 |FFM6F1A10H HARE |HL ik e RREK 50 40 (=3
1981 |H651R108 BARET  |EL i L RIER 50 35 =353
1982 |61 A10H HARE |HL ik e RREK 50 40 (=3
1983 |H6E1R108 BARET  |EL ki L RRER 50 40 =353
1984 |61 A10H HARE |HL ik e RER 120 65 (=4
1985 | HI65E1R158 KHLET P/ i it RRER 96 13 =353
1986 |6 1H16H FET =ik ik Bt RRER 100 20 (=4
1987 | H6%E1R158 MERET | AR bk L RRER 140 100 =353
1988 |HFM6F1A15H MEET | AF ik Bt RRER 135 80 (=4
1989 | H64E1R198 PR H ET & bk L RIER 120 45 g
1990 |f6£E1H20H ¥AE BT % ik [ RER 80 25 51
1991 | #M6%1R228 HERT (KRR i it RER 80 24 =353
1992 | 64F1H22H HERT  |RRIR ik e RER 75 22 (=4
1993 | HM6%E1R248 BARH iR i L RRER 90 40 =353
1994 | HM64E1H26H KFHHET 1]z ik e RRER 110 45 (=4
1995 | H6%E1R268 ®=HH B ET it RRER 82 30 g
1996 |wM6F1A27H i gllks) Boa ik [ BB 85 15 (=4
1997 | HM6%E1R278 ANF Boa i it RRER 120 23 =353
1998 |HF6F1AH27H i gllks) Boa ik [ RRER 105 23 (=43
1999 |61 R278 ANF Boa i L RRER 130 57 =353
2000 |=FI6£E1A25R HERT  |RRIR ik [ RER 98 22 (=3
2001 |HFI6£E1A 298 HERT |[RETAR i it RER 105 38 =353
2002 |mFI6£E1A26R EJ1) —2B ik e RRER 125 60 (=4
2003 |wFI65E1A 298 BERET  |$RAR ki L RRER 100 70 =353
2004 |mFI6£E1A29R HARE  |HL ik e R EK 60 20 (=4
2005 |HFI652A3H BEARET  |ET i it RRER 60 21 =353
2006 | SFI6E2A3BE HARE  |ET ik Bt R EK 65 23 (=3
2007 |FI65E2A18 BEARET  |EL i L RRER 120 15 =353
2008 | HFI6E2A3B HERT  |RRIR ik e RRER 100 30 (=3
2009 |HFI652A58 BEARET  |EL i it RRER 100 25 =353
2010 | HFI65E2A58 FIET TE ik Bt RRER 163 100 (=3
2011 | HFI652A68 KHLET B/ ki it RRER 105 16 =353
2012 |wF6£2A108 ELARAT HiR ik e REER 150 70 (=4
2013 |RHFI652A98 KHELET RE i it RRER 133 30 =353
2014 | HF6E2A98 AT | RETRE ik Bt RER 95 28 (=4
2015 |HFI652A8H HERT |KRRIIER ki L RER 110 34 =353
2016 |wF6£%£2A13R FERT |=/8 T 3 R EK 142 75 (=4
2017 |F#16£2A13H PR HHT & i L RER 90 28 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2018 |wFI6£E2A13H FBRN (/A b it REER 120 20 =353
2019 |SFI64£2A13R HERT  |RRIR ik e RER 90 22 (=3
2020 |wFI65E2A15H BARET  |EL e it REER 110 70 =353
2021 |SFI64E2A16R HARE |HL ik Bt REER 100 20 (=4
2022 |wFI65E2A18H BARET  |EL i L RRER 140 90 =353
2023 |SI64E2A16R HERT |[REXE5H ik e RRER 90 25 (=33
2024 \wFI65E2A 198 HRET ] e L RIER 50 10 =353
2025 |SFI64E2A19R —EHT g T 3 R EK 92 55 (=3
2026 |wFI65E2A 198 ZEHT ne ET it RIER 102 70 =353
2027 |55FI64£2A20R MEERET MY ik e RRER 110 40 (=43
2028 |\wFI642A21H MEEFRT (R i L RIER 90 20 =353
2029 |FI64E2A21R MEET |RAF ik e RRER 70 20 (=3
2030 |wFI64E2A 241 KHLET R i L RRER 85 22 =353
2031 |F64E2A24R KHHET HhE ik 3 R EK 87 23 (=3
2032 |wFI64E2A 2418 FET TE i L RRER 140 60 =353
2033 | fI64E2A24R FET T&ER ik e RRER 125 50 (=4
2034 \wFI64E2A28H MERT R i it RRER 100 40 =353
2035 |HHI6E3A28 KHEHT B R A ik Bt RER 149 61 (=4
2036 |HFI65E3A28 BARET | EHE i it RRER 50 10 =353
2037 |HF6E3A3A MEET |EI ik it RER 125 60 (=43
2038 | HFI65E3A48 FET TE i it RRER 120 55 =353
2039 | HF6E3A4B HERT  |[RERH ik e RER 140 60 (=4
2040 |HFI65E3A3E HERT  |[KREHFWU i it RRER 110 45 =353
2041 | HFI65E3A3E i gllks) Boa ik e RER 100 30 (=3
2042 | HFI65E3A5H KFHHET FRE i L RRER 110 45 =353
2043 | HF6E3A4B HARE  |HL ik e R EK 70 20 (=4
2044 | SFI65E3ATH —EHr HhE i it RRER 13 30 =353
2045 | GFI65E3A8H HERT  |[RERH ik e RRER 90 30 (=43
2046 |HFI6£E3A 108 PR H ET & i it RIER 110 70 =353
2047 |5FI64£3A10RH ¥AE BT % ik [ RER 80 40 51
2048 \HFI6£E3A11H — =T e i it RRER 123 40 =353
2049 |SFI64E3A13R MEET |EI ik Bt RRER 120 50 (=4
2050 |wFI64E3A12H MERT (A i it RRER 140 70 =353
2051 |FI64E3A12RH HERT  |[RERH ik Bt RER 140 70 (=3
2052 |HFI64E3A14H HERT  |RE=HF ki it RRER 95 19 =353
2053 |FI64E3A15H HERT |[RETFAR ik Bt RER 110 40 (=4
2054 |HFI64E3A1TH BARH HRiR i it RRER 118 40 =353
2055 |FI64E3A1TRH EX L8R ik e RRER 112 35 (=4
2056 |HFI6£E3A1TH KHHET FrE bk L RRER 140 85 =353
2057 |FI64E3A15H ITF4:) X RE ik e RRER 100 30 (=3
2058 |HFI6£E3A1TH (1Tp14: Ul i L RRER 140 15 =353
2059 |FI64E3A18H KT L ik e RER 150 100 (=3
2060 |wFI6£E3A21H HERT  |KRR/DR i it RRER 80 15 =353
2061 |LFI643A21RH MEET |EI ik Bt RRER 100 50 (=4
2062 |wFI64E3A22H MERT RS i L RRER 90 20 =353
2063 |LFI64E3A22R HERT  |RRIR ik Bt RER 94 28 (=3
2064 |FI6£E3A23H HERT  |[RETRE i it RRER 90 25 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2065 |wFI64E3A23H BARET  |EL i L REER 95 15 =353
2066 |FI6£E3A27H YA BT % ik [ RER 100 50 (=4
2067 |wFI64E3A31H KHLET BAR i L REER 133 36 =353
2068 |FI6£E3A29R BEET | RRIR ik Bt RER 105 34 (=4
2069 |wFI6£E3A31H HERT  |[RETRE i it RIER 125 70 =353
2070 |FI6£E3A31R AT |[RE=EH ik e RRER 125 30 (=4
2071 |F164E3A30H ARET  |RE=H bk it RIER 92 15.2 g
2072 | HH6E4A18 /MBEEREMT (AR ik e R EK 115 40 (=3
2073 |HFI654A48 BARET  |$RAR bk it RRER 120 52 =353
2074 | HH6E4A4B HERT  |REHR ik Bt RER 90 22 (=33
2075 |HFI65E4A68 MEEFRT (R i L RRER 110 40 =353
2076 |HI6E4A5H KFHHT FRE ik [ R EK 90 40 (=4
2077 |HF654A68 KHHET =R i L RER 130 90 =353
2078 |FI65E4A58 AEET R/ ik e R EK 110 40 (=4
2079 |wFI64E3A28H MERT|RE i it RRER 115 40 =353
2080 | HFI65E4A68 BEET | RE=ESK ik Bt R EK 120 31 (=3
2081 |FI65E4A68 HRET ] ki it RRER 100 30 =353
2082 | HFI6E4A9B ERAT =] ik Bt RRER 90 20 (=4
2083 |HFI654A8H AR |RRIER i it RRER 90 22 =353
2084 |mF6£4A108 BEXH SRl ik [ RREK 119 35 (=4
2085 |wFI65E4A 108 BAR L i L RRER 140 70 =353
2086 |mF6FE4A14R HERT |[RETFAR ik e RER 115 55 (=4
2087 |HFI65E4A98 HERT  |[RETRE i it RRER 110 45 =353
2088 |mF6£F4A11R HERT |REHEH ik e RER 165 64 (=4
2089 |wFI65E4A 148 AR |RRIR bk it RRER 90 22 =353
2090 |mF6£F4A13R FERET (/A ik e R EK 110 28 (=4
2091 |HFI65E4A158 MAERFRH |[ER i L RRER 100 40 =353
2092 | HF6£4A19R KFHHT 1]z ik e RREK 110 50 (=4
2093 |FI65E4A25H BAR L i L RRER 116 33 =353
2094 \mF6£F4A27RH HARE  |SAE ik [ R EK 120 45 (=4
2095 |HFI65E4A25H HERT  |[REHR i L RER 140 98 =353
2096 |mFI6£F4A29R HARE  |HL ik Bt R EK 95 20 (=4
2097 |HFI65E5A58 ANF Boa i L ER 40 3 =353
2098 | LFI65E5A48 EX L E ik [ RRER 63 40 (=3
2099 | HFI64E5A48 BAR LA i L 4ER 132 41 =353
2100 | HFI65E5A28 BEET | RRIR ik Bt RER 95 26 (=4
2101 | HFI645A58 ANF Boa i L 4ER 40 3 =353
2102 | HF65E5A28 —EHT B ik e R EK 120 30 (=3
2103 |RFI655A68 MERT |REII i it RER 115 50 =353
2104 | HFI65E5A8H KFHHT 1]z ik Bt R EK 120 60 (=3
2105 |HFI65E5A98 KHHET = i it RRER 90 25 =353
2106 |=F6£E5A108 HARE  |ET ik Bt R EK 70 25 (=3
2107 |=FI645A108 HRET B i L RIER 125 40 =353
2108 | wF6£E5A12R KT = ik [ R EK 90 20 (=4
2109 |HFI64E5A 148 HERT  |[REHFWU i it 4ER 95 25 =353
2110 | wF6£E5A17H KFHHET =] ik e RRER 100 35 (=4
2111 |HFI645A18H KHHET = i L RRER 80 20 =353




5 %RA T S RIBm HREKE |43 | RERERS | AR (m) | FEKe) REHR
2112 |&F1645A17RH B|ERTm |[REFRR e 3 77218 125 70 (=X
2113 |5FN64E5A23R AFHT 7rH i [} b0 LN 100 40 fatt
2114 |&F1645H26R HERTm |[REFKR e 3 77218 125 65 (=X
2115 |¥FN64E5A29R —EH B % 3 RRER 138 40 (=413
2116 |&F1645H29R B|ERTm  |[REFKR g i3 ik 85 25 (=X
2117 |$sf164&E5R830R —EHr B i i3 ek 129 50 [(=1):3
2118 |&F1645A30R KHEET hE e i3 $hEk 65 8 (=X
2119 |$sf164E5830R KE&HET RE i 3 ER 65 8 [=1):3
2120 |&F1645A30R KHEHET hE e i3 hEk 65 8 (=X
2121 |$f64&E5830R KE4HET RE g 3 hER 65 8 [(=1):3
2122 |&F1645A30R KHEHET hE e 3 Sk 65 8 (=X
2123 |F64E5A31R —=EHmr —f HE 3 b0 LN 64 5 (=413
2124 |&F656R1H PR 1) RaE e ;3 RRBR 110 40 (=X
2125 |$sf1646R4R8 —=Hr —f 74 m o HE 56 3 [(=1):3
2126 |sTN64F6H6H & R ET BAR HE 3 FCER 145 45 -3
2127 |5F65E6ATH PN 1) 25 % 3 RRER 100 40 it
2128 |&xF1646RATH PR 1) Ra g :3 HhEk 50 4 (=X
2129 |HSFI64E6ATH RH4ET E5 % i3 ek 50 4 [=4):3
2130 |$&x#1646RTH RELET hE g 3 RCBR 115 40 (=X
2131 | 5646 A9E RH4ET E5 % 3 RER 100 30 [(=1):3
2132 |&x#1646R9H PR 1) RaE g 3 RCBR 100 30 (oY1
2133 |sF646ATH MART |AREII HE [} RRER 110 50 fatt
2134 |$xF646R8H tLiE BT &#E e 3 RCBR 120 50 (=X
2135 |$FfI6E6R17R RH4ET AR i i3 ek 50 2 [(=1):3
2136 |HF1646A17H KHEHET BAR e :3 HhEk 50 2 (=X
2137 |Sf6E6R17R RH4ET AR i 3 ek 50 2 [(=1):3
2138 |&F1646A17H KHEHET BAR e )3 HhER 50 2 (=X
2139 |5F6FE6A19R —=EHmr —f HE 3 b0 LN 12 5 (=413
2140 |&F1646H20R KFHET -] e ;3 HhEk 60 7 (-4
2141 |5 f6£E6R822R RH4ET 25 wE 3 ek 60 2.5 [(=1):3
2142 |5F6E6A22H AR B HE [} FCER 125 50 -4
2143 |[SF64E6H27H —EHr = % B HhER 67 2 =43
2144 |&F1646A27H KFHET L] e 3 HhEk 70 5 Rt
2145 |5FN6FE6H29R R FHET BTE e [} RRER 120 35 B
2146 |&F1646A30R KIHHT FRHE e 3 HhER 50 5 Rt
2147 |SH6ETA1H INAERET B e 3 RRER 125 60 (=4::3
2148 |&xF1647R3AH — =T hE g ;3 $hEk 68 5 Rt
2149 |SF6£ETH6H INAERET B e 3 RRER 100 40 (=4::3
2150 |$&xF1647R8H PR 1) hmE g 3 RCBR 110 35 Rt
2151 |64 7A8H KRBT RE i 3 AR Bk 110 35 (=33
2152 |&#64£TR9A8 tLiE BT s#E e 3 RCBR 120 45 (=X
2153 |SF64TH8H 1iE(d:i) HEN HE [} RRER 110 40 (=4::3
2154 |&FI647R9A8 PR 1) RaE g ;3 RCBR 120 65 Rt
2155 |3FN6ETA10R R E4HET /M e [} RRER 110 40 (=4;:3
2156 |&FI647A10R KHEHET /N e ;3 HhEk 50 3 Rt
2157 |56 TAIE RH4ET 25 wE i3 RRER 120 65 (=33
2158 |&FI647A10R KHEHET /N e )3 HhEk 50 3 Rt




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2159 |HFI6£TA108 KHLET P/ i it 48R 50 3 =353
2160 |FI6£ETA108 PN /M ik e 48R 50 3 pEfE
2161 |HF6£ETA11RH AR |[RE=7 K i L RIER 160 144 EtE
2162 | wF6£ETA12R BEET | RRIR ik e RER 120 3 PRt
2163 |RFI6£ETA11RH KHLET RE i it RIER 60 10 =353
2164 | HF6£ETA13R MEET (R ik e RRER 115 60 PRt
2165 \RFI6ETA11H KHLET FiR i it 4ER 60 4 =353
2166 |HHM6FETA1B KHHET iR ik [ 48R 60 4 pEfE
2167 |"FI6£TA13H KHLET RE i it 4ER 60 7 =353
2168 | HFI6£ETA13R KHEHT BRE ik e 4ER 60 7 pEfE
2169 |HFI6£ETA14H KHHET FrE i it 48R 60 5 =353
2170 |HF6£ETA148 KFHHET FRE ik [ 48K 70 6 pEfE
2171 | HF65ETA 148 FERM |=/= i it 4ER 60 7 =353
2172 |[F6£ETA168 KHHET B R A ik Bt RRER 130 80 PRt
2173 |HF6£ETA1TH MEEFRT (B i L RRER 80 15 =353
2174 |[HF6£ETA18R KT =E ik e RRER 110 20 PRt
2175 |HF65£TA18H MERT (RS bk it RRER 110 30 =353
2176 |HF6£ETA19R KFHHET FRE ik e R EK 70 15 PRt
2177 |HF6£ETA198 MEEFRT (B i L RRER 120 60 =353
2178 |wF6£ETA20R MBEEREMT AR ik e 48K 60 5 PRt
2179 |65 7AH208 MEEFRT (B i it B 50 5 =353
2180 | mFI6£ETA24R KHEHT BRE ik Bt 48R 70 10 PRt
2181 \wFI657A21H FERM |=/E i L RER 115 50 =353
2182 | wF6£ETA3IR ¥AE BT % ik [ RER 65 10.5 PRt
2183 |wFI6£TA3IRE — =T —& i L RRER 83 15 =353
2184 | THI6E8A1H KFHET FRE ik [ RER 150 100 PRt
2185 | HFI658A1H KHHET o i it RRER 80 15 =353
2186 | LHI6E8A3A —EHT B ik Bt R EK 80 12 PRt
2187 |HFI658A5H MEEFRT (B i L 4ER 70 =353
2188 | HHI65E8A5H MEET RN ik e 48K 70 PRt
2189 | HFI658A2H FERM |=/= i L RRER 130 50 =353
2190 | HFI65E8A6H FBRET (/A ik e 48K 70 9 Pt
2191 | HFI658A6H FBRN |/ A i it ER 70 9 =353
2192 | HH6E8ATH FERET (/A ik e 48K 70 10 Pt
2193 | HFI658A8H MERT R i it 4ER 70 Rt
2194 | TFI658A8H MEET | AH ik e 48K 70 PRt
2195 | HFI658A9H KIHHT 1]z i L RRER 110 40 =353
2196 | LFI6E8A9IR YAE BT % ik [ RER 60 15 pEfE
2197 |HFI6£8A 108 KHELET RE bk it HER 70 8 =353
2198 | HF6£E8A10R KHEHET BRE ik Bt 4ER 70 8 pEfE
2199 \HFI64E8A11H MEERT (RS ki L RRER 100 40 =353
2200 | mFI6£E8A11RH ITF4:) E#EN ik Bt RRER 130 50 PRt
2201 \wFI64E8A12H KHHET FrE i L RRER 70 50 =353
2202 | FI6£E8A13RH YAE BT % ik e RER 90 32 Pt
2203 |wFI64E8A16H MNEEFRT (B i it RRER 90 30 =353
2204 |F6E8A1THE mARET  |$RAE ik e R EK 90 45 1%
2205 |wFI64E8A18H NEEFRT (B i it RRER 80 10 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2206 |wF164E8A20H BARET | HEWL b L REER 130 20 =353
2207 |wF6£E8A21R KHHET = ik e R EK 70 15 PRt
2208 |wFI64E8A23H KHLET Ra i it 48R 70 =353
2209 |FI6£E8A25R KHEHET /i ik e 48 70 pEfE
2210 \wFI64E8A22H MEEFRT (R i L RRER 110 50 =353
2211 | HF6£E8A 23R MBEEREMT ARRI ik e RRER 110 50 PRt
2212 |wFI64E8A26H — =T e i L 4ER 80 5 =353
2213 |wF6£E8A 28R KFHHET #*E ik e RRER 70 15 PRt
2214 |HFI648A31H HERT  |RREH i it RRER 120 40 =353
2215 | HH6E9A28 KT = ik [ RRER 150 110 PRt
2216 | HFI65E9A3E HERT | RE/DH i L RRER 120 40 =353
2217 |[HM6E9IA4B KHEHET FiR ik [ RRER 80 12 PRt
2218 |HFI65E9A4B KHLET FiR i it RER 80 12 =353
2219 |[HF6EIATH KFHHT =] ik [ RRER 60 10 PRt
2220 | HFI65E9A8H MERT MY i it RRER 80 30 =353
2221 | HFI6E9A6H BEET | RE=ESK ik e 48K 80 11.4 pEfE
2222 |HFI65E9A8H KIHHT 1]z i L RRER 90 25 =353
2223 | HH6EIAIR Z=EHr —& ik e RER 120 50 PRt
2224 \HFI6£E9A13H KHHET = i L RRER 80 15 =353
2225 | HHI6E9A4B FERET (/A ik [ R EK 80 10 PRt
2226 |HFI65E9A8H FBRN (/A i L RRER 80 10 =353
2227 | HH6E9A8H FERERT |=/8 ik [ RRER 75 10 PRt
2228 | HFI65E9A8H FERM |=/= i it RRER 75 10 =353
2229 | HFI6E9A8H FERERT |=/8 ik e RER 75 10 PRt
2230 | RHFI65E9A8H FERM |=/F i it RRER 75 10 =353
2231 | HH6E9A8H FERERT |=/8 ik e RRER 75 10 PRt
2232 |HFI65E9A 148 KHHET =R i it RRER 60 110 =353
2233 |RF6E9A14R YAE BT % ik e RER 120 60 5
2234 \HFI6£E9A1TH PR H ET & i it RIER 12 12.7 EtE
2235 |HF6E9A1TRH KT = ik e RER 120 65 PRt
2236 |HFI6£E9A1TH KHHET = i it RRER 60 15 =353
2237 |wF6£E9A18R MEFRET AR ik e R EK 70 30 Pt
2238 |HFI64E9A18H MERFRH [ER i L RRER 10 30 =353
2239 |wF6£E9A18RH MEFRET AR ik Bt R EK 70 35 pEfE
2240 \HFI6£E9A18H MERFRH [ER i L RRER 10 30 =353
2241 | HFI6£E9A 18R MEFRET AR ik Bt R EK 70 30 pEfE
2242 \HFI6£E9A23H PR HET & i it RIER 80 16 =353
2243 | HF6£E9A20R MEERET MY ik e RER 70 30 PRt
2244 \FI65E9A23H KIHHT 1]z bk it RRER 10 15 =353
2245 | HF6£E9A23R KT =E ik Bt R EK 60 12 pEfE
2246 |HFI65E9A 208 HERT  |RREH i it RRER 110 40 =353
2247 |HF6£E9A20R HERT |[RREH ik e RER 70 13 PRt
2248 \HFI64E9A 241 —=EHr —& i it RRER 94 10 =353
2249 | HF65E9A24R EX L E ik Bt RRER 101 28 PRt
2250 |HFI64E9A 241 MNEEFRT (B i it RRER 60 15 =353
2251 | HFI65E9A 2418 MEET |EAF ik e REER 60 20 pEfE
2252 |HFI6£E9A 198 KIHHT LEXH* i it RRER 60 15 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2253 |HFI64E9A26H KHHET = i L REER 140 70 =353
2254 |SFI64E9A29R KFHHT FRE ik Bt R EK 90 12 PRt
2255 |HFI64E9A29R KHHET = i it REER 100 15 EtE
2256 |HH6EF9IA28H A FHHT &= i S RER 70 15 Pt
2257 |FI6£E9A30H MERT MY i it RRER 85 40 =353
2258 |SI64E9A 28R ¥AE BT % ik [ RLER 105 50 Pt
2259 |HFI64E9A30H HERT  |RREH i it RIER 80 14 =353
2260 |FI64E9A30R MEET |RAF ik e REER 60 20 pEfE
2261 |HFI64E9A28H PR HET & i L RIER 85 25 =353
2262 |SHI64E9A26R MEET | AF ik [ RRER 75 25 PRt
2263 |HFI6££10A2H KHHET FrE i L RRER 60 10 =353
2264 |SFI64E9A30R ITF4:) =N ik Bt RRER 100 42 pEfE
2265 |HFI6£E9A30H BARET  |EL ki L RRER 100 45 EtE
2266 |HFI64£10A3R KFHHT 1]z ik 3 RRER 130 65 PRt
2267 |wFI6£10R3H KHHET FrE i L RRER 130 65 =353
2268 |I64E10A4R EX €iR ik e R EK B 30 PRt
2269 |HFI6£E10R4H BAR iR i it RRER 8 30 =353
2270 |SFI64£10A4R EX €iR ik [ R EK B 35 PRt
2271 |HFI6£10R6H MERT |MEIFETER bk it RRER 18 21 =353
2272 |SFI64E10A6R MERT |PMEETHER ik e RRER 80 30 PRt
2273 |"FI6£10R6H KHHET KHHT 7R H i L RER 120 70 =353
2274 |STI64E8A31H FERT |FREH=/E raE e RRER 150 60 PRt
2275 |HFI65E9A48 FBRT |FEFREMTE/ A i it RRER 10 10 =353
2276 | TH6EIA4B FERMm |FEERHE/ A ik e R EK 70 10 PRt
2271 |"FI6£10R9H PR HET R ETE i L RRER 130 70 =353
2278 |SFI64E10A9R KFHT KT R E ik [ RRER 80 70 PRt
2279 |HFI6£10R9H KHHET KFHT 7R H i L 4B 1 6 =353
2280 |FI64E10A9R HERT |HAEETRESH ik Bt RRER 70 15 PRt
2281 |©5FI64E10A108 | —HHT “EfT—& bk it RIER 134 40 =t
2282 |5FI64E10A4R i gllks) BN - & ik [ RER 90 23 PRt
2283 |SFI64E10A138 | KIHHT FrE i L RIER 60 15 =353
2284 | GHI64E10A148 | KFHHAT = ik Bt R 130 80 PRt
2285 |&HI64E10A158 |/pERT RS b it RER 80 20 =353
2286 |GHI6FE10A16H | KFHHHT FRE ik e RRER 100 35 PRt
2287 |5f164E10A168 |/MERT B i it RRER 94 45 =353
2288 |FI64E10A1568 |/MART (BRI ik Bt RER 90 20 PRt
2280 |HI64E10A168  |/DEIR™ T2 i it RRER 90 30 =353
2290 |GI6E10A1TH | KFHHAT = ik Bt R 110 30 PRt
2291 |HFI6£E10A17H HMKRET |[KE=7K bk it RRER 86 12 =353
2292 | GI64E10A18E | ZEHT —& ik [ RLER 97 25 pEfE
2293 |5FI64E10A198  |fRmEHET G ki L RIER 90 30 =353
2294 |SfI64E10A228  |/DERT 84 ik [ RER 125 80 PRt
2295 \HFI6£E10A21B |HREW | KREDH i L RRER 110 30 et
2296 |GI64E10A228 | EEHET % ik e R 115 50 Rt
2297 \HFI6£10A238  |HRET  |[REEH i L RER 80 30 =353
2298 \HFI6£E10A23A |HERFET |[REEH ik e RRER 80 30 PRt
2299 \HFI6£10A238 |MRET  |[KRE=7K i it RER 110 28.2 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2300 |&#I64£10A278  |/pEIRT RS ki L RRER 130 80 EtE
2301 |HI6FE10A2TH | KFHHT = ik [ R 90 15 PRt
2302 |5FI64E10A27H | KIHHT FrE bk it RIER 100 35 =353
2303 |HI64E10A2TH | KFHHT FRE ik [ RLER 70 15 PRt
2304 | SFI64E10A27H | KIHHT FrE bk L RIER 120 70 Rt
2305 |I64E10A28E | —EHT B ik e RLER 138 50 PRt
2306 \HFI6£E10RA198 |(FEEW |F/ R i L RRER 90 15 =353
2307 |SI64E10H28H | KHEHT /i ik [ RER 80 18 PRt
2308 \HFI6££10A268 |(FEEW (/R i it RIER 106 20 =353
2309 |HF6FE10A28R |(ABETH (/K ik e RRER 120 18 PRt
2310 |HFI6££10A258 |HRET  |[&RETRE i it RRER 60 25 =353
2311 |SM64E10A288 | KFHHHT =E ik Bt RIER 100 25 Pt
2312 |5fI64E10A308 | —HHT e ki L RRER 100 60 =353
2313 |SM64FE10A31H | KFHHT FRE ik Bt R 120 70 Pt
2314 |5fI64E10A318  |/pEIRT B ki L RRER 135 60 et
2315 |HFI64E10A31H  |HiRAT =] ik e REER 90 10 PRt
2316 |5fI64E10A318  |E#EHT ] bk L RIER 95 15 Rt
2317 |Sf64£11A2R ¥AE BT % ik Bt RER 80 20 PRt
2318 |Hf64E10A318  |/pAERT (BRI ki L RRER 80 20 =353
2319 |SHI6£E11A3RA KFHHET 1]z ik [ RRER 90 25 PRt
2320 \HFI6£E11R6H KHHET FrE i L RRER 80 20 =353
2321 |SH6E11A6R MEERET MY ik [ RER 100 35 PRt
2322 |HFI6£E11R6H MERT | K bk L RRER 85 30 =353
2323 |STI6E11A6R FERET (/A ik e RER 120 65 PRt
2324 \HFI6£10A268 |(FEEW  |E/ A i it RRER 100 17 Rt
2325 |SFI6E11A108  |/MERT  |(BAFII ik [ RRER 80 30 pEfE
2326 |S5FI64E11A108  |/PEIRT /MY b L RRER 100 30 Rt
2327 |SM6FENTANE | KHREAT B R A ik [ RER 100 30 Pt
2328 | SHI6ET1A1IE | KHEHET hEE i it RIER 95 30 =353
2329 | GHI6FETTANE | KHRAT HhE ik e RRER 95 30 PRt
2330 \HFI6E11A10B  |(FREEW  |F/ R i L RRER 120 70 EtE
2331 \HM6FE11A12B |HERT | ®REHIR ik e RRER 140 60 Pt
2332 |SH6FENANE  |fREHET & i L RIER 120 65 Rt
2333 |HM6FEI11A12E  |ABET /A ik Bt 4ER 85 7.8 T
2334 |HF6E11AI13E  MRET |[KE=7K bk it RRER 80 10 =353
2335 |GFM6FE11AI13A |HMEET |#®KEB\DE ik e REER 135 72 Pt
2336 |RFI6E1TRAI1I3E  |HRET |[REEH i L RRER 80 30 =353
2337 \[RM6FE1TAI13E  |RBEW  |BRK ik e RER 110 10 Pt
2338 |HHI6FE11A13E |BEBR™W  |BK ki it RRER 90 15 EtE
2339 |SfI64E11A138 |/MERM 84 ik [ RER 125 50 Pt
2340 |6FE11A14E  |FEBR™W |BR i it RRER 152 85 EtE
2341 |sf6FE11A14R /MERT RS ik [ RER 70 20 PRt
2342 | SH64E11A148 | KHEHET FiR ki L RRER 90 30 =353
2343 | GM6ET1A148 | KHRAT FIR ik [ R 90 30 =53
2344 \GFI6E11A16B  |HRET |[REEH i L RER 90 35 =353
2345 |[fFf6EI1AISE  |FBRT  |ER i I £hER 73 [
2346 |HHI6E11A15E |FEBR™W |BK i L B 3 =353




5 %58 LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2347 |5f64E11A168  |LLdLHT Ul ki it 54 3 125 60 EtE
2348 \fI64E11A18E |/NEIRT  |[1BAFII ik e 48R 90 30 PRt
2349 |f6FE11A188 |/pAERT (BRI ki L 54 3 110 50 =353
2350 |HFI6EE11A18E | KFHHT FRE ik e RLER 90 25 PRt
2351 |SFI64E11A148 | KIHHT = bk L RER 110 40 Rt
2352 |SMI6E11A16E  |EXRT™H €iR ik [ RLER 103 40 PRt
2353 |RFI6E11RA18E  |HREW |[REEH i L RRER 75 30 =353
2354 |xfI64E11H208  |/MEIRM™  |(1BAFII ik [ RRER 90 30 PRt
2355 |fI64E11A218  |EXWH LA ki L RER 110 50 =353
2356 |HMI64E11A218  |/MERT |BAF ik e RER 90 20 PRt
2357 |f6FE11A218 |/bAERT (B e L RRER 85 30 EtE
2358 |RFI6E11H21R  |/MEERET (BN ik [ RER 100 70 PRt
2359 |SHI64E11A238 |HFEIRET  |EFEWL i it RER 100 30 Rt
2360 611248 | “EHT —& ik e R 100 25 Pt
2361 |Sf6FE11A238 |EXH L ki L RIER 50 20 et
2362 \DFI6EFE11A23E |HERT | REHH ik e RRER 110 35 PRt
2363 |FI64E11A258  |E4EHT ] bk L REER 100 20 =353
2364 | S64E11H238  |LLdLHT AT ik Bt RER 100 28 Pt
2365 |HHI64FE11A228 | KIHHT o i L RIER 110 35 et
2366 |SfI64E11A228  |/MERH | LFE ik [ RRER 100 25 PRt
2367 |SHI64E11A248 | KIHHT 7RHEH bk L RIER 150 90 Rt
2368 |TI6E11H248 | KFHHAT FRE ik e 4ER 60 10 PRt
2369 |SHI64E11A258 | KIHHT o bk L RIER 100 35 EtE
2370 |HFI64E11A24R  /MERT /M ik [ RER 98 30 PRt
2371 |%H64FE11A268 |FBR™W |EBR bk it RER 147 80 et
2372 |GM6E11A288 | KFHAT = ik e R 100 25 Pt
2373 |M64FE11A298 |/pERT RS b L RER 100 40 Rt
2374 |SI64E12A2R BEX SR ik Bt RRER 100 50 5
2375 |wF6£12A21H KIHHT 1]z i it RER 130 60 =353
2376 |L6&£E12A1R ITF4:) =N ik [ RER 80 22 PRt
2371 |wF6£12R3H MERT | LR b L RER 125 40 =353
2378 |LHI64E12A4R HERT |[RE=7K ik [ RER 130 56 PRt
2379 |HF6£12R5H BEIRET | HEWL ki L RER 100 25 =353
2380 |HFI64E11H30R |/MEET (RN ik e RER 95 35 PRt
2381 |HFI6512R6H HARET  |$RAR ki it RRER 80 30 =353
2382 |SFI64E12A9R MEFRET | LBH ik Bt RER 140 95 Pt
2383 |HFI6£12R6H KIHHT 1]z i L RER 100 35 Rt
2384 |SFI64E12A8H FERERT |=/8 ik Bt RER 110 35 PRt
2385 |HFI6£E12R9H (1Tp14: BEREF i it RER 125 60 =353
2386 \HFI6E12A10H |HERT |[REEH ik Bt RER 80 25 pEfE
2387 |5I64E12A128  |fR2EHET G ki it RIER 90 25 =353
2388 |HF6F12A12E  |FBRET =/ B ik e REER 158 70 Pt
2380 |fI64E12A128  |/MEIRT™  |[BAEFII i it RRER 90 30 =353
2390 |HFM6F12A14R |HRET | RETRE ik e RRER 85 20 53
2391 \HFI6E12A13B |HRET  |[REEH i L RER 120 100 EtE
2392 |HFI64E12A12R  /MEET (BRI ik e RRER 90 30 PRt
2393 |HI64E12A138 | KIHHT =R ki it RIER 90 40 =353




5 %58 LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2394 | SFI64E12A138 | "HHET —& ki L RIER 19 33 =353
2395 \hFI6E12A168 |(FBREW |BRK ik e RRER 135 60 PRt
2396 |SFI64E12A188 | KIHHHT FrE bk it RIER 90 25 =353
2397 |hMI6£E12R188 |FMRE#M™m |BR ik e RRER 80 30 PRt
2398 \HFI6£E12R18H |HEREW | KREDH i L RIER 110 42 EtE
2399 |HI64E12A208 | KFHHT 1 ik [ RLER 130 90 PRt
2400 |$5F164£12A238  |/pEIRT B i L RIER 135 50 =t
2401 |SI64E12A228  |LLdEHT I} ik e R 130 70 PRt
2402 |©5164E12A248  |LLdLHT Ul bk L RIER 90 25 EtE
2403 |HM6F12A2R |HRET |RETRE ik e RRER 90 28 PRt
2404 | SFI64E12A258 | —EHET HhE bk L RIER 150 65 EtE
2405 |SI64E12A25H | ZEHT B ik Bt RIER 115 30 Pt
2406 \HFI6£12R18B |(FBREW =/ F i it RRER 122 30 Rt
2407 |SFI64E12A25H | KFHAT = ik Bt R 140 95 Pt
2408 |5FI64E12A258 | —HHET HhE bk L RIER 115 28 EtE
2409 |SFI64E12A25H | "EHT B ik [ RLER 150 65 PRt
2410 | HFITE1A58 KHLET REE i it RER 140 125 =353
2411 | SM64E12A30E | =T N ik [ RIER 91 33 PRt
2412 | 5FI64E12A308 | —HHET N ki it RIER 84 26 =353
2413 |SM64E12A30E | ZEHT N ik e R 87 31 PRt
2414 \5SF64E12A318  |LLdLHr Ul ki L RIER 110 45 Rt
2415 | GHITE1A68 MEET RN ik [ RRER 90 25 PRt
2416 |(HFITE1A68 MERFRT (B i L RRER 90 30 =353
2417 | HHTE1A9B KT 1 ik [ RRER 90 15 pEfE
2418 | HFITE1A9B MERT | EBH i L RRER 120 40 =353
2419 |SHITEE1A14R KT =E ik e RRER 140 90 PRt
2420 \HFI7E1A13H (1Tp14:y e i it RRER 100 22 =353
2421 |SHITE1A13R ITF4:) il ik e RRER 95 21.5 PRt
2422 \HFITE1A13H (1Tp14:y Ep:d i it RRER 110 21 =353
2423 | SHITE1A14R ZEHr —& ik e RER 13 40 PRt
2424 \HFI6£E12R308 |(FBEEW  |E/ A i L RER 150 120 =353
2425 \[GHITE1A28 FBRET (/A ik e RRER 110 40 pEfE
2426 \HFITE1A148 FBRT |BR i it HER 64 7 =353
2427 |SHITEE1A15R AT | RETRE ik e RER 70 20 pEfE
2428 \HFITE1A16H — =T —& bk it RRER 90 29 =353
2429 |SHITEE1A16R Z=EHr —& ik e REER 88 21 pEfE
2430 \HFI7E1A15H (1Tp14: Ul ki L RRER 120 50 =353
2431 | SHIE1A1IR ZHARET  |HL rhE [ RRER 100 60 51
2432 \HFITE1A18H 55 0 JER BT BE i L RRER 130 50 =353
2433 | SHITE1A19R BEX L E ik Bt RRER 122 53 PRt
2434 \HFITE1A208 MERT R i it RRER 90 30 =353
2435 | SHITE1A21RH YAE BT % ik [ RER 100 30 Pt
2436 \HFITE1A208 —=EHr —& i L RRER 106 30 et
2437 |SHIE1A21R AT | RETRE ik Bt FRER 110 60 Pt
2438 \wFIT1E1A228 HERT  |RREH i L RRER 60 20 =353
2439 | GHITEE1RA24R ¥AE BT % ik e RER 80 15 i1
2440 \HFITE1A26H HERT  |[RETRE i it RRER 110 60 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2441 \HFITE1A228 MEEFRT (R i it REER 68 10 =353
2442 | SHITEE1A26R MEFRET |ER ik Bt RRER 118 70 PRt
2443 \HFITEE1A268 KHHET = i it REER 100 30 EtE
2444 | SHITEE1A26R MERT  |RER ik e REER 90 20 pEfE
2445 \SFITE1A268 MEEFRT (R i it RRER 90 20 =353
2446 |HM7E1A28H A FHHT &= i S RER 80 25 Pt
2447 \HFITE1A29R8 — =T e i L RRER 129 55 Rt
2448 | SHITEE1A29R ZEHr —& ik [ RRER 121 35 PRt
2449 \HFITE1A298 — =T e i it RIER 135 70 =353
2450 |SFITEE1A29R ZEHr —& ik [ RRER 100 20 PRt
2451 \HFITE1A298 MEFRET |2 i L RIER 75 28 =353
2452 | SHITEE1A29R —EHT hE ik e RRER 115 70 PRt
2453 \HFITE1A298 — =T —& i L RRER 90 35 =353
2454 | SFITEE1RA30R ¥AE BT % ik [ RLER 70 30 PRt
2455 \HFITE1A298 MEEFRT (B i L RRER 160 12 EtE
2456 |SFI74E1A30R ZEHr —& ik Bt RRER 125 60 PRt
2457 \HFITE1A3IH MERT T2 i L RRER 120 80 =353
2458 |SHITEE1A31RH KT = ik [ RRER 110 40 PRt
2459 \HFITE2A18 MERT (AT i L RRER 130 50 =353
2460 | TFITE2A18 HERT |[RREH ik Bt RRER 150 120 pEfE
2461 | HFI71E2A38 HERT  |[RETRE i L RRER 125 70 =353
2462 | THITE2A38 FHARET (SRR ik [ RRER 60 12 PRt
2463 | HFITE2A38 MHEHET  |BEAF i L RRER 128 63 =353
2464 | TFITE2A58 MEET RN ik e RER 80 20 PRt
2465 | HFITE2A48 HERT |REBDE i L RRER 123 54 =353
2466 | THITE2A48 HERT |RRBDE ik [ RRER 13 50 PRt
2467 | HFITE2A68 MERT | K i it RRER 95 40 =353
2468 | LFITE2ATH MERET K ik [ RRER 110 80 PRt
2469 | HFITE2A58 MEEFRT (B i it RRER 85 20 =353
2470 | HFITE2A68 AT | RE=ESK ik Bt RRER 125 40 PRt
2471 | HFITE2A98 HERT  |REBDE i L RRER 127 65 =353
2472 | SHIT1EE1A28R FERET (/A ik [ RER 127 50 PRt
2473 \HFITE1A298 FBRT |BR i L RRER 145 60 =353
2474 |\ THITE2A8B FERERT |=/8 ik Bt RER 116 20 pEfE
2475 \HFI1E2RA11H KHHET =R bk L RRER 90 30 =353
2476 |SHI1EE2ANA YAE BT % ik Bt RER 75 25 Pt
2471 \wF1E2R128 =T —& i it RRER 110 30 Rt
2478 |SHIT14E2A12R Z=EHr —& ik e RRER 112 35 Rt
2479 \wFI71E2R128 KHELET P/ i it RER 80 20 =353
2480 |LHI74E2A12R KHEHET /M ik Bt RRER 100 35 PRt
2481 \HFI74E2A13H MEERT (RS ki it RRER 100 50 =353
2482 |5HI14E2A15H MEERET MY ik Bt REER 94 56 PRt
2483 \HFI714E2A16H (1Tp14: BEREF i L RRER 80 20 =353
2484 | SHITEE2A16R ITF4:) X RH ik Bt RRER 80 20 PRt
2485 \HFI714E2A 148 (1Tp14: BEREF i it RRER 85 20 =353
2486 |LHI74E2A16R ITF4:) il ik e RRER 100 20 Bt
2487 \wFI714E2RA16H =T HhE i L RRER 120 64 Rt




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2488 \wFI74E2A18H =T —& i it REER 104 30 =353
2489 \HFITE2A198 KFHHT 1]z ik Bt RER 120 60 PRt
2490 \wFI7EE2A198 MERT | K e L REER 100 50 =353
2491 \HFI7TE2A18R KHEHET /i ik e RRER 80 25 PRt
2492 \HFI71EE2RA18H KHLET L i it RRER 80 25 =353
2493 \HFITE2A18R8 KHEHT /i ik e RRER 80 25 PRt
2494 \HFITEE2A 208 1Tp14: RE i L RRER 85 20 =353
2495 \HFI7E2A208 ITF4:) =M ik Bt RRER 100 30 PRt
2496 \wFI7EE2A18H ANF Boa i it RIER 102 16 EtE
2497 \HFITE2A18R8 i gllks) B a ik e RREK 95 12 pEfE
2498 \FI74E2A208 KHHET = i L RRER 70 20 =353
2499 \mFITE2A22R KHEHET BRa ik e RRER 140 125 Pt
2500 \wFI74E2A 248 KHLET R i L RRER 130 90 Rt
2501 \wFI74E2A25R KT BE ik 3 R EK 90 15 PRt
2502 \wFI74E2A 258 MERT R i it RRER 80 25 =353
2503 |wFI7E2A27RH MEFRET K ik Bt RRER 120 30 51
2504 \FI74E2A23H FBRT |ER bk it RRER 93 14 =353
2505 |HFI7EE3A1B ITF4:) il ik e RER 140 70 (=4
2506 \wFI74E2A28H KHHET o i L RIER 110 40 =353
2507 | HHI7TE3A4B —Eir B ik Bt RER 106 42 (=4
2508 |HFI74E3A4B AR |[RE=7 K i it RRER 100 17 =353
2509 | HFI7TEE3A5H MBEEMT (BRI ik [ R EK 95 40 (=43
2510 | HFI74E3A98 KHLET FiR i L RRER 90 30 =353
2511 | HFI7TEE3A98 KHEHT FIR ik e RRER 90 25 (=3
2512 \HFI74E3A108 KHHET =R i L RRER 100 40 =353
2513 | RF7E3ANAR YAE BT % ik e RER 80 30 (=4
2514 \HFI74E3A13H KHHET FRE i it RRER 130 90 =353
2515 | HFI74E3A138 KFHHT FRE ik Bt RRER 140 80 (=4
2516 |wFI74E3A 148 PR H ET & i L RIER 90 30 =353
2517 | RFI7T4E3A148 KFHHT FRE ik [ RIEK 90 25 (=43
2518 |HFI74E3A15H KHHET =R i L RRER 110 60 =353
2519 \HFI7E3A1TRH PN SRFHTA ik [ RRER 100 25 (=4
2520 \HFI74E3A1TH BERET  |$RAR ki it RRER 50 22 =353
2521 \HFI7T43A168 ITF4:) X RH ik e RRER 150 55 (=3
2522 \HFI714E3A18H (1Tp14: Ul i L RRER 120 40 =353
2523 | mFI7T4E3A24R8 —EHT —& T 3 BB 150 75 (=4
2524 \HFI714E3A2TH MERT RS i it RRER 90 40 =353
2525 | HFI7T4E3A27RH KBEHET BAR ik [ RRER 100 30 51
2526 \wFI74E3A2TH HARET ] ki it RIER 110 25 i
2527 |mF74E3A28R ELARAT =] ik e RER 110 25 51
2528 |\HFI74E3A3IH HERT |[RESH i it RRER 110 50 =353
2529 | LHITE4A28 HERT |[REEH ik Bt RRER 70 15 (=4
2530 |HFI74E4A28 HERT  |RREH ki it RER 70 15 =353
2531 | GHITEE4A48 MEFRET K ik [ RRER 110 60 (=4
2532 |HFI714E4A48 PR HET & i L RRER 100 35 =353
2533 | HHITE4A58 FHARET (SRR ik e R EK 70 26 (=4
2534 | HFI1E4A68 BEARET  |EL i it RRER 110 60 =353




5 ®ER LiLIES] R RIG REWKE |45 | RERS | & (m) | #HEKe) BRERR
2535 |FI14EE4A68 BARET  |EL i L REER 95 35 =353
2536 |[THITE4ATH HERT  |[REHR ik e RER 100 30 (=4
2537 |RFITE4A98 (1Tpl4:y Ep:d i it RRER 130 50 =353
2538 |HHI7E4RA14R8 KFHHT FRE ik e R EK 70 15 (=4
2539 |HFI74E4RA16H — =T —& i it RIER 100 25 =353
2540 \FI7£E4RA168 KFHHT 1]z ik Bt RER 155 100 (=4
2541 \HFI71EE4RA1TH BARET  |ET bk L RRER 80 19 =353
2542 \HFITE4ARA1TRH KT L ik [ RIEK 70 15 (=4
2543 \HFI714E4RA198 KHLET BAR bk Bt RIER 110 35 g
2544 \FITE4RA19R8 ¥AE BT % ik e RIER 120 80 (=4
2545 \HFI1E4RA11H HERT  |[RETRE i it RRER 140 60 =353
2546 | FI7£E4A23R EARAT =] ik [ RER 90 25 51
2547 |HFITEE5A48 MERT (RS i it RRER 100 40 =353
2548 | THITEE5A5H HERT |[REEH ik e RER 125 90 (=4
2549 | HFITEE5A3H (1Tp14:y Ul i it RRER 110 40 =353
2550 | HFI7TEES5A6H ITF4:) =M ik Bt R EK 90 25 (=43
2551 |SFIT4E5ATH MERT | AR i L RRER 124 62 =353
2552 |[HFITEE5SATH KT = ik e R EK 90 35 (=43
2553 | HFI7T4E5A8H MERET | AR i L RRER 95 48 =353
2554 | LFITEE5A11RH EARAT =] ik e RER 80 10 51
2555 \FI74E5A 148 KHLET P/ i L RER 100 40 =353
2556 |mFI74E5A15R KT BE ik e RRER 120 70 (=4
2557 |FI74E5A16H RN |ARE/DH i L RER 130 90 =353
2558 | mFI74E5A21R HERT  |RRIR ik Bt RER 108 36 (=4
2559 |\ FI74E5A23H HARET ] bk L RIER 80 20 g
2560 | mFI74E5A24R KT =E ik [ 48 50 3 (=43
2561 |HF174E5A23H BARET  |EL i L RRER 100 50 =353
2562 | LFITEE6A28 KFHET FRE ik Bt RRER 110 35 (=4
2563 |RFI74E6A48 KHHET =R i it RRER 60 4 =353
2564 | LHITEE6A4B KT = ik e RER 100 35 (=3
2565 | HFI74E6A6H KHHET =R i L RRER 60 10 =353
2566 |LHI7EE6A68 MEET |RAF ik [ RER 100 40 (=4
2567 |wFI7E6A11H PR HET & i L RIER 90 25 =353
2568 | mFI7EE6A148 KT = ik Bt 48K 50 4 (=4
2569 |RFI7EE6A15H KHHET = bk L RRER 120 50 =353
2570 | RFI7EE6A15R BEET | RE=ESK ik Bt RER 100 19 (=4
2571 \HFI74E6A15H HERT  |RREH ki it RRER 90 40 =353
2572 | HFI7T4E6A20R HARE  |SAE T 3 R EK 85 13.5 51
2573 |wFI714E6A27H KHELET ::¥23 bk L RRER 110 40 =353
2574 | HFITEE6A30R KFHHT FRE ik Bt R EK 70 15 (=4
2575 |HFIT4ETA8H MERT R ki L RER 65 10 =353
2576 | LFITETA8H MEET (R ik e R EK 65 10 (=3
2577 |"FI71ETA108 KHHET FrE i it RRER 110 40 =353
2578 | HHITETA9IB HERT |[RREH ik e RER 110 80 (=4
2579 |HFITETA8H HERT |KRRIIER ki it RER 135 85 =353
2580 | HFITETA9IB HERT |[RREH ik Bt RRER 110 60 (=4
2581 \HFI74£TA13H KHLET FiR i L RRER 130 110 =353
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2582 |&FI74ETA13R KHEHET Ra e i3 77278 110 65 (=X
2583 |FFTETANA AFHT 7rH i 3 RER 80 15 (=413
2584 |&FITETANR R FHHT FRH e i3 77278 110 30 (=X
2585 |FFTETA14R & [T (= % 3 RRER 60 10 (=413
2586 |&F174ET1A15H KHEET hE e i3 RER 70 12 (=X
2587 |FFTETA15R R4 HE e 3 RRER 70 12 fatt
2588 |&FI74ETA15R KHEET hE e 3 RER 70 12 (=X
2589 |SHI7ETA15R KE&HET RE i 3 Bk 100 45 [(=4):3
2590 |F7TETATTA MHEET (BN % [} R 100 50 -3
2591 |SHITETRA19R KFHET =E g 3 hER 60 [(=1):3
2592 |&FITETA19R MERT  |TI2HE e i3 hEk 55 &t
2593 |FFTETA21R IMEFEH A HE [} RRER 105 50 (=413
2594 |&FI74ET1A23R I TR ET 3 RER 107 21 Bt
2595 |RFI7TETH258 —EHr = wE B RRER 90 63 (=43
2596 |FFTETA25H ZEH A % B FCER 146 50 -3
2597 |SHITETRA26R RH4ET T/ i i3 ek 60 5 [(=1):3
2598 |&F174ET1A28RH SaRET =L e 3 HhEk 40 5 (=X
2599 |FFTETA28RH R R4 /M HE 3 RRER 120 100 fatt
2600 |&xF¥1744R6H FERM (/A e ;3 RCBR 123 35 (=X
2601 |FFNTETA24R FERT /A e [} RRER 100 30 (=413
2602 |&FI747A30R MAERT  |FRE e :3 Bk 100 50 (=X
2603 |f7E8A1H i [T (= % [} RRER 110 45 (=413
2604 |$xF¥1748R2H HERT |REXEH g :3 RER 95 20 (=X
2605 (F748A2H 4t By HEN e 3 RRER 110 25 fatt
2606 |$x¥1748R4H MART | e :3 HhEk 50 7 (=X
2607 |sFN748A5H MEEFET  BR 1A - I RER 75 17 (=413
2608 |$x#¥1748R5H HERT |REXEH g 3 RER 75 30 (=X
2609 (sFN748AH6H MART (AR e 3 RRER 65 10 (=413
2610 |&#n748AH8H ZEH hE HE 33 R 130 50 fet
2611 |HfI74E8A9E KFHET 32 g i3 Bk 60 10 =33
2612 |SF74E8A108 YA BT HF HE B FRCER 110 60 -3
2613 |5F74E8A12R IMNART BEN e :3 RRER 70 20 =43
2614 |5fN748A13H S RET  |$RAR T 33 FiCER 112 22 P4k
2615 |3FN74E8A13R VNEEL) = HE 3 BER 50 5 =43
2616 |&F1748A12RH 1TEI4:) oL e B RBR 110 30 (-1
2617 |5FN74E8A13R HiERS #BREX=K e 3 RRER 110 20 =43
2618 |xFN748A18H AR B HE B FCER 10 10 =453
2619 |FF7E8A1TRH RFHET 7rH e [} RRER 60 12 =43
2620 |&F174E8A1TH KFHET L] g 3 $hEk 60 =33
2621 |<sf74E8A 18R BERET |RE=E7K i 3 $ER 65 =43
2622 |&F1714E8A19R B|EERT  |RE/NH e 3 RER 70 25 (=43
2623 |5F7E8A18AH 1iE(d:) HHEN e 3 RRER 115 45 (=413
2624 |&F17148A20RH KIHHT FRHE e :3 RBR 120 60 (=X
2625 |5FTE8A22R R4 /M e 3 RRER 120 65 (=413
2626 |&F1748A22RH KIHHT FRHE e ;3 $hEk 70 8 (-1
2627 | f71E8A22R KFHET =E i :3 Bk 90 15 =113
2628 |SFN74E8A24RH KIHHET 7RH HE [} FCER 60 10 -3
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2635 |HFI74E8A29H P H ET & ik i 4Ek 60 [
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